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1. HEJU U 3AJAYU U3YUYEHUSA JUCHIUITIJIMHBbI

1.1.I1eab ocBOeHUS AMCHUTIIHUHBI:

MOBBIIIEHUE Y CTYAECHTOB MCXOJHOIO YPOBHS 3HAaHHSA MHOCTPAHHOTO SI3bIKa U OBJIAJIEHUE UMH HEOOXO-
JUMBIM U JIOCTAaTOYHBIM YPOBHEM KOMIIETEHILIMU Ui PEIICHUs COLUAIbHO-KOMMYHUKATUBHBIX 3a]1a4 B pa3iiny-
HBIX 00JacTsIX OBITOBOM, KYJIbTYpPHOH, MPOo(EeCCHOHATbHON U HAYYHOU JESTEIbHOCTH, a TaKXkKe JJIs JajbHelle-
ro caMmo00Opa30BaHUS.

1.2.3axaum IUCHUNTTHHBL:

— pa3BUTHE MHOS3BIYHON KOMMYHHKATUBHON KOMIIETEHIIMH (PEUYEeBOM, S3bIKOBOM, COLMOKYIBTYPHOU U
yueOHO-1103HaBATEIbHOMN);

— COBEpPLICHCTBOBAHME KOMMYHUKATHBHBIX YMEHUM B YETBIPEX OCHOBHBIX BHAAX PEUEBOU IEATEIBHO-
CTH;

— pa3BUTHE HABBIKOB ONEPUPOBAHUS S3BIKOBBIMU €AMHUIIAMU B KOMMYHUKATUBHBIX LIEJISX.

1.3. MecTo AucuMIIMHBI (MOAYJIsI) B CTPYKTYpe 00pa3oBaTeIbHON IPOrpaMMBbl

JlaHHast TUCHUIUIMHA OTHOCUTCS K 06a30Bo# yactu brioka 1 «/lucuumiunel (Moyan)» yueOHOro MiiaHa.

OOydeHue aHTJIMHCKOMY SI3bIKY IIPOBOJUTCS] B TECHOU CBSI3M C U3Y4aeMbIMU MPOPMIUPYIOLUMHU JTUCLH-
IUTMHAMH, a TaKKe ¢ yueToM Oyyiiel npodeccuoHaaIbHOM e TEIbHOCTH BBIITYCKHHKA.

OOyueHre MHOCTPAHHOMY S3BIKY CTYAEHTOB HESI3BIKOBBIX CIIELIMAJILHOCTEH paccMaTpuBaeTcsi Kak Co-
CTaBHasl 4acTb BY30BCKOM MpOTrpamMMbl F'yMaHUTapH3alMd BBICIIEIO OOpa30BaHHUs, KaK OpraHUYecKas 4acTb
IpoLecca OCYIIECTBIEHUSI MOATOTOBKH BbICOKOKBAJIM(UIIMPOBAHHBIX CIIELUATNCTOB, aKTUBHO BIIAJCIOIINX
MHOCTPaHHBIM SI3bIKOM KaK CPEJCTBOM MHTEPKYJIbTYPHON M MEKHALMOHAIILHOM KOMMYHUKALIUHU, KaK B cepax
podeccroHaAIbHBIX HHTEPECOB, TAK U B CUTYallUAX COLUAIbLHOIO OOILIEHUS.

1.4. llepeyeHb MIAHUPYEMBIX pe3yJIbTATOB 00yYeHHs MO JMCUHUIIHHE (MOIYJ10), COOTHECEHHBIX C
IUVIAHMPYEeMbIMH pPe3y/JIbTATAMH OCBOEHHS 00pa30BaTe/bHOM MPOrpaMMbl

W3ydyeHne NaHHOW NMCUMIUIMHBI HampaBieHO Ha (OpMHpOBaHHE Yy OOydarOIIMXCS OOIIEKYIbTYpHOU
komrereHuu: OK-5

Nunexc Conepxxanmne B pesynbTaTe nuzydeHus: yaueOHON JUCITUTUIIHHBI
KOMIIe- KOMITETEHINH (WK €€ oOyuaronuecs J0KHbI
TEHIUU 4acTH) 3HaTh yMeTh BJIAJIEeTh
OK-5 CriocoOHOCTh K KOMMY- | - Oa30BbI€ ITpaBUIIa — UCMOJb30BaTh 0a- | - HaBbIKAMU YCT-
HUKaIUU B YCTHOU H YCTHOM ¥ MUCBMEHHOM | 30BBbIC IIPaBUJIA YCT- | HOM ¥ IUCBMEHHOMU
MMCBbMEHHOM (popmMax Ha | KOMMYHHUKAIIUM Ha HOM KOMMYHHUKAllMU | KOMMYHHKAI[MU Ha
PYCCKOM U MHOCTPAHHOM | PYCCKOM M MHOCTPAH- | U MUCbMEHHOM KOM- | pyCCKOM M MHO-
SI3bIKaX JJIsl peleHus HOM SI3bIKaX; MYHHKAI[MU Ha pyC- | CTPaHHOM SI3bIKax
3a]1a4 MEKJIMYHOCTHOTO | - CHCTEMHBIE MpeJi- CKOM M MHOCTpaH- s 3¢ HeKTUBHOM
1 MEXKYJIbTYpHOTO B3a- | CTaBJIEHUS O NpaBU- HOM SI3bIKax JJIsi npodeccruoHab-
MO JIEHCTBHS JIaX YCTHOM M ITUCh- pelIeHus 3aaa4 HOW KOMMYHUKa-
MEHHOM KOMMYHHKa- | MEKJIUYHOCTHOIO 11y, crocodamu
LMY B PYCCKOM M MHO- | OOLICHMUS; MEXJIMYHOCTHOTO U
CTPaHHOM SI3bIKaX, O - HCTI0JIb30BAaTh MEXKYJIbTYPHOTO
dbopmax u crocobax KOMIUIEKC TIPaBHII B3aUMOJICHCTBUSA
3¢ (GEeKTUBHOIO MEX- | YCTHOM KOMMYHHKa-
JUYHOCTHOTO U MEX- | IIUU ¥ MUCbMEHHOM
KYJIbTYPHOTO B3aUMO- | KOMMYHUKAIIUM Ha
NEeNCTBUA PYCCKOM U MHO-
CTPaHHOM SI3bIKaX
1 3¢ (HEKTUBHOTO
pelieHus 3a1a4y
MEXJIMYHOCTHOTO
OOLIEHUS U MEX-
KYJIBTYPHOTO B3au-




Nunexc Conepxxanmne B pesynbTaTe nuzydeHus: yaueOHON JUCITUTUIIHHBI

KOMIIEe- KOMITETEeHINH (WK €€ oOyuaronuecs: J0IKHbI

TEHUUHU 4acTu) 3HaTh yMeThb BJIAJIEeTh
MOJICUCTBHUS

2. CTPYKTYPA U COAEPKAHUE TUCIUIIJIMHBI

2.1 Pacnpenesienue TPyA0EMKOCTH TUCHUILIMHBI 10 BUAAM padoT
OO6mmast Tpy10€MKOCTh AUCIUIUIMHBI COCTaBIIIeT 6 3a4.ei. (216 yacoB), UX pacrpesesieHne o BUAaM pa-
60T npencrasieHo B Tabiuie (s cryneHToB 390).

Bun yuebnoit paboTsl Bcero CemecTpbl
4acoB (dacer)

1 2 3 4
KonrakTHasi pabora (Bcero), B TOM 4ucJjie: 30,9 16 4.4 10,5 -
AyIUTOpHBbIE 3aHATHS (BCEro): 30 16 4 10 -
3aHATHUS JIGKIMOHHOTO TUTIA - - - - -
JlaGoparopHbie 3aHATHS 30 16 4 10 -
3aHATHS CEMUHAPCKOTO THUIA (CEMUHAPBI, TPAKTUUYECKHE
3QHSITHS) i i i i i
Nuas koHTakTHast padora (Bcero): 0,9 - 0,4 0,5 -
KonTpoas camoctositensHoM padoTsl (KCP) - - - - -
IIpomexyrounas arrectauus (MKP) 0,5 - 0,2 0,3 -
KonTposasnas pabora (KoP) 0,4 - 0,2 0,2 -
CamocrosiTesibHas pa6oTa (Bcero), B TOM YHcJIe: 172,6 56 27,8 88,8 -

KypcoBast pabora - - - - -

[TpopaboTka yaeOHOTO (TEOPETHUECKOT0) MaTepraia - - - - -

Brmonnenne WHIAWBUAYAJIbHBIX 3a;[aH1/11?1 (BBIHOJ'IHGHI/IG

N 142,6 40 23,8 78,8 -
yIpaKHEHU)
IloaroroBka K TeKyniemMy KOHTPOIIO 30 16 4 10 -
KouTtpoJs: 12,5 - 3,8 8,7 -
[ToaroroBka K 3aueTy/3K3aMeHy 12,5 - 3.8 8,7 -
OO0masi Tpy10eMKOCTh qac. 216 72 36 108 -
B TOM 4HcJIe KOHTAKTHAS 30,9 16 4,4 10,5 _
pabora
3a4. efl 6 2 1 3 -

2.2 CTpyKTYypa AUCHHUILINHBI
Pacrnipenenennie BuoB yaeOHON pabOTHI M UX TPYIOEMKOCTH I10 pa3jeaaM JUCIUIUIMHBIL.
Pazgenbr quctunnmael, n3ydaemsie B 1,2,3 cemectpax (3aouHas Gopma).

KosmuecTBo yacos
AynutopHas Breayu-
Ne HanmenoBanue pasnenos TOpHas
Bcero paborta
paborta
J | o3 | Jp CPC
1 cemectp
1 | Management 6 2 4
O06pa3zoBaHNEe MHOKECTBEHHOT'O YHCJIa UMEH CY-
5 | TMECTBUTETBHBIX. [IpuTtspkaTenbHbIN Naiek UMEH 4 4
CYILIECTBUTENbHBIX. [IOpsSIIOK CIOB B aHTITMKACKOM
IPeI0KEHUN
3 | Human Resources (HR) 6 2 4




KomnmyectBo yacos

Bueaynu-
Ne HanmenoBanue paznenos AYRMTOPHAA TOpHas
Bcero pabota
paborta
JI 113 JIP CPC

Mecronmenuns (JINUHbIC, TPUTSDKATEIBHBIC, YKa3a-
TEJbHBIE, BOTIPOCUTEIILHBIC, BO3BPATHEIE).

4 | KosmmuecTBeHHBIC MECTOMMEHUS. 4 4
Heomnpenenénnsie MeCTOMMEHUS some, any,
OTPHIIATEIIFHOE MECTOMMEHHE NO

5 | Marketing 6 2 4
KonnyecTBeHHBIC YHCTUTENBHBIC, TIOPSIIKOBBIC

6 | yucnutenbHbie. CHpspKeHUE U yIIOTPEOJICHHE 4 4
riaroia to be, to have

7 | Public Relations 6 2 4

8 | OcHOBHbBIE TUIIBI BOIIPOCUTENBHBIX MPEAJIOKEHUIN 6 2 4

9 | Mass Media 6 2 4
Aptukib. YnorpeOieHne onpeeieHHOTo 1 He-

10 | ompeneneHHOTO apTUKIIA. YTIOTPEOICHUE apTHKIIS 6 6
¢ reorpan4ecCKUMU Ha3BaHHUSIMU

11 | Evolution of Public Administration 6 2 4

12 Hacrosmue Bpemena. YnoTpeOieHue u CriocoObl 6 6
oOpaszoBaHus

13 | State Structure: the USA 6 2 4
HUmoeo 6 I cemecmpe: 16 56

2 ceMecTp

14 | State Structure: the European Union 4 4

15 [Ipomenmue BpeMena. YnoTpeOiaeHHe u CrIoCOObI ) )
o0OpaszoBaHus

16 | State Structure: the UK 4 4

17 bynymue Bpemena. YnorpebiieHue u crocoObl ) )
oOpazoBaHus

18 | State Structure: the Russian Federation 4 4

19 | CornacoBaHue BpeMEH B aHIJIMICKOM SI3bIKE 2 2

20 | Basics of Economics 4 2 2
CreneHu cpaBHEHUS IMEH TPUIIaraTeIbHbIX.

71 CpaBHHTENBbHBIE KOHCTPYKIMU. Hapeune. ) )
Crenenu cpaBHeHUs Hapeuuil. MecTo Hapeuus B
PEUI0KECHUT

22 | Money and Banks 4 2 2

73 [Ipsimas u kocBeHHas peub. CriocoObl epeBoia 38 38
psSIMOY PeYr B KOCBEHHYIO ’ ’
Hmoeo 6 2 cemecmpe: 4 27,8

3 cemecTp

24 | Public and Municipal Finances 12 2 10
MoanbHbI€ TIaroJibl, OOIINE CBEICHHS.

75 MoanpHBI€ TIIAT0JIBI can, may. MoganbHbIe Tia- 12 ) 10
roJbl. [ 11arossl, BeIpakaromne JODKEHCTBOBAHUE
must, should, ought to

26 | Public Finance: Revenue and Expenditures 12 2 10

27 | CTpanaTenbHbIi 30T 14 14

28 | Infrastructure 12 2 10
Henuunbie popmel rinarona. Mudunurtus. ['epyn-

29 . 12 12
qui. [puaactue 1. ITpugacrue 11




KonnuecTBo yacos
AynutopHas Breayu-
Ne HanmenoBanue paznenos TOpHas
Bcero pabota
paborta
JI 113 JIP CPC
30 | Social Protection 12 2 10
31 | Ynorpebnenue dpazoBeix raarojos. Hakmonenue 12,8 12,8
Hmoeo 6 3 cemecmpe: 10 88,8
Hmoeo no oucyuniune: 30 172,6

2.3. Conepxxanue pa3iesioB JMCHUIIIHHBI

B nmanHOM nonpasznene npuBOAMTCS ONKMCAHUE COJNEPKAHUS JUCLHUILINHBL, CTPYKTYPUPOBAHHOE 110 pas3ze-
JlaM, C YKa3aHUEM I10 KaxJIoMy pazzaeny Ghopmbl TeKymero Koutposs: JIY — nekcudeckue ynpaxHeHus; ['Y —
rpammaTuyeckue ynpaxsenus; K — keicer; T — TecTsl.

2.3.1 3auaTusd JeKIUOHHOT0 THIIA
3anamus 1ekyuoHHo20 muna He npedycMompeHul.

2.3.2 3aHATHSA CEeMHHAPCKOI0 THIIA
3anamus cemunapcko2o muna He npeodyCMOmMpeHbl.

2.3.3 JIabopaTopHbIe 3aHATUA

HaumenoBanue pazgena

TemaTuka 1a00paTOPHBIX 3aHATUN

dopma
TEKYLIEro
KOHTPOJISI

Tema 1. Management

Management.
Lead-in.

Topical vocabulary.
Languages practice.
Reading.

Speaking.

Writing.

Jdy, T

Tema 3. Human Resources
(HR)

Human Resources (HR).
Lead-in.

Topical vocabulary.
Languages practice.
Reading.

Speaking.

Writing.

Jdy, T

Tewma 5. Marketing

Marketing.
Reading.
Speaking.
Writing.

Tema 7. Public Relations

Public Relations.
Lead-in.

Topical vocabulary.
Languages practice.
Reading.

Speaking.

Writing.

Jay, T

Tema 8. OCHOBHBIE THIIBI
BOIIPOCHUTEIIBHBIX TIPEJTIO-
JKEHUI

1. O6mmwmit BompocC.
2. CnenuanbHBIA BOIIPOC.
3. AnpTepHaTUBHBIN BONPOC.

TV, T
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HaumenoBanue pazgena

TemaTuka 1a00paTOPHBIX 3aHATUN

dopma
TEKYLIEro
KOHTPOJISI

4. PazgenutenbHBIN BOTIPOC.
Grammar practice.

Tema 9. Mass Media

Mass Media.
Lead-in.

Topical vocabulary.
Languages practice.
Reading.

Speaking.

Writing.

Jay, T

Tema 11. Evolution of Pub-
lic Administration

Evolution of Public Administration.

Lead-in.

Skimming: Interesting facts about the history of public ad-
ministration.

Advanced vocabulary practice.

Languages practice.

Detail reading.

Topical vocabulary.

Languages practice.

Writing.

Jdy, T

Tema 13. State Structure:
the USA

Skimming: How the USA is governed.
State Structure: the USA.

Detail reading.

Topical vocabulary.

Advanced vocabulary practice.

Jy, T

Tema 20. Basics of Econom-
1cs

Basics of Economics.

Lead-in.

Skimming: Twin Sciences.
Advanced vocabulary practice.
Languages practice.

Detail reading.

Topical vocabulary.
Languages practice.

Writing.

Jay, T

10

Tema 22. Money and Banks

Money and Banks.

Lead-in.

Skimming: Business that meets financial needs and eco-
nomic conditions.

Advanced vocabulary practice.

Languages practice.

Detail reading.

Topical vocabulary.

Languages practice.

Writing.

Jay, T

11

Tema 24. Public and Munic-
ipal Finances

The essence of Public Finance. The essence of Municipal
Finance.

Topical vocabulary.

Reading.

Speaking.

Languages practice.

Writing.

Jay, T

12

Tema 25. MonaibHEIE TJ1a-
TOJIbI, OOIIIHE CBEICHMS.

1. MoanbpHBIE IJ1aroJibl, OOIKUe CBEICHHMS.
2. MopanbHble riaaroyisl may.

Iy, T

7




HaumenoBanue pazgena

dopma
TEKYLIEro
KOHTPOJISI

TemaTuka 1a00paTOPHBIX 3aHATUN

MopanpHBIC TAroJkl can,

may. MojanbHbI€ I1arosisl.

['maromel, BeIpaxkaromme
JOJDKEHCTBOBAHMUE mMust,
should, ought to

3. MopanbHble r1aroJisl can.

4. Tmaro:sl, BRIpaXaroliye T0JHKCHCTBOBAHNE must.

5. T'marosbl, BeIpakarouiue J10JpKeHCTBOBaHME have to, be
to.

6. I'maroJel,
ought to.
Grammar practice.

BbIpaXKarolue JoJpkeHcTBoBaHue should,

13

Tema 26. Public Finance:
Revenue and Expenditures

Budget and Public revenue. Public Expenditures.
Topical vocabulary.

Reading.

Speaking.

Languages practice.

Writing.

Jy, T

14

Tema 28. Infrastructure

Infrastructure and its role in economic development. Public
— private partnership in infrastructure projects.

Topical vocabulary.

Reading.

Speaking.

Languages practice.

Writing.

Jdy, T

15

Tema 30. Social Protection

Definitions, goals, types. Social Protection in different
countries.

Topical vocabulary.

Reading.

Speaking.

Languages practice.

Writing.

Jay, T

2.4 llepevyeHb yueOHO-METOAMYECKOT0 00ecneYeHUs 1JIA CAMOCTOSITEIbHOI PadoThl 00y4aKOIIUXCS
10 AMCUUIIMHE (MOIYJII0)

Ne Bux CPC ITepeuenp yueOHO-METOIUYECKOTO 066CH€‘1€5—IHH JUCLUIUIMHBI 110 BBIIOJI-
HEHHIO CAaMOCTOSITEIIbHON paboThI
1 [TpopaboTka ydeGHOTO CamocrosiTenpHas padoTa CTYIEHTOB: METOJMUECKIE PEKOMEH AN
Marepuana 1t 6akaiaBpoB HamnpasiieHus moarotoBku 38.03.04 ['ocymapcTBeHHOE 1
5 [ToAroTOBKA K TEKyIleMy | MyHHIHMIIAIBHOE YIPABICHHUE, YTBEPKACHHbIC KaQeapOoi SKOHOMUKH U
KOHTPOJIIO MeHemkMenTa (mpotokoi Nel ot 30.08.2018 1.)
3 Brimonnaenune [TucbmMeHHbIe pabOTHI CTYACHTOB: METOANYECKHE PEKOMEHIAINH JIsI
yHpaxxHEHU I OaxanaBpoB HanpaiaeHus noArotosku 38.03.04 I'ocynapcTBeHHoE U
4 | Konrponsnas padora MYHUIIUTIAIEHOE YIIPABIICHHUE, YTBEPKACHHBIC Kadheapoil SKOHOMUKHU H
MeHepkMenTa (mpotokoin Nel ot 30.08.2018 r.)
JlaGoparopHbie pabOTHI CTYJEHTOB: METOAMYECKUE PEKOMEH AU IS
5 Brinmonnenue nabopa- OakanaBpoB HarpasiaeHus: noarotosku 38.03.04 'ocymapcTBeHHOE U
TOPHOU PabOTHI MYHUIIUTIAIEHOE YIIPABIICHHUE, YTBEPKACHHBIC Kadheapoil SKOHOMUKHU H
MeHemkMenTa (mpotokoi Nel ot 30.08.2018 1)

Y4eOHO-MeToAMYECKHEe MaTepraIbl AJI CAMOCTOSTENIbHOM paboThl 00Y4aIOIKMXCs U3 YKCIIa UHBAIUOB U
JIUI] C OTPaHUYEHHBIMHU BO3MOKHOCTAMH 3710poBbs (OB3) npenocTasistorcs B popMmax, afanTUPOBAHHBIX K
OTpPaHUYEHUSIM UX 3/I0POBbS U BOCIIPUATHUS HHPOPMALUH:

Jjig U1 ¢ HapyIIEHUSMU 3PEHUS:

— B IIe4aTHOU opmMe yBEIMYEHHBIM LIPUPTOM;

— B (JopMe DIIEKTPOHHOI'O JOKYMEHTA.

JList AL ¢ HapyHIEHUsIMHU CIIyXa:




— B IIe4aTHOU (opme;

— B JOpMeE DIIEKTPOHHOTO JOKYMEHTA.

JList AL ¢ HapylmeHnssMHU OTIOPHO-JBUTaTEIbHOTO alapara:

— B IIe4aTHOU (opme;

— B JOpMeE AIIEKTPOHHOTO JOKYMEHTA.

JlaHHbBIN TIepeYeHb MOXKET ObITh KOHKPETU3UPOBAH B 3aBUCUMOCTH OT KOHTUHI€HTA 00yJaroIuXCsl.

3. OBPA30OBATEJ/IBHBIE TEXHOJIOI'MA

B npouecce u3ydeHust qJUCHMILIMHBI 3aHATUS J1a0OpATOPHOTO THUIA SBIIAIOTCA BeayliuMu Gopmamu o0y-
YeHMs B paMKax 00pa30BaTeIbHON CUCTEMBI.

B yueGHOM npolriecce nCnob3yOTCs Clleytonne 00pa3oBaTeIbHbIE TEXHOJIOTHU:

— TEXHOJOrus NpoOJIeMHOro 00y4YeHHUs: MOCIeI0BaTENIbHOE U LI€JICHANPABICHHOE BbIABIKEHUE TIEpe]]
CTYIEHTOM I103HABATENIbHbBIX 3a/1a4, pa3pelias KOTOPbIe CTYI€HThl aKTUBHO YCBAUBAIOT 3HAHMS;

— TEXHOJIOTHS pa3BUBAIOLIETO OOYUYEHHsI: OpUEHTAIUs y4eOHOT0 Mpoliecca Ha MOTEHI[MAIbHBIE BO3MOXK-
HOCTH Y€JIOBEKA U UX pealin3alluio;

— TexHozorus auddepeHMpoBaHHOTO 00yYeHHsI: YCBOEHUE IPOrPpaMMHOI0 MaTepHala Ha pa3IndHbIX
IUTAaHUPYEMBIX YPOBHSX, HO HE HIXKE 0053aTeIbHOTrO;

— TEXHOJIOTUSl aKTUBHOTO (KOHTEKCTHOT0) 00Y4eHUs: MOJEIMPOBAHHE ITPEIMETHOTO U COLIMANIBHOTO CO-
nepxkanus Oyaymied mpodecCuoHaAIBHOM e TeIbHOCTH;

Takxe Mpu OCBOEHMM AUCLUMILIMHBI B Y4eOHOM IPOLIECCE HCIOJIb3YIOTCS aKTUBHBIE U MHTEPAKTUBHBIE
(B3aumMozeiicTBytomue) Gopmbl NPOBEACHUS 3aHITUH.

JUig U1 ¢ OrpaHUYEHHBIMU BO3MOYKHOCTSIMU 370POBbSI IIPEYCMOTPEHA OpraHMu3alusl KOHCYIbTAllUi C
HCI0JIb30BAHUEM AJIEKTPOHHOMN MOYTHI.

4. OHEHOYHBIE CPEACTBA J1JIsA TEKYIIEI'O KOHTPOJIA YCIIEBAEMOCTHU U
MMPOMEXYTOYHOMN ATTECTAIIUA

4.1 @D oHJ O1LIEHOYHBIX CPEaCTB AJIsl MPOBEACHUS TEKYHICIr0 KOHTPOJIsA

@DOHJ1 OLIECHOYHBIX CPEACTB MO AUCHUIUIMHE 0()OPMIIEH KaK OTJEeIbHOE MPHUIIOKEHNE K pabouelt mporpam-
Me.

IIpumepHbIe JeKcnYeckHne YIpaskHeHUust

Tema 1. Management
[IpounTaiiTe u epeBeIUTE TEKCT.
Definition of Management
Management is based on scientific theories and today we can say that it is a developing science.
But knowledge of theories and principles doesn’t provide practical results. It is necessary to know how to apply
this knowledge. Practical application of knowledge in the management area requires certain abilities or skills.
Here is an example:
Depending on its size, an organization may employ a number of specialized managers who are responsible for
particular areas of management. A very large organization may employ many managers, each responsible for
activities of one management area. In contrast, the owner of a sole proprietorship may be the only manager in
the organization. He or she is responsible for all levels and areas of management.
What is important to an organization is not the number of managers it employs but the ability of these managers
to achieve the organization’s goals, and this ability requires a great skill.
In the other words, management is the process of coordinating the resources of an organization to achieve the
primary organizational goals.
Main Resources
Managers are concerned with the following main resources:
1. Material resources are physical materials and the equipment used by an organization to make a product. For
example, cars are made on assembly lines. These assembly lines and the buildings that house them are material
resources.



2. The most important resources of any organization are its human resources — people. Some firms believe that
their employees are their most important assets. To keep employees content, a variety of incentives are used ,
including higher-than-average pay, flexible working hours, recreational facilities, lengthy paid vacations, cafe-
terias offering inexpensive meals, etc.

3. Financial resources are the funds the organization uses to meet its obligations to various creditors. A grocery
store obtains money from customers and uses a portion of that money to pay the wholesalers from which it buys
food. A large bank, borrows and lends money. A college obtains money in the form of tuition, income from its
endowments, and federal grants. It uses the money to pay utility bills, insurance premiums, and professor’s sal-
aries. Each of these transactions involves financial resources.

4. Finally, many organizations increasingly find they cannot ignore information. External environment — includ-
ing the economy, consumer markets, technology, politics, and cultural forces — are all changing so rapidly that
an organization that does not adapt will probably not survive. And, to adapt to change, the organization must
know what is changing and how it is changing. Companies are finding it increasingly important to gather in-
formation about their competitors in today’s business environment.

It is important to realize that these are only general categories of resources. Within each category are hundreds
or thousands of more specific resources, from which management must choose those that can best accomplish
its goals. Managers must coordinate this complex group of specific resources to produce goods and services.
Exercises

1. Translate into Russian.

Employ managers; a number (of); a variety (of); management area; the only manager; the owner of a
sole proprietorship; levels and areas of management; to achieve the organization’s goals; a great skill; human
resources; tangible (material) resources; primary goals; employee; assets; recreational facilities; lengthy paid
vacation; meet obligations; money; obtain money; income; insurance premium; salary; consumer market; sur-
vive; competitor; accomplish goals; produce goods and services; grant; wholesaler; endowment; utility; utility
bills; borrow and lend money; salary; practical results.

2. Find the English equivalents.

HayuHble Teopuu; MpakTUYECKHE PE3yabTaThl; YIPABIATH JICIOBBIMH (UPMaMH;, HaHUMaTh MEHEKe-
poB; obsactb(cepa) yrnpaBieHUs ; BiIaaeel] eANHOIMYHON COOCTBEHHOCTH; €IMHCTBEHHBIN; TOCTUTATh Opra-
HU3AI[MOHHBIC IIeTH; OOJIBIIOE MACTEPCTBO; JIOXOJ; OCHOBHBIE LM OpPraHU3aIluH;, MaTepHalbHBIE PECypCHI;
CIIY)KAIlIUH; ONTOBHK; CTUMYJI; JUTHTEIHHBIN OIIAYMBACMBIN OTITYCK; 3aHUMATh JICHBIW; JIaBaTh JICHBI'H B JIOJIT;
OIUTAUMBATh CYETa MPEANPHUATHH KOMMYHAIBHOTO OOCITY)KMBAaHWS; CTpaxoBas MpeMus; 3apruiata; (puHaHCO-
Bas) omepauusi; QOHJ; NOTPEOUTENbCKUN PHIHOK; BBIKUBAThH; MPUCIIOCOOUTHCS K H3MEHEHHUIO; KOHKYPEHT;
OCYILIECTBUTDH LIE€JH; TOBApbl U YCIYI'H; aKTUBbI; MOOYIUTENbHBIN MOTUB; cyOcuaus (Oe3Bo3BpaTHas CCyla);
MOKepTBOBaHUE (0JIarOTBOPUTENBHBIN B3HOC).

3. Fill in the blanks.

1. Management is based on ..... and today we can say that it is ..... .

2. The owner of a sole proprietorship may be the only ..... in the organization.

3. Management is the process of coordinating the resources of an organization to achieve the ..... of the organi-
zation.

4. Managers are concerned with four types of ..... .

5. Material resources are ...... resources.

6. Human resources are perhaps the most ..... resources.

7. To keep employees content, a variety of ...... are used.

8. A'large bank ..... and ..... money.

9. External environment is changing so rapidly that the organization that does not adapt will probably not ......
10. Companies are finding it increasingly important to gather ..... about their ..... .

11. Managers must coordinate the complex group of specific resources to produce ...... and .....

4. Translate into English.

1. MeHeIKMEHT OCHOBAH Ha HAyYHBIX TEOPHSIX.

2. MeHeKMEHT — 3TO MPOLECC KOOPIAUHAIIMY PECYPCOB OPraHU3aIMU [T JOCTHKEHUST OPraHU3allOHHBIX I1e-
Jen.

3. MeHepKkephl 3aHUMAOTCS YeThIPEMS BUAMH PECYPCOB: MaTepHUaIbHBIMU, (PMHAHCOBBIMH, JIFOJICKUMH U WH-
(bopMaLMOHHBIMHU.

4. HanbGomnee BaKHBIMHU PeCypcaMu JIFOOOW OpPTaHU3aIiH SABIISIOTCS JTIFOJCKHAE PECYPCHI.

5. JIns ynoBIETBOPEHUS CIIYKAIKUX UCIIOJIB3YETCS PSii CTUMYJIOB.
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6. MatepuanbHbIe pecypchl — 3TO MaTepUalIbl, U3 KOTOPHIX M3TOTOBJICHA MPOIYKIINs, a TAK)Ke 000pyIoBaHUE,
HCTIONIb3yeMOoe IS €€ MPOU3BOICTBA.

7. ®uHAHCOBBIE pecypchl — 3TO (HOHIBI, KOTOPHIC UCIIOJIB3YeT OpraHW3alMs I TOBBIMICHUS CBOMX 00s3a-
TEJBCTB NIEPe] PA3IMYHBIMHA KPEJIUTOPAMH.

8. BaemrHee okpyXeHHE, BKIIIOYasi SKOHOMUKY, MIOTPEOUTEIHCKHE PBIHKH, TEXHOJIOTHIO, TIOJIUTUKY M KYJIBTYp-
Hble (PAKTOPBI, U3MEHSAETCS OUEHb OBICTPO.

9. Opranuzauusi, kKoTopas He npucnocadnupaercs (adapt to) K BHEIIHEMY OKPYKEHUIO, MOXKET HE BBIKUTb.

10. Komnanuu cuutator 0osiee BaXHbIM coOUpaTh HH(POPMAIIUIO O CBOMX KOHKYpEHTAaX.

5. Answer the questions.

1. What can you say about management in general?

2. Why does a large organization employ many managers?

3. What is important to an organization?

4. Does the ability to achieve organizational goals require a great skill?

5. What can you say about management as a process?

6. What main resources are managers concerned with?

7. What incentives are used to keep employees content? Why?

8. How does an organization obtain financial resources? Give some examples.

9. Is external environment including the economy? Consumer markets etc. changing rapidly?

10. What must an organization do to survive?

IIpumepHbIe rpaMMaTHYeCKHE YIIPAKHEHUSA

Tema 8. OcHOBHbIE THIIBI BONPOCUTEIBHBIX MPeII0KeHn i
1. 3apmaiiTe o01irie BOIIPOCHI K MPEAIOKEHUSIM.
1. John was tired after work. (I>xon yctan mocie paboTsl.)
2. We live in a small town. (MbI %HBEeM B MaJICHHKOM TOPO/IKE. )
3. Summer has started at last. (Jlero Haganocs, HaKOHEI-TO.)
4. They have already left. (Oamyxeymm.)
5. My parents got married in Paris. (Mou poautenu noxxenunucs B [lapuxke.)
6. She can lose her temper easily. (OHa MOXET JIerKO BBINTH U3 ce0sl.)
7. The party will start in time. (BeuepuHkaHauHETCIBOBPEMS. )
8. The dogs are sleeping. (CobGakucmsT.)
9. The umbrella was broken. (3oHTOBLICIIOMAH. )
10. He always gives money to homeless children. (On Bceraa naet qeHbru 6€CIpU30PHBIM ACTSIM. )
2. 3aHaI/ITC CIICUAJIBHBIC BOIIPOCHI K IPCAJIOKCHUAM, HAUNHAA C BOIIPOCUTCIIBHBIX CJIOB B CKOOKax.
1. The twins were born in June. (When...?) (bnusnens poaunuck B urone.) (Kormga...?)
2. We had a great time in Disneyland. (Where...?) (MsI kitaccuo ipoBenu Bpems B JucHeimune.) (I'ge...?)
3. Mr. Black can play chess very well. (How...?) (Mucrep bisk ymeer urpare B 1maxmaTbl O4€Hb XOPOILO.)
(Kak...?)
The salad is not fresh. (Why...?) (Canat necBexwuii.) (I[Touemy...?)
My wife prefers juice to tea. (Who...?) (Mos xxena npeanounTtaet cok BMecto 4as.) (Kto...?)
Tom orders Japanese food every Friday. (What...?) (ToM 3aka3piBaeT SMOHCKYIO €1y KKIYIO MSTHHILY.)
(Yto...?7)
I meet a lot of people at work. (Where...?) (5 BcTpeuatoch co MHOTUMU JTI0pMHU Ha pabdote.) (I'ze...?7)
They will have lunch at home. (Where...?) (Ouu OynyT obenate noma.) (I'ze...?7)
The film has just started. (What film...?) (®unbsm Tonbpko yto Havacs.) (Kakoi punbm...?)
0 I have been to the doctor. (Where...?) (5 6s11 y Bpaua.) (I'ze...?)
3aHaI/ITC AJIbTCPHATUBHBIC BOIIPOCHI K ITPCATIOKCHUAM, UCIIOJIB3Ys IMPEAIaracMbIC B CKOOKax BapHUaHThI.
He will study French in Canada. (On 6ynet usyuats ¢panuysckuii B Kanane.) (German — HemeIkuii)
They are football fans. (Ouu — @pyr6onbHbIe (hanaTsl.) (hockey — xokkeit)
Her granny can tell fortunes from cards. (Ee 6abymika ymeeT npencka3biBath o kapram.) (candles — cBeun)
I have made an apple-pie. (S mpurotoBuia s6;104HbIi nupor.) (a banana cake — 6aHaHOBBIN TOPT)
Ann bought a nice dress yesterday. (AHsa Kynuiia KpacMBO€ T1aThe Buepa.) (a skirt — rooka)
This car was manufactured in Japan. (Ota mammna Obuta npousBenena B AAnonun.) (Germany — ['epmanust)
They must pay for the taxi. (OHu g0KHBI 3a1U1aTUTH 3a TakcH.) (the lunch - o0ex)
The post-office opens at 9. (Iloura oTkpsiBaetTcs B 9.) (at 8§ — B BoceMb)
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9. Fiona and John paint their house every five years. (®Puona u J[xoH kpacsaT cBO# J0M Kaxkabie 5 neT.) (their
bedroom — ux cranabHs)

10. She visited all the museums in Istanbul. (Ona noceruna Bce my3zeu B CtamOyse.) (the shops — marazunsr)

4. Beibepute 13 MpaBoi KOJOHKHA BEPHOE OKOHUYAHUE Pa3JIeIUTEIILHOTO Bompoca. [lepeBeante BOPOCHI.

1. She isn’t sociable, a. mustn’t they?
2. Mark was satisfied, b. do they?

3. Your kids never argue with you, c. didn’t she?
4. Let’s dance, d. do you?

5. Tom can dive well, e. is she?

6. Our partners must keep their word, f. won’t it?

7. Helen has washed up, g. doesn’t she?
8. You don’t trust me, h. wasn’t he?
9. Your mum works as an accountant, 1. hasn’t she?
10. It will be cloudy tomorrow, J- did they?
11. Betty found a new job, k. can’t he?
12. They didn’t sell their car, 1. shall we?

IIpumepHbIe Keiicbl

Tema 5. Marketing

Channels of Marketing
[IpounTaiiTe TEKCT U BBHIMIOJIHUTE 3a/IaHUSI.
1. Individual consumers and corporate buyers are aware that thousands of goods and services are available
through a very large number of diverse channel outlets. What they may not be well aware of is the fact that the
channel structure, or the set of institutions, agencies, and establishments through which the product must move
to get to them, can be amazingly complex.
2. Usually, institutions specializing in manufacturing, wholesaling, retailing, and many other areas join forces
in marketing channel arrangements to make possible the delivery of goods to industrial users or customers and
to final consumers. The same is true for the marketing of services. For example, in the case of health care deliv-
ery, hospitals, laboratories, insurance companies, and drugstores combine efforts in an organized channel ar-
rangement to ensure the delivery of a critical service.
3. Therefore, marketing channels can be viewed as sets of interdependent organizations involved in the process
of making a product or service available for use or consumption. Not only do marketing channels satisfy de-
mand by supplying goods and services at the right place, quantity, quality, and price, but they also stimulate
demand through the promotional activities of the units (e.g., retailers, manufacturers' representatives, sales of-
fices, and wholesalers) comprising them.
4. The major focus of marketing channel management is on delivery. Producers of goods (including manufac-
turers of industrial and consumer goods, legislators, educational administrators and insurance companies) are
individually capable of generating only form or structural utility for their «productsy.
3aBepuinTe yTBepKICHHE COTIACHO COJIEPIKAHHUIO TEKCTA.
Marketing channels raise demand through the joint efforts of ...

1 retailers, wholesalers and sales offices

2 hospitals, laboratories, insurance companies

3 legislators, educational administrators and insurance companies

4 retailers, insurance companies and legislators
OTBeTHTE Ha BOMPOC:
What does the structure of channel outlets consist of ?

1 It consists of establishments through which the goods are delivered to consumers.

2 It consists of a number of individual consumers and organized buyers.

3 It consists of a set of hospitals, laboratories, insurance companies, and drugstores.

4 It consists of legislators, educational administrators and insurance companies.
Omnpenennute OCHOBHYIO HJICIO TEKCTA.

1 Marketing channel is a complex network of joined independent organizations with the purpose of deliver-

ing goods and services and increasing demand.
2 Marketing channels stimulate demand through the promotional activities of retailers, manufacturers' repre-
sentatives, sales offices, and wholesalers.
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3 Public and private goods could be available for consumption only through distribution through different
marketing channels.
Legislators, educational administrators and insurance companies use the channels of marketing to distribute
their products.

IIpumepHbIe TeCThI

Tema 1. Management
1. The country’s economy is in crisis. Unemployment quickly.
a) is rising
b) rises
C) rose
2. If I knew anything about the matter, I you.
a) will tell
b) would tell
¢) would have told
3. The line was shut down for two hours as a result of damaged machinery.
a) production
b) delivery
c) control
4. The unemployment is the percentage of the labour force which is out of work.
a) rate
b) product
c) average
5. As the field survey shows, very customers (about 6 %) find the design of our goods attractive.
a) little
b) few
c) afew
6. A successful manager must be in his/her own ability to deal with difficult situations and show the
qualities of leadership.
a) confident
b) initiative
c) accountable

7. The Intel Corporation is biggest producer of microchips.

a) a

b) the

c) an

8.1 on the final report all day yesterday. Tomorrow I'm making a presentation.

a) had worked

b) have been working

c) was working

9. Information on prices is available to brokers throughout the world.
a) share

b) market

c¢) trading

10. Our new packaging is attractive the previous one. As the result the sales have risen
this month.

a) as...as

b) more ... than

c) most ...as

4.2 D oHJ O1LIEHOYHBIX CPpEaCTB AJisd IPOBEACHUSA l'[pOMe)KyTO‘{HOﬁ aTrrecranmumn

KonrpoJsbHas padora
2 cemecTp
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BapuanTt BbiOupaetcs o nocneanen nudpe 3aueTHoi kHWKKKU: 1-Bapuant 1, 2-Bapuanr 2, 3-Bapuant
3, 4-Bapuanr 4, 5-Bapuant 5, 6-Bapuanr 6, 7-Bapuant 7, 8-Bapuant 8, 9-Bapuant 9, 0-Bapuant 10.

Kaxxnas pabota BbINnosHsEeTCA B Ie4aTHOM Bue Ha Jinctax popmarta A4. TUTyapHBIN JUCT 0dopMIIsieT-
cs mo oOmuM TpeboBaHUAM. [Ipu BBINOJHEHUH KOHTPOJIBHOW pabOThI ClEIyeT MOJHOCTHIO NMEPENUChIBATh
(bopMynupoOBKY 3a1aHuil. BeINOIHSAS epeBo] TEKCTa, CiIe/lyeT CHavajla MucaTh Ha3BaHUE TEKCTa MO-aHTIMICKI
C IIEPEBOJIOM, a 3aTEM UepeoBaTh ad3allbl TEKCTA U UX IIEPEBOI.

Ecnu BbINOJIHEH HECOOTBETCTBYIOLIMI BapuaHT, paboTa HEMpPaBUILHO O(OpMIIEHA WM BBINOJHEHA HE
IIOJIHOCTBIO, OHA BO3Bpalnaercs Juid JopaboTku. Eciin paborta He 3auTeHa, ee cielyeT BbIIOJIHUTh 3aHOBO, YUH-
ThIBasi 3aMEYaHUs PEeLEH3EHTa

Variant 1.
I Read the following text and translate it in writing:
ENTREPRENEURSHIP

An entrepreneur organizes an enterprise. He also takes the risk of a business in return for the profits. He
buys the workers' products (their labour services). The workers receive wages in return for their work. An en-
trepreneur also introduces new products or processes. He identifies markets and sources of supply.

In many cases, owners delegate decisions to managers. Is a salaried manager an entrepreneur, too? Some
people think that owners very seldom delegate a key decision to managers, because owners do not trust them.
But in practice many subordinates have incentives to maintain the company's well-being because their pro-
motion depends upon it. In this sense, both owners and managers can be entrepreneurs. So, an entrepreneur is
either an owner or a manager who shows judgement in decision making.

Judgement helps to make successful decisions. An entrepreneur needs judgement to speculate on future
price movements, as well as to deal with the novel situations.

The demand for entrepreneurs rises in times of political, social, and environmental change. Supply usually
matches demand, so more people give up other careers and become entrepreneurs. They have incentives to do
so by the higher expected rewards, and also by increases in the social status of entrepreneurs.

The supply of entrepreneurs depends also on their personality, culture, and life experience.

To identify profitable opportunities the entrepreneur synthesizes information from different sources. A
good education and wide-ranging practical experience helps the entrepreneur to interpret information. Sociabil-
ity also helps the entrepreneur to make contact with people he works with — both customers and colleagues.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) Who organizes an enterprise?

2) Why does he take the risk of a business?

3) What do the workers receive in return for their work?

4) What does the businessman identify?

5) Who do owners delegate decisions to?

6) Is a salaried manager an entrepreneur, too?

7) Why do some people think that owners very seldom delegate a key decision to managers?
8) Why do many subordinates have incentives to maintain the company's well-being?
9) What does the subordinates' promotion depend upon?

10) What do the owners show judgement in?

2. Fill the blanks with the words from the text.

1) An entrepreneur an enterprise.
2) He takes the risk of a business in for the profits.
3) He buys the workers' services.
4) The workers receive in return for their work.
5) An entrepreneur new products or processes.
6) He identifies and sources of supply.
7) Owners delegate decisions to .
8) Owners very seldom a key decision to managers.
9) Many subordinates have to maintain the company's well-being.
10) A manager shows in decision making.
3. Match the parts of the sentences to each other.
1) An entrepreneur organizes a) decisions to managers.
2) He also takes the risk of b) managers.
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3) The workers receive

4) An entrepreneur also introduces
5) He identifies

6) Owners delegate

7) Owners very seldom delegate
8) Owners do not trust

9) Subordinates have

10) A good manager shows

¢) new products or processes.

d) a business in return for the profits.

€) an enterprise.

f) a key decision to managers.

g) markets and sources of supply.

h) wages in return for their work.

1) judgement in decision making.

J) incentives to maintain the company's well-

being.

4. Find the English equivalents of the following Russian words in the text:
1) mpennmpuHUMATETH 11) ucrounuk

2) KJIIOYEBOE PEIICHUE 12) mocTaBKmM

3) mpuUHSATHE peUIeHUs 13) nenerupoBathb
4) opraHu3oBbIBaTh 14) pemenue

5) ompenenarb 15) Bo3Bpaarh

6) KI04YeBOil 16) npuObLIL

7) cyxaeHue 17) pabouas cuna
8) moOyxaeHue 18) obcnyxuBaHue
9) pbiHOK 19) nonnepxuBaTh
10 mpuHUMAaTh PUCK 20) npoABMKEHUE

5. Translate the following sentences into English.

1) Ilpennpunumarens OepET Ha ceds pUCK, CBA3AHHBIN ¢ OM3HECOM, HAJIESICh HA MOJIyY€HUE TPUOBLIH.

2) PaGoune nosyyaror 3apruiaty B 0OMEH Ha CBOIO padoTy.

3) IpemnpuHUMAaTeNh TaK)Ke BHIBOJUT HA PHIHOK HOBBIEC ITPOIYKTHI.

4) Bo MHOTHX CITydasiX BIaJeIbIbl JeJIETUPYIOT MEHEKEPaM IPaBO MPUHITHS PEUICHUH.

5) Brnanenbiiel HE TOBEPSAIOT MEHEKEPaM.

6) IlpenmpuHUMATETIO HEOOXOAMUMBI CIIOCOOHOCTH K CAMOCTOSITEIILHOMY CYXKJICHHIO, YTOOBI MPEIBUIET OY-

AYIIUEC NU3MCHCHUA 1LICH.

7) Chopoc Ha npeanpruHUMAaTENeH BO3pacTacT BO BPEMEHA IMOJTUTHIECKUX TIEPEMEH.

8) IlpemnoxxkeHne 0OBIYHO COOTBETCTBYET CIIPOCY.

9) Ux motuBanus — 60see BBICOKOE 05KHMJIa€MOE BO3HArPaXJACHHUE.

10) YtoObl onpeaenuTs NPUHOCSILIKE BBIF01y BO3MOKHOCTH, IPEAIPUHUMATEIb CHHTE3UPYET HH(POPMALIUIO U3

Pa3IMIHBIX UCTOYHHUKOB.

I Translate the following dialogues from Russian into English:

1. A: TIlpuser!
B: Ilpuser!
A: Kaxk te6s 30ByT?
B: Anexkc. A te6s?
A:  Jxon. Otkyna TeI, Anekc?
B: A w3 Poccun. A TH1?
A: A g u3 BenukoOputaHuu.
B: IlpustHo ¢ To60¥ no3HaKOMUTHCS, [I>KOH.
A: B3saumHo.

2. A: BpsI31eck 10 AenaM Wiau Ha OTabIxe?

B: Ilo nenam.
A: Bpel 31€ch B iepBblIii paz?
B: Her, g Obuta 31ech MHOTO pa3.
A: Bawm 3nece HpaButcs?
B: HopmansHo.

3. A: Ckonbko Bam Jiet?
B: Ms=He copok Tpu.
A: Bpsi xenartsr?
B: Her, u HUKOT 1A HE OBLI.
A: Uewm BbI 3aHUMAETECH?
B: A nokrop.
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Bam HpaBuTcs Baia padota?

Jla, OueHb HpaBUTCH.

A 4eM BBl 3aHUMAaeTeCh B CBOOOIHOE OT pabOThI Bpemsi?
S1 mo6mI0 e3UTh Ha CIIOPTKApax U TOTOBUTH.

@ > >

Variant 2.
I Read the following text and translate it in writing:
PROPERTY RIGHTS

The fundamental requirement of a market economy is a strong system of property rights.

A property right is the exclusive authority to determine how to use and service a resource. Thus, for ex-
ample, the owner of an apartment with complete property rights to the apartment has the right to determine
whether to rent it out or to live in it himself. He has the right to determine which tenant to rent the apartment to.
He can also use it in any other peaceful way. If the owner rents out the apartment, he also has the right to all the
after-tax rental income from the property.

A private property right includes the right to delegate, rent, or sell any portion of the rights by exchange or
gift at the price the owner determines. If [ am not allowed to buy some rights from you and you therefore are
not allowed to sell rights to me, private property rights are reduced. Thus, the three basic elements of private
property are (1) exclusivity of rights to the choice of use of a resource, (2) exclusivity of rights to the services
of a resource, and (3) rights to exchange the resource at mutually agreeable terms.

The market values of property reflect the preferences and demands of the rest of society. This creates an in-
teresting paradox: although property is "private," owners make private decisions in accordance with public, or
social, evaluation of their property. Thus one cannot sell his or her house at a price which is higher than the
market price.

The fundamental purpose of property rights is that they eliminate destructive competition for control of
economic resources. Well-defined and well-protected property rights replace competition by violence with
competition by peaceful means.

Private property rights do not conflict with human rights. They are human rights. Private property rights are
the rights of humans to use specified goods and to exchange them. Private property rights protect individual lib-
erty.

Under socialism private property rights are reduced. Here government agents control resources. The rights
of these agents to make decisions about the property they control are highly restricted. People cannot put the re-
sources to more valuable uses by purchasing the rights because the rights are not for sale at any price. As so-
cialist managers neither gain when the values of the resources they manage increase, nor lose when the values
fall, they have little incentive to work. Consider, in this case, the socialist manager of a collective farm. If he
works every night for one week, he can make, say, 1 million rubles of additional profit for the farm by arrang-
ing to transport the farm's wheat to the city before it rots. But if neither the manager nor those who work on the
farm can keep even a portion of this additional profit, the manager is more likely to go home early and let the
crops rot.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What is the fundamental requirement of a market economy?

2) What is a property right?

3) What rights may the owner of an apartment have?

4) What income does the owner of an apartment have the right to?
5) When are the property rights reduced?

6) What are the three basic elements of private property?

7) Whose preferences and demands do the market values of property reflect?
8) Under what system are private property rights reduced?

9) Who controls resources under socialist system?

10) Why don’t socialist managers have incentives to work?

2. Fill the blanks with the words from the text.

1) The fundamental of a market economy is a strong system of property rights.

2) A property right is the authority to determine how to use and service a resource.

3) The owner of an apartment has the right to whether to rent it out or to live in it.
4) He has the right to determine which to rent the apartment to.

5) He can also use it in any other way.
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6) Ifthe owner out the apartment, he also has the right to all the income.

7) A private property right the right to sell any portion of the rights."
8) If you are not allowed to sell rights to me, private property rights are

9) One of the three basic elements of property is exclusivity of rights.
10) Another element is the of rights to the services of a resource.

3. Match the parts of the sentences to each other.
1) The fundamental requirement of a market econ-  a) the after-tax rental income.

omy is b) it out or to live in it himself.

2) A property right is c) the exclusive authority to determine how
3) The owner of an apartment has to use a resource.

4) The owner can determine whether torent  d)you, private property rights are reduced.

5) He can also use it in e) mutually agreeable terms.

6) He also has the right to all f) the choice of use ofa resource.

7) A private property right includes theright g)a strong system of property rights.

to sell h) complete property rights to the apartment.
8) If I am not allowed to buy some rights from 1) any portion of the rights.

9) Owners have exclusive rights to j)any other peaceful way.

10) We can exchange the resource at
4. Find the English equivalents of the following Russian words in the text:

1) ueHHoOCTH 11) nonoaHUTENbHBII
2) mpenno4YTeHue 12) mmenuna

3) co3naBaTh 13) Ha nponaxy

4) oueHka 14) co3naBatp

5) yHUYTOXATh 15) B cooTBeTCTBUA
6) pa3pymIHUTEIbHBIN 16) cBoGo1a

7) KECTOKOCTh 17) ruTh

8) 3aMeHATh 18) nenHsIit

9) yenoBeueckuit 19) orpannumuBaTh

10 copeBHOBaHuUE 20) uenp

5. Translate the following sentences into English.

1) CoOcTBeHHUK OMpeneseT, KaK UCIO0JIb30BaTh U 0OCITYKHUBATh pecypc.

2) S cam XuUBY B MO€il COOCTBEHHON KBapTHUDE.

3) CoOcCTBEHHUK MOXKET cJaBaTh KBAPTUPY B apeHY.

4) CoOCTBEHHUK MOXET TaKXKe PACTIOPSKATHCS CBOEH COOCTBEHHOCTHIO JTIOOBIM MUPHBIM CITIOCOOOM.
5) CoOCTBEHHHK MOJIy4aeT BECh JOXOJ OT apeH/IbI MOCIIE YIUIAThl HAJIOTOB.

6) CoOCTBEHHHK MOKET MPOAATH JIFOOYIO YaCTh CBOUX MPaB HA COOCTBEHHOCTb.

7) IlpaBUTENHCTBO MOKET OTPAHUYNTH HAIIH ITPaBa HA COOCTBEHHOCTb.

8) MpbI o0cinyxrBaeM UMEIOIKECS B Halllel COOCTBEHHOCTU PECYPCHI.

9) CoOcTBEeHHUKH YacTO OOMEHHBAIOTCSI pECYpCaMy Ha B3aUMOIIPUEMIIEMBIX YCIOBUSX.
10) Copoc Ha mpeanpuHUMAaTeNeld BO3pacTaeT BO BPEMEHA IMEPEMEH.

I Translate the following dialogues from Russian into English:

1. A: Bpsicrynent?
B: la, s u3y4yar 5KOHOMHKY B YHUBEPCHUTETE.
A: 'V Bac ecTb Kakas-HHOyIb padoTa ¢ YaCTUUHOM 3aHITOCTHIO?
B: [a, s paboTato opunmanToMm.
2. A: [lapaiite cxoauM Kyna-HUOyAb NMOY)XHHaeM. S 3HaIO0 O4YEHb XOPOLIUM AMOHCKUI pe-
B: cropan.
A: 3Byunt 3aMaHuuBO! S 04eHB JIFOOIIO ATTOHCKYIO KYXHIO.
B: Ilouemy Tbl Jt0OUIIb SIMTOHCKYIO KyXHIO? ThI lyMaellb OHa roJie3Hast?
Koneuno. B Heil MHOTO CBEXHX MOPENPOAYKTOB U PHUCA.
3. A: Bbl 04eHb XOPOILIO TOBOPUTE MO-HEMELIKH.
B: Cnacubo.
A: T'ne BbI ero yuminu?
B: Mos nepBas xeHa Oblja HEMKOM.
A: A xakoil Baml poJIHOM SI3bIK?
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B: UWranpgackuii.

Variant 3.
I Read the following text and translate it in writing:
COMPETITION

Competition permeates economic life. Prices, wages, methods of production, types and quantities of
products, the size and organization of business firms, the distribution of resources, and people's incomes all re-
sult from competitive processes.

Consider market prices for consumer goods. The baker has on hand a stock of bread, a valuable good for
which consumers are willing to compete by offering the baker a price. The baker wants to get the highest price
possible, but he is constrained. If he sets his price too high, customers will not buy all that the baker has pro-
duced. They will buy from another baker, or they will buy pizza or potatoes instead. So the baker sets a price
that he thinks will "clear the market." That price is determined by the willingness of customers to compete for
his product, and by the willingness of rivals to compete for his customers.

An identical process occurs with producer goods. A steel plant has on hand a supply of steel, for which
automobile companies, appliance makers, and equipment manufacturers are competing. The firm wants to get
as much revenue as it can, taking into account the willingness of its customers to pay and the threat of lower of-
fers from its rivals. The customers want to pay as little as possible, taking into account that rival customers may
outbid them. This two-sided competition will again set a price that "clears the market." The market-clearing
price represents the lowest price that buyers of steel must pay, and the highest price that sellers of steel can re-
ceive, each without being outbid by rivals.

Competition also determines incomes and allocates goods. Competition acts as both stick and carrot in
economic life. If the worker does not keep his hands to the machine, his employer will replace him. If the em-
ployer does not treat his employee as well as other employers would, the employee quits and goes somewhere
else. If the manufacturer does not run his shop efficiently, his customers will go where they can find better ser-
vice at the same price or equal service at a lower price. All of us, as producers, can be replaced by those who
are able and willing to do the job better or cheaper.

On the other side, if we do our jobs well, we are more likely to get a good reward. The successful manu-
facturer has more customers and increases his revenues. The productive worker gets higher wages and more re-
sponsibility.

Market creates competition. Competition creates incentives. Incentives create better skills and higher
productivity. Productivity creates higher profits for manufacturers and higher rewards for workers. Thus, com-
petent work is better rewarded in market economies than in planned or bureaucratic ones. This is why compe-
tence is higher in countries with market economy. Now, when firms in the two parts of Germany can openly
compete, the Wartburg and Trabant have lost out to Opel and Volkswagen.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What results from competitive processes?

2) What does the baker have on hand?

3) How do comsumers compete for the baker's good?
4) What price does the baker want to get?

5) Why is he constrained?

6) What will happen if the baker sets his price too high?
7) Who competes for steel?

8) What does the firm take into account?

9) How much is the customer willing to pay?

10) What is the market-clearing price?

2. Fill the blanks with the words from the text.

1) Competition economic life.

2) Allresult from processes.

3) The baker has on a stock of bread.

4) Consumers are willing to for the baker's product.

5) The baker wants to get the highest possible.

6) The baker sets a price that will " the market."

7) That price is by the willingness of customers to compete for his product.

8) The customers want to pay as little as
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9) The firm wants to get as much as it can.

10) The market-clearing price the lowest price that buyers must pay.
3. Match the parts of the sentences to each other.

1) Prices, wages, and methods of production result from a) producer goods.
2) The baker has on hand b) as much revenue as it can.
3) Consumers are willing to compete for c) a price that "clears the market."
4) The baker wants to get d) a stock of bread.
5) Customers will not buy e) competitive processes.
6) An identical process occurs with f) the highest price possible.
7) A steel plant has on hand g) the baker's product.

8) The firm wants to get h) a supply of steel.
9) The customers want to pay 1) all that the baker has produced.
10) This two-sided competition will again set ]) as little as possible.
4. Find the English equivalents of the following Russian words in the text:

1) pazmemars 11) «kHYT ¥ IPIHUK»

2) HaHUMarTenlb 12) ynpaBiaTh LeXOM

3) HaémHBII paOOTHUK 13) norpedurens

4) s dexTuBHBIM 14) xonnyecTBO

5) MecTo paboThI 15) xoHKYpeHT

6) ycreurHslii 16) npousBoAUTENH

7) OTBETCTBEHHOCTH 17) BeIpy4Ka, JOXOJ

8) HaBBIK 18) nepebuBaTh LIEHY

9) GropokpaTHUYECKUA 19) nmpemioxenue

10 xoMmneTeHuus 20)

5. Translate the following sentences into English.
1) KonkypeHuus onpeaenseT 10X0 bl U pacipeaesieHue TOBapOB.
2) KonkypeHlus JefCTBYET KaKk KHYT U MPSHUK SKOHOMUYECKOH KHU3HH.
3) Bce Mbl, kKak paOOTHHUKH, MOKEM OBITh 3aMEHEHBI TEMHU, KTO CIIOCOOCH M JKEJaeT AeNaTh padoTy JIydIlle Uin
C MEHBIIIMMH 3aTpaTaMH.
4) Ecnu Mbl lenaeM Hanry padoTy XOpOILIO, Mbl, BCErO BEPOATHEE, MOJIYyYUM XOpOIllee BO3HArPaXACHUE.
5) VYcneuiHslil IporU3BOIUTENb UMEET 00JIblIe TOTPEOUTENIEH U YBETUUYUBAET CBOIO ITPUOBLI.
6) IlponykTuBHBIN pabounii mosryyaeT 00siee BHICOKYIO 3apIljiaTy U HECET OOJIBIIYI0 OTBETCTBEHHOCTD.
7) PbIHOK CO3/1a€T KOHKYPEHIIHIO.
8) KonkypeHuus co3gaét MOTHBALHIO.
9) IlpousBoauTENBHOCTH TpyJa cO34aéT Oosiee BBHICOKHE MPHUObUIM Ui MPOU3BOJIUTENS U 00Jee BBHICOKOE
BO3HArpaKJeHue /i paboTHUKOB.
10) [ToaTOMy ypoBEHb KOMIIETEHIIMH BBIIIE B CTpaHaX C pPhIHOYHOW SKOHOMUKOH.
I Translate the following dialogues from Russian into English:

I. A: VY mens Her OpaTheB U cecTEP, HO €CTh JIBa TBOIOPOIHBIX Oparta.
B: BbI nogiepxxuBaeTe ¢ HUMU KOHTAKT?
A: Jla, OHM )XMBYT 3a rpaHULEH.
B: BprI e3qute K HEM?
A: 4 e3gun onuH pas.
2. A: Ceroans xxapko?
B: Her, cerogus noBonbsHO XonoaH0. M, moxoxke, IOMAET TOXKIb.
A: Bawm mpaButcs, koraa uacT 101b?
B: Jla, s oueHs 1100110, KOT/Ia HAET TOXK/Ib.
3. A: Kak nponuio Bare nocieaHee myreniectsue Ha bamm?
B: O, sTo 651510 IpekpacHo!
A:  bsuio xxapko?
B: [a, O6b1710 04eHB KapKo.
A: Uro BHI menanu?
B:  ¥YT1po MBI npoBOoAMIN HA IUISIKE, a TIOce 00eaa Opaiy MalIMHy HAMpOKaT U €3HJIH TI0 OKPY-

re.
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Variant 4.
I Read the following text and translate it in writing:
PRIVATIZATION

Privatization is the process by which the production of goods or services is removed from the govern-
ment sector of the economy. This can be done either by the public sale of shares in a previously state-owned
enterprise, or by the use of private businesses to do government work under contract.

The leader in this strategy was the Thatcher government of Great Britain from 1979 to 1990. Previous
governments had tried limited denationalization (the restoration of nationalized enterprises to their previous
owners), but with limited success. Privatization involved totally new owners. In some cases the state enterprises
that were "privatized" had never been in the private sector.

Because state-owned companies have no profit motive, they have no incentive to produce goods that
consumers want, and to do so at low cost. In addition, even if they want to satisfy consumer demands, they have
no idea of what consumers want.

The result is misallocation of resources. Management responds to political, rather than to commercial,
pressures. The capital assets of state businesses are often of poor quality because the governments are not inter-
ested in the renewal of capital equipment.

Before the British water industry was privatized in 1989, it was undercapitalized by over $11 billion. As
the result the water supply failed to meet European standards for quality and safety. Similarly, the post office
had cut back its services. First telegrams disappeared, then Sunday collection, then Saturday second delivery.
These changes made life easier for producers at the expense of service to consumers. Most serious of all, the
losses of state industries consume funds that are needed for private investment.

The British privatization of nearly four dozen major businesses and several hundred small ones was a
success. Privatized British industries outperformed the market average once they entered the private sector, and
the privatized stocks rose in value faster than the stock market average.

Following the collapse of communism in eastern and central Europe, first Poland, Hungary, and Czech-
oslovakia, then Romania and several of the former Soviet republics began to privatize. The problems in these
economies were very different from those faced by the advanced economies. Decades of low wages meant that
little wealth was available for investment, and no stock markets existed on which to make sales. Very of-
ten, there were no laws to protect or even permit private ownership, much less the supporting infrastructure of
contract law and financial support services such as banks and accountants.

For this reason the formerly socialist economies found themselves forced to blaze a new trail of privati-
zation, sometimes using the distribution of "coupons" to the population as a means of spreading ownership.
Very often some degree of "informal" privatization was permitted, in which management effectively expropri-
ated what had been state property. Unlike Britain, which had about 10 percent of its economy in state hands and
had sold three-fifths of it over ten years, the socialist countries were now faced with privatizing 60 to 80 percent
of their economies within half that time.

Still new capitalist countries learned from the experience of their early leaders. These included the tech-
niques of writing off past debts, allocating shares to workers, splitting monopolies into competing elements, and
establishing new regulatory agencies to calm public fears about the behaviour of the newly privatized opera-
tions.

By restoring market incentives and commercial reality, privatization revived state-owned industries. It
diverted billions of dollars from the support of loss-making government concerns into the expansion of wealth-
creating private businesses.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) Where is the production of goods or services removed from by means of privatization?

2) How can a government remove the production of goods and services from the government sector of the
economy?

3) Who was the leader in this strategy in the years from 1979 to 1990?

4) What denationalization strategies had the previous governments tried?

5) Why don't state-owned companies have incentives to produce goods that consumers want, and to do so at
low cost?

6) What pressures does the management of the state-owned companies respond to?

7) By how much had the British water industry been undercapitalized in 19897

8) In what way had the British post office cut back its services?

9) How many major businesses were privatized in Britain in the Thatcher's years?
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10)
2

How did the privatized industries perform on the market?
Fill the blanks with the words from the text.

[Tpuser! A JIuza. S u3z ExarepunOypra. 91o B Poccun. A Th1?
A s u3 @panuuu. [pudruo ¢ To0oit mo3zHakoMuThes, Jlnza.

1) Goods or services are removed from the sector of the economy.
2) The government sells shares in a previously enterprise.
3) Weuse businesses to perform government work under contract.
4) The leader in this was the Thatcher government of Great Britain.
5) Previous governments had tried denationalization, but with limited success.
6) Because state-owned companies have no motive, they have no incentive to produce goods.
7) Even if they want to consumer demands, they have no idea of what consumers want.
8) Management to political, rather than to commercial, pressures.
9) The capital of state businesses are often of poor quality.
10) The governments are not interested in the of capital equipment.
3. Match the parts of the sentences to each other.
1) The British water industry was a) funds that are needed for private investment.
2) As the result the water supply failed to meet b) a success.
3) The post office had cut back c) privatized in 1989.
4) These changes made life easier for d) European standards for quality and safety.
5) The losses of state industries consume e) the market average once they entered the private sec-
6) The British privatization of major businesses  tor.
was f) producers at the expense of service to consumers.
7) Privatized British industries outperformed g) its services.
8) The privatized stocks rose in h) value faster than the stock market average.
4. Find the English equivalents of the following Russian words in the text:
1) kpymenue 11) BoccranaBnuBaTh
2) nekaja, NecsTUIIETHE 12) Bo3poxKAATH
3) GoraTcTBO 13) KOHTpaKTHOE MPaBO
4) coOCTBEHHOCTD, BiafeHue 14) cimyx6a puHAHCOBOTO
5) KOHTpakKT 15) npou3BOAUTH MPOJIAKY
6) Oyxrantep 16) yObITOUHBIN
7) KyIIOH, «Bay4dep» 17) npuObLIBHBII
8) MoHoImoIUA 18) nonHOCTHIO
9) ycranaBnuBaTh 19) HenpaBuUIBEHOE pacTpeieiICHIE
10 arenTcTBO 20) akTuBBI, HOHIIBI
5. Translate the following sentences into English.
1) DOTo MOXeT OBITH CAENAaHO MYTEM MTYOJIUYHBIX TOPTOB.
2) YacTtHble TPEANPUATHS UCTIOIHIIOT TOPYYaEMYIO IIPABUTEIHCTBOM pabOTy 110 KOHTPAKTY.
3) Ipenpiaymmue NpaBUTENBCTBA IMBITATHCH IPOBECTH OTPAHUYCHHYIO JCHAIMOHATU3AIIHIO.
4) Tlpouecc mpuBaTH3AIMHU MPUBJIEK COBEPIICHHO HOBBIX BJIA ICIBIICB.
5) OTu npeanpusTUS HUKOIAa HE ObUIM B YaCTHOM CEKTOpE.
6) Y HUX HeT MOTHBAlUH K IPOU3BOJICTBY TOBApOB C HU3KOH C€0ECTOMMOCTHIO.
7) Pe3ynpTaT — HEBEpHOE pacmpeaesieHue pecypcoB.
8) OcHoBHBIE (OHIBI TOCYIAPCTBEHHBIX MPEIIPUATHIA OTIMYAIOTCS HU3KHUM Ka4yeCTBOM.
9) IlonoOHbIM 0Opa3oM moyTa cokpatuiia 00EM CBOUX YCIYT.
10) DT U3MEHEHHS CIeTANH KU3Hb JUIsl IPOU3BOIUTENICH Jierye 3a CYET MOTPEOUTENCH.
I Translate the following dialogues from Russian into English:
I. A: MHe HpaBATCS TBOU YacChl.
B: IIpaBna? MHue Toxe HpaBaTcs. Sl Kynuiia ux B I1ploTu (pH, Koraa aetena u3 [lapuxka.
A:  Onu BeIrsAaT Joporo. CKoJIBKO Thl 3ariaTuiia’?
B: Onu 6b111 B pacnpoaaxe. S 3amnatuia Bcero 300 eBpo. IlepBonauanbHas 1ieHa Obuia 490 eB-
A: po.
VY nadHas mOKyIKa.
2. A: Ilpuset! A Ixexk.
B:
A:
B:

B3aumHo.
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UYeMm BBl 3aHUMaETECH?

S rnaBHBINA Oyxrajitep Ha IOBEIMPHOM 3aBojie. A Bbl €M 3aHUMAaeTeCh?

A crynent ropunuueckoro ¢akynprera. M y MmeHs ecth noapaboTka B HOTapHaJIbHOM KOHTOPE
(at a lawyer’s office).

> @

Variant 5.
I Read the following text and translate it in writing:
MICROECONOMICS

Microeconomics deals with supply and demand, and with the way they interact in various markets. Mi-
croeconomic analysis lies at the centre of most of the recognized subfields of economics. Labour economics,
for example, is based largely on the analysis of the supply and demand for labour of different types. The field of
industrial organization deals with the different mechanisms (monopoly, cartels, different types of competitive
behaviour) by which goods and services are sold. International economics worries about the demand and supply
of individually traded commodities, as well as of a country's exports and imports taken as a whole. It also deals
with the demand for and supply of foreign exchange. Agricultural economics deals with the demand and supply
of agricultural products, and of farm land, farm labour, and the other factors of production involved in agricul-
ture.

Public finance looks at how the government enters the scene. Traditionally, its focus was on taxes, but
more recently, public finance has reached into the expenditure side as well, attempting to analyze the costs and
benefits of different public programs. Applied welfare economics deals with the costs and benefits of just about
anything — public projects, taxes on commodities, taxes on factors of production (corporation income taxes,
payroll taxes), agricultural programs (like price supports and acreage controls), tariffs on imports, foreign
exchange controls, different forms of industrial organization (like monopoly and oligopoly), and various as-
pects of labour market behaviour (like minimum wages, the monopoly power of labour unions, and so on).

At the root of everything is supply and demand. In this market process people try to get the most from
what they have to sell, and to satisfy their desires as much as possible. In other words, people are maximizing
their personal "utility," or welfare. This process helps them to decide what they will supply and what they will
demand. The competitive supply price represents value as seen by suppliers, and competitive demand price rep-
resents value as seen by demanders.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What does microeconomics deal with?

2) What is labor economics based on?

3) What does the field of industrial organization deal with?

4) What does international economics worry about?

5) Who deals with the demand for and supply of foreign exchange?
6) What factors of production does the agricultural economics deal with?
7) What was traditionally public finance interested in?

8) What is public finance trying to analyze now?

9) What is applied welfare economics?

10) What lies at the root of everything in microeconomics?

2. Fill the blanks with the words from the text.

1) Microeconomics deals the way supply and demand in various markets.

2) This type of analysis lies at the center of most of the recognized of economics.

3) Labour economics 1s based largely on the of the supply and demand for labor
of different types.

4) The field of industrial organization deals withthe different by which goods and ser-

vices are sold.

5) International economics worries about the demand and supply of individual traded

6) International economics a country's exports and imports taken as a whole.
7) Who deals with the demand for and supply of exchange?

8) Agricultural economics worries about the demand and supply of products.

9) What factors of production are in agriculture?

10) Public finance looks at how the government_ the scene.
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3. Match the parts of the sentences to each other.

1) Traditionally public finance had a) value as seen by suppliers.
2) More recently, public finance has b) supply and demand.
3) The economists are attempting to analyze c) the costs and benefits of different pub-
4) Applied welfare economics deals with the costs and  lic programs.
benefits of d) its focus was on taxes.
5) What subfield of economics deals with taxes on e) reached into the expenditure side.
6) The government controls agricultural programs f) public projects.
like g) commodities  and taxes on factors
7) At the root of everything is of production?

8) In this market process people try to get h) personal "utility," or welfare.
9) People are maximizing their 1) the most from what they have to sell.
10) The competitive supply price represents J) price supports and acreage controls.
4. Find the English equivalents of the following Russian words in the text:

1) umeTs Aeno 11) obpabaTbsiBacMbIe 3eMETBHBIE YTOIbS

2) B3aMMOJICHCTBOBATh 12) nanor

3) pabouas cuna 13) pacxojpl, 3aTpaThl

4) NpOMBIIIEHHBIN 14) npuOpLib, BRIrO1a

5) ToproBis 15) 6imarococrosinue, 6OTaTcTBO

6) sKcTopT 16) noxon

7) uMmmopt 17) niiaréxHasi Be1IOMOCTb, CIIMCOK

8) cenpCKOXO03IMCTBEHHBII 18) 3apmnaTa

9) ¢dunancel 19) KOHKYpEHTHBIN

10 BXOaMTh, BCTYNATh 20) mocTaBIIUK

5. Translate the following sentences into English.
1) MUKpOSKOHOMHKA 3aHUMAETCs MpOoOJIeMaMH TPEJIOKEHHsT M CIpoca, a TakKe BOMPOCaMU WX B3au-
MOJICHCTBHS Ha Pa3JIMYHBIX PHIHKAX.
2) DKOHOMHKA TPyJa OCHOBAaHA B 3HAYMTEIHHON CTEIICHH HA aHAIM3E MPEIIOKECHUS U CIIPOCca Pa3IMIHbIX TH-
OB paboyelt CUIIBL.
3) MexayHapoHasi 5)KOHOMUKaA 03a004YeHa BOIIPOCaMU IIPEIOKEHHS U CIIpoca B cepe IKCIOpTa U UMIIOPTA.
4) DKOHOMHKA CEIbCKOTO XO3SCTBA UMEET JIENIO C Pa3IMIHBIMH (PAKTOPAMU CETbCKOXO3HCTBEHHOTO MPOU3-
BOJICTBA.
5) TpaauuuoHHO MHTEPEC IKOHOMUKHU IOCYJapCTBEHHBIX (DMHAHCOB JieXkKal B chepe HaJIoroo0I10KEeHHSL.
6) B ocHOBe Bcero JeXHUT NPEJIOKEHUE U CIIPOC.
7) DKOHOMHKA CETTLCKOTO XO35CTBAa 3aHUMAETCSI BOIIPOCAMH KOHTPOJIS 32 pa3MepaMy MOCEBHBIX IJIOMIAICH 1
KOHTPOJIEM 1IEHOOOpa30BaHMsl.
8) KoHKypeHTHas IeHa IMOCTABIIUKA MPEICTABISET CTOUMOCTh TaK, KaKk €€ BUIUT MOCTABIINK, KOHKYPEHTHAs
[[eHa MMOKYIaTeIsl MPEICTABISACT CTOUMOCTh TaK, KaK €€ BHIUT MTOKYMATEIb.
I Translate the following dialogues from Russian into English:
1. [Tpuser, Com! Kak nemna?
Cmacu6o, xopomo! A y Tebst kak nena?
Toxe xopomio, ciacu0o.
Kaxkas B Bac mpodeccus?
A menemxep no padote ¢ mepcoHaioM. S paboTaro B 60IbIION KOMIAHUU. S BBl 4YeM 3aHMMa-
eTech?
51 pyKOBOKY CBOMM COOCTBEHHBIM OM3HECOM.
Yem 3aHUMAETCs Balla KOMITAaHUS?
MbI pogaéM KEHCKYIO OJIEKITY.
51 TOJIBKO YTO BEPHYJIACH U3 TTOE3IKH.
Kyna Bl e3nunu?
B stot pa3 sto 6b11a ['penusi.
CKOJIbKO BBl TaM POOBLIH?
Hecarb gHen.
Uem BbI 3aHUMAITNCH?
MBI yTemecTBOBAIH IO Pa3HBIM OCTPOBAM.

ZEETr>T> 2T2T2>T
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B: Kakoii octpoB Bam noHpaBuiics 00JiblIe BCEro?
A: Kput ObuI caMbIM HHTEPECHBIM MeCTOM. | ObI X0Tena emé pa3 TyAa Moexars.

Variant 6.
I Read the following text and translate it in writing:
SUPPLY AND DEMAND

The most basic laws in economics are those of supply and demand. Indeed, almost every economic
event is the product of the interaction of these two laws. The law of supply states that the quantity of a good
supplied rises as the market price rises, and falls as the price falls. Conversely, the law of demand says that the
quantity of a good demanded falls as the price rises, and vice versa.

One function of markets is to find "equilibrium", or "market-clearing" prices that balance the supplies of
and demands for goods and services. An equilibrium price is the one at which each producer can sell all he
wants to produce and each consumer can buy all he demands. Naturally, producers always would like to charge
higher prices. But even if they have no competitors, they are limited by the law of demand: if producers insist
on a higher price, consumers will buy fewer units. The law of supply puts a similar limit on consumers. They
always would prefer to pay a lower price than the current one. But if they successfully insist on paying less
(say, though price controls), suppliers will produce less and some demand will go unsatisfied.

Economists often talk of supply "curves" and demand "curves." A demand curve traces the quantity of a
good that consumers will buy at various prices. As the price rises, the number of units demanded declines. That
1s because everyone's resources are finite; as the price of one good rises, consumers buy less of that and more of
other goods that now are relatively cheaper. Similarly, a supply curve traces the quantity of a good that sellers
will produce at various prices. As the price falls, so does the number of units supplied. Equilibrium is the point
at which the demand and supply curves intersect — the single price at which the quantity demanded and the
quantity supplied are the same.

Markets in which prices can move freely are always in equilibrium or moving toward it. For example, if
the market for a good is already in equilibrium and producers raise prices, consumers will buy fewer units than
they did in equilibrium, and fewer units than producers have available for sale. In that case producers have two
choices. They can reduce price until supply and demand return to the old equilibrium, or they can cut produc-
tion until supply falls to the lower number of units demanded at the higher price. But they cannot keep the price
high and sell as many units as they did before.

The concept of demand is one of the most important building blocks of economic analysis. When econ-
omists refer to demand, they usually have in mind not just a single quantity demanded, but what is called a de-
mand curve. A demand curve traces the quantity of a good or service that is demanded at successively different
prices.

The most famous law in economics is the law of demand. This law states that when the price of a
good rises, the amount demanded falls, and when the price falls, the amount demanded rises.

It is not just price that affects the quantity demanded. Income affects it too. As real income rises, people
buy more of some goods (which economists call normal goods) and less of what are called inferior goods. Ur-
ban mass transit and railroad transportation are classic examples of inferior goods. The usage of both of these
modes of travel declined dramatically in the US as postwar incomes were rising and more people could afford
automobiles.

Another influence on demand is the price of substitutes. When the price of Toyota Tercels rises, all else
being equal, demand for Tercels falls and demand for Nissan Sentras, a substitute, rises. Also important is the
price of complements, or goods that are used together. When the price of gasoline rises, the demand for cars
falls.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What are the basic laws of economics?

2) What does the law of supply state?

3) What does the law of demand say?

4) What is the equilibrium price?

5) What prices would the producers like to charge?
6) What is a “demand curve”?

7) What does the “supply curve” trace?

8) Where do the demand and supply curves intersect?
9) What happens if producers raise prices in the market which is already in equilibrium?
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10) What happens if the producer supplies more goods than is demanded by customers?

2. Fill the blanks with the words from the text.
1) The most basic laws in economics are

of supply and demand.

2) Every economic event is the product of the

3) The law of demand says that the

of the laws of supply and demand.

of'a good demanded falls as the price rises.

4) One function of markets is to find "

" prices that balance the supplies of and demands for

goods and services.
5) An equilibrium price is the one at which each

can sell all he wants to produce and each con-

sumer can buy all he demands.
6) Producers always would like to

7) If producers insist on a higher price,

higher prices.
will buy fewer units.

8) The law of supply puts a similar

on consumers.

9) Consumers always would prefer to pay a lower price than the current one.

10) Economists often talk of supply "

3. Match the parts of the sentences to each other.
1) A demand curve traces the quantity of

2) As the price rises, the number of

3) As the price of one good rises, consumers buy less
of

4) A supply curve traces the quantity of

5) As the price falls, so does the number of

6) Equilibrium is the point at which
7) Markets in which prices can
are always in

8) If the market for a good is already in equilibri-
um and

9) They can reduce price until

10) They can cut production until supply falls to

move freely

" demand "

a) equilibrium or moving toward it.

b) units demanded declines.

¢) units supplied.

d)a good that consumers will buy at various pric-
es.

e) the demand and supply curves intersect.

f) producers raise prices, consumers will buy fewer
units than they did in equilibrium.

g) supply and demand return to the old equilibrium.
h) a good that sellers will produce at various prices.
1) that and more of other goods that now are relative-
ly cheaper.

) the lower number of units demanded at the higher
price.

4. Find the English equivalents of the following Russian words in the text:

1) B3aumoseiicTBUE
2) ycTaHaBIIMBATH
3) moaHUMATHCS

11) ropoxackoii
12) nepeBo3ku

4) mapathb

5) paBHOBecHe

6) ecTecTBEHHBII OanaHc
7) orpaHuyYeHUE

8) HacTOsIIUH, TEKYIIHH

14) pe3ko, BHE3aHO

9) mpocnexuBaTh

10 HazHayaTh (1EHY) 20) 6eH3uH
5. Translate the following sentences into English.

13) sxene3Has qopora

15) no3BossATk cede (4To-J1. NpuoOpecTH)
16) BusiHKME; OKA3bIBAThH BIUSHUE

17) ananor, 3aMEHHUTEIb

18) MOTMOTHUTEIBHBIN JIEMEHT

19) paBHBIi1, 5KBUBAJICHTHBIN

1) Camble OCHOBHBIE 3aKOHBI SKOHOMHUKH — 3TO 3aKOHBI MPEJIOKEHUS U CIIpoca.

2) Jlroboe coObITHE B SKOHOMHKE €CTh PE3Yy/IbTaT B3aUMOJICHCTBUS ATHX JABYX 3aKOHOB.

3) KomudecTBo mpeiaraeMoro Topapa pacTér ¢ pOCTOM PHIHOYHOI [IEHBI U ITaJJaeT CO CHIDKEHHEM IICHBI.

4) 3akoH cmpoca TOBOPHUT, YTO KOJMYECTBO TPEOYEeMBIX TOBApOB YMEHBIIAETCA MO MEpPE pOCTa IIEHBI, W

Ha000pOT.

5) Opna u3 GyHKIUN PhIHKA — HAWTH «PaBHOBECHYIO» ILICHY.

6) «PaBHOBeCHBIE)» LIEHbI OAAHCHUPYIOT TOCTaBKU TOBAPOB M YCIYT U CIPOC Ha HUX.

7) PaBHOBecHas 1ieHa — 3TO LI€HA, 10 KOTOPON Ka)blil MPOU3BOAUTENL MOXKET MPOJaTh BCE, UTO OH XOYET
IPOJIaTh, a KXK/JbIH MOKYNATEJIb — KYIUTh BCE, UTO eMy TpeOyeTcs..

8) EcrtecTBeHHO, MIPOU3BOINUTENH BCETAA XOTAT Ha3HA4YaTh 00Jiee BBICOKUE LIEHBI.

9) Ho, naxxe eciu y HUX HET KOHKYPEHTOB, OHH OTPaHHUYEHbI 3aKOHOM CIIpOCa.

10) Ecniu npouzBoauTens OyaeT HacTauBaTh Ha 0ojiee BHICOKMX LI€HAX, MOKYIaTeNlb IPUOOPETET MEHbLIee KO-

JINYECTBO €AVHULL MPOTYKIUH.

Il Translate the following dialogues from Russian into English:

1. A: [Ilpuser! Kak noxuBaenib?



Xoporo, cnacu0o. A Tbl Kak?

HopmansHo.

Kewm BbI paboTaere?

S menexep 1o paboTe ¢ KIIMEHTaMU.

Bam HpaBuTcs Baia padota?

He ouenp, HO 51 HEMII0X0 3apabaThiBaro.

CeronHs uAET NOXK b, U Mbl HE MOKEM MOUTU MPOTYJISITHCSL.
Her. Jlox b npekpaTuics, mO3TOMY Mbl MOKEM MTOWTH.

T>T>T>>T

Variant 7.
I Read the following text and translate it in writing:
PROFITS

In a market economy, profits are the core aim of economic activities. Those who organize production ef-
forts do so to maximize their income. Their search for profits is guided by the famous "invisible hand" of cap-
italism: the highest profits are to be found in producing the goods and services that potential buyers most want.

Capitalists earn a return on their efforts by providing three productive inputs. First, they are willing to
delay their own personal gratification. Instead of consuming all of their resources today, they save some of to-
day's income and invest those savings in activities (plant and equipment) that will yield goods and services in
the future. When sold, these future goods and services will yield profits that can then be used to finance con-
sumption or additional investment. Put bluntly, the capitalist provides capital by not consuming. Without capi-
tal much less production could occur. As a result some profits are effectively the "wages" paid to those who are
willing to delay their own personal gratification.

Second, some profits are a return to those who take risks. Some investments make a profit and return
what was invested plus a profit, but others don't. When a savings and loan association or an airline goes broke,
the investors in those firms lose their wealth and become poorer. Just as underground miners, who are willing to
perform a dangerous job, get paid more than those who work in safer occupations, so investors who are
willing to invest in risky ventures earn more than those who invest in less risky ones. On average those who
take risks will earn a higher rate of return on their investments than those who invest more conservatively.

Third, some profits are a return to organizational ability, enterprise, and entrepreneurial energy. The en-
trepreneur, by inventing a new product or process, or by organizing the better delivery of an old product, gener-
ates profits. People are willing to pay the entrepreneur because he or she has invented a "better mousetrap."

Economists use the word interest to mean the payment for delayed gratification, and use the word profits
to mean only the earnings that result from risk taking and from entrepreneurship. But in everyday business lan-
guage the owner's return on his or her capital is also called profits. (In business language the lender's return is
called interest, even though most lending also entails some risks.)

Capitalism requires profits, and profits require ownership. Property ownership generates responsibility»
Without ownership no one is really responsible for what is going on in the economy.

The fruit of successful market competition takes the form of profits. By introducing new goods, new
technology, or new forms of organization, or by finding new markets or new sources of raw material, entrepre-
neurs can earn profits. The lure of profits inspires alertness, creativity, judgement, and risk taking. Similarly,
workers who perform better will, all other things being equal, get bigger raises and more promotions.

The pursuit of profits, in the two hundred years since the industrial revolution, has changed the world in
many respects. The horse and wagon have been replaced by the railroad, the automobile, and the airplane. The
open-hearth fire has yielded to the electric stove and microwave oven. The telephone wire and the electromag-
netic wave transmit news that previously travelled by ship or pony. The competitive process that has brought
about these enormous changes is governed by the set of rules that, taken collectively, is called the market econ-
omy or the system of private property. This system recognizes the right of each person to use his property as he
sees fit, and to keep the fruits of his labour. This leaves the worker free to pursue the occupations for which he
thinks himself or herself best suited. It leaves the entrepreneur free to explore new forms of production.

Despite its importance to modern economic life, competition is not the be-all and end-all of economic activity.
The modern market economy is as much a system of cooperation as it is a system of competition. Within the
family and within the firm, between the customer and the supplier, we cooperate to achieve our ends. This co-
operation is as vital as competition to a productive economy.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What is the core aim of economic activity in a market economy?
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2) What do people organize production?

3) Where are the highest profits to be found?

4) Why do capitalists delay their personal gratification?

5) Where do the capitalists invest a part of today's income?

6) Why do people take risks?

7) Why do some investors prefer to invest in risky ventures?

8) Why are people willing to pay entrepreneurs?

9) What is the meaning of the word "interest" for an economist?
10) What is the meaning of the word "profit" for an economist?
2. Fill the blanks with the words from the text.

1) In a market economy, profits are the aim of economic activities.
2) Those who organize production efforts do so to _ their income.
3) Their search for profits is by the famous "invisible hand" of capitalism.
4) The highest profits are to be found in the goods and services that potential buyers most
want.
5) Capitalists earn a on their efforts by providing three productive inputs.
6) Capitalists are willing to their own personal gratification.
7) Instead of consuming all of their today, they save some of today's income.

8) They invest those in activities that will yield goods and services in the future.
9) These future goods and services will profits that can then be used.

10) These money can be used to finance or additional investment.
3. Match the parts of the sentences to each other.

1) Put bluntly, the capitalist provides a) the payment for de layed gratification.
2) Without capital much less b) organizational ability, and entrepreneurial
3) Some profits are a return to energy.
4) Some investments make a profit and return c) what was invested plus a profit.
5) Those who take risks will earn d) what is going on in the economy.
6) Some profits are a return to e) his or her capital is also called profits.
7) People are willing to pay the entrepreneur be- f) capital by not consuming.
cause g) those who take risks.
8) Economists use the word interest to mean h) production could occur.
9) In everyday business language the owner's return | i) higher rate of return.
on e) j) he or she has invented a "better mousetrap."
10) Without ownership no one is really responsible
for
4. Find the English equivalents of the following Russian words in the text:

1) 3apabarbiBaTh 11) 3ammoiaBet, KpeauTop

2) BO3HarpaxJeHue 12) 3aém, kpenut

3) cOepexxeHust 13) mpoBmwkeHue (ToBapa; 1o ciryxoe)

4) notpebnenue 14) ynpaBnartb

5) maxtép 15) BaxHOCTH

6) 3ansrue, npodeccus 16) coTpyaHruecTBO

7) puckoBaHHOE npeanpusTue 17) >KM3HEHHO BaKHBII

8) cpenHuit 18) cbipné

9) nocraBka, mocTaBka 19) cytb

10 uHTEpec, MpoueHTHAs 20) rnaBHas 11€Tb

5. Translate the following sentences into English.

1) Ux crpemiieHue K npuObUIM BEJOMO 3HAMEHUTON «HEBUAUMOM PyKOID» KanuTanusma.

2) bes kanuTana OyAeT NpoU3BOAUTHCS TOPa3ao MEHbIIIE.

3) I'py6o roBops, KamUTAIUCT MPEIOCTABISAET KAKUTal IOTOMY, YTO HE IOTPEOIISIET.

4) Korpaa kpeauTHO-cOeperaTenbHbIi COI03 TEPIUT KPax, €r0 UHBECTOPHI TEPSIOT CBOU JIECHBIH.

5) HekoTopsie BUJIBI 10X0/1a — 3TO NPUOBLIBL TEX, KTO OEpET Ha ce0st PUCKHU.

6) OnHu cTpemsTCcs Ha BpeMs OTJIOKUTH CBOE JIMYHOE BO3HATPAXKICHUE.

7) HexoTopsle BUIbl MHBECTHULIMM MPUHOCAT NMPUObUIL U BO3BPAILLAIOT UHBECTOpPAM TO, YTO OBLIO MHBECTU-
POBaHO, IUTIOC NPUOBLIb.
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8) Jlroau XOTAT IUIaTUTh NPEAIPUHUMATENIO IIOTOMY, YTO OH WJIM OHA N300pEH «IYYIIYO MBILIEIOBKY.
9) byayuu npoiaHHBIMH, 3TH OyAyIIHE TOBAPHI WM YCIYTU MPUHECYT MPUObLIb, KOTOPask MOXKET ObITh HC-
0JIb30BaHa /Ui (pUHAHCUPOBAHUS MOTPEOJICHUS WIN JUI JOTIOJHUTEILHOTO HHBECTUPOBAHHUSL.
10) B yciioBUsSIX ppIHOYHOM SKOHOMHKH MPUOBLIbL €CTh IVIaBHAS 11€7b 3KOHOMUYECKOW aKTUBHOCTH.
Il Translate the following dialogues from Russian into English:
1. A: Ceroans npekpacHas 1moroja.
: O, ma! Iloroma nmpocto npekpacHas. [laBaii moiaém mporymnseMcs.

B
2. A: Kakue 11sera B MOJIe B ’TOM Ce30HE?

B: Bopnosslii (TEMHO-KpacHBIN) U CEPHIH.
3. A: [Ilpuser! Yto HOBOro?

B: Hwuuero ocobennoro.

Variant 8.
I Read the following text and translate it in writing:
INVESTMENT

In the United States, investment accounts for about one-sixth of gross national product (GNP). Yet in-
vestment occupies a much more important role in policy discussions than this share of production might sug-
gest. The two main reasons for this are that investment is volatile and, therefore, a cause of business fluctua-
tions, and that investment contributes to economic growth.

Concern with these issues of business cycles and growth has led to very active tax policy toward invest-
ment during the postwar years, as a succession of governments has tried to influence the level, pattern, and tim-
ing of investment spending. Such policies have been effective. At the same time many other, uncontrollable
factors continue to influence investment.

Although in general the word investment may denote many types of economic activity, economists usu-
ally use the term to describe the purchase of durable goods by households, businesses, and governments. Pri-
vate investment is commonly divided into three broad categories: residential investment, which accounts for
about a quarter of all private investment (in the USA 25.7 percent in 1990); nonresidential, or business, fixed
investment, which accounts for most of the remainder; and inventory investment, which is small but volatile.
Business fixed investment, in turn, is composed of equipment and nonresidential structures. Equipment now
makes up over three-quarters of business investment.

Investment helps increase productivity by raising the level of capital per worker and, perhaps, hastening
the adoption of new technologies.

One more reason for so much interest in investment behaviour is its apparent role in influencing busi-
ness cycles. Investment is a volatile component of GNP, falling sharply during recessions and rising just as
sharply during booms. As the economy went into a deep recession in the early eighties, for example, real GNP
in the USA fell 3 percent between 1981 and 1982, but investment fell in real terms by 18 percent. In the follow-
ing year, as the expansion began, GNP rose 4 percent while investment rose 13 percent.

Why is investment so volatile? The key lies in the nature of the investment process. Investment deci-
sions often require long lead times, and their consequences are as durable as the investment goods themselves.

While fluctuations in output exert a strong influence on investment behaviour, the costs of investing
matter, too. These costs include the prices of capital goods themselves, as well as interest rates, required returns
to equity owners, and the taxes that firms must pay on the profits that the investments generate.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) How much of the USA GNP does investment account for?

2) Why does investment cause business fluctuations?

3) What have the US governments been trying to influence during the postwar years?

4) What do economists describe with the term "investment"?

5) What categories is the private investment commonly divided into?

6) How much of the US total private investment does residential investment account for?
7) What is business fixed investment composed of?

8) How does investment influence business cycles?

9) Why is investment so volatile?

10) What do the costs of investing include?

2. Fill the blanks with the words from the text.

1) Investment occupies a much more important role in policy discussions than this share of production
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might .
2) Investment is
3) A succession of governments has tried to
ing.

4) At the same time many other,

and, therefore, it causes business fluctuations.

the level, pattern, and timing of investment spend-

factors continue to influence investment.

5) Private investment is commonly

into three broad categories.

6) Business fixed investment is

7) Investment helps increase productivity by raising the
component of GNP.

8) Investment is a
9) Investment decisions often require long

10) The consequences of investment decisions are as

3. Match the parts of the sentences to each other.
1) Investment accounts for about one-sixth of

of equipment and nonresidential structures.
of capital per worker.

times.
as the investment goods themselves.

a) long lead times.

2) Investment contributes to

3) Concern with these issues led to

4) Many uncontrollable factors continue to

5) Economists usually use the term to describe

6) Residential investment accounts for

7) Equipment now makes up

8) Investment helps increase productivity by rais-
ing

b) the level of -capital per worker.

c) over three-quarters of business investment.

d)a strong influence on investment behav-
iour.

e) very active tax policy.

f) influence investment.
g) economic growth.
h) gross national product.
9) Investment decisions often require 1) about a quarter of all private investment.

10) Fluctuations in output exert J) the purchase of durable goods.
4. Find the English equivalents of the following Russian words in the text:

1) monutuka 11) ocratox

2) nosi, aKius 12) obopynoBanue

3) konebaHue 13) cnan (B 5KOHOMUKE)
14) 6ym (moabEM B SKOHOMHUKE)
15) pacmmpenue, SKCIIaHCHs
16) TpeboBathb
17) cnenctBue, mocneaCTBUE
18) cyTb, nemno

9) pacmpeneneHue mo 19) BasoBO#1 HAITMOHAIBHBINA TTPOTYKT

10 momaniHee X03s11CTBO 20) mpo1ieHTHAas CTaBKa
5. Translate the following sentences into English.

1) B CIIA uaBecTUIINH COCTABISIOT OKOJIO OJHOM MIECTOW YaCTH BaJIOBOTO HAIMOHAIBHOTO MPOAYKTA.
2) HMuBecTuuuu SBISIOTCS UICTOYHUKOM KoJiebaHui B cdepe Ou3Heca.
3) 0O3a004YeHHOCTh 3TUMH BONPOCAMHU INPUBENIA K OUEHb aKTUBHBIM JUCKYCCHSM B c(epe MOJUTHUKU HAJIOro-
00J10KeHusl.
4) B TO xe BpeMs MHOTHE JIpyrue, HEeKOHTPOJIUPYeMble (haKTOPHI MPOIOIDKAIOT OKA3bIBATh BIMSHIE HA HHBE-
CTHILIUH.
5) CnoBO «MHBECTHIIHS» MOKET 0003HaYaTh MHOTHE BUIBI SKOHOMUYECKOH aKTHBHOCTH.

6) OKOHOMMCTBI OOBIYHO MCHOJIB3YIOT 3TOT TEPMUH JUIsl 0003HAUEHUSI OKYIIKA TOBApOB JIUTEIBHOIO HOJIb-
30BaHMS.

7) YacTHbIe HHBECTUIIMH OOBIYHO MOIPA3IEIAIOTCS Ha TPU MIMPOKHUE KaTEeTOPHUH.

8) OO0opynoBaHKE COCTABISET ceyac OKOJIO TPEX YeTBEPTEH MHBECTULIMI B OH3HEC.

9) HWHBecTHIMH MOMOTAIOT YBEIHMUUTH POU3BOIUTEIBHOCTD MMYTEM YBEIWYCHUS 00bEMA KanuTaga Ha OJHOTO
pabouero.

10) MlHBeCTUIIMOHHBIE pEelIeHUs UIsl CBOEr0 BHEAPEHUS 4acTO TPEOYIOT A0JIT0T0 BPEMEHH.
I Translate the following dialogues from Russian into English:

1. CkonpKko BaM Jjiet?
MHe Tpuauars aBsa.
Br1 3amyxem?
a, v y MeHs 1BO€ AeTeH.
UYem BBl 3aHUMaETECH?

4) BHOCHTB, JIOTIOJHATH
5) poct

6) mocneaoBaTeIbHOCTD
7) BIHMsHUE; BIUATH

8) Monens, cxema

el e
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S nomoxo3sika.

Br1 mo0ute ecth Te-HuOy b B pecTopaHe wim kade?

O na. 5l yacTo BBIXOXKY Ky/a-HUOY/b ITOYKUHATh.

Kakyto KyxHI0 BBI IpeanoynrTaere?

S npeanoyuTaro TPagUIMOHHYIO PYCCKYIO KYXHIO.

Mot npyr nepeexasl B AHIIINIO MPOIUION 3UMOM.

[Touemy?

OH moTyqnJ1 IpeIoKEHne 0 padoTe.

Kak emy Oputanckuii kinumar?

OH roBOpUT, UTO KIMMAT yXacHbId. Bc€ Bpemst uaér noxap.

(98]
ZIE>I>IT>T>T

Variant 9.
I Read the following text and translate it in writing:
MONEY

Money supply in most countries comprises currency — bills and coins issued by the Central Bank
and/or the Treasury — and various kinds of deposits held by the public at commercial banks and other deposi-
tory institutions such as savings and loans and credit unions. In the USA, for example, on June 30, 1990, the
money supply, measured as the sum of currency and checking account deposits, totalled $809 billion. Including
some types of savings deposits, the money supply totalled $3,272 billion. An even broader measure totaled
$4,066 billion.

The definition of money has varied. For centuries physical commodities, most commonly silver or gold,
served as money. Later, when paper money and checkable deposits were introduced, they were convertible into
commodity money. The abandonment of convertibility of money into a commodity made paper money the main
financial instrument around the world. To regulate the national economy and influence the world trade national
monetary authorities have the power to issue paper money without legal constraints.

Because money is used in all economic transactions, it has a powerful effect on economic activity. An
increase in the supply of money puts more money in the hands of consumers, making them feel wealthier, thus
stimulating increased spending. Business firms respond to increased sales by ordering more raw materials and
increasing production. The spread of business activity increases the demand for labour and raises the demand
for capital goods. In a booming economy, stock market prices rise and firms issue equity and debt. If the money
supply continues to expand, prices begin to rise, especially if output growth reaches capacity limits. As the pub-
lic begins to expect inflation, lenders insist on higher interest rates to offset an expected decline in purchasing
power over the life of their loans.

Opposite effects occur when the supply of money falls, or when its rate of growth declines. Economic
activity declines and either disinflation (reduced inflation) or deflation (falling prices) results.

The most important determinant of the money supply is the Central Bank.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What does money supply in most countries comprise?

2) What institutions issue currency?

3) How much money did the USA have on June 30, 1990?

4) What physical commodities were used for money?

5) What made paper money the main financial instrument around the world?
6) How does the increase in the money supply affect the economy?

7) What effects may the increased money supply lead to?

8) What is the difference between disinflation and deflation?

9) What happens when the money supply falls?

10) What institution determines the money supply?

2. Fill the blanks with the words from the text.

1) Various kinds of deposits are held by the public at commercial banks and other depository .
such as savings and loans and credit unions.

2) Inthe USA, on June 30, 1990, the money supply, measured as the of currency and
checking account deposits, totalled $809 billion.

3) The of money has varied.

4) When paper money and checkable deposits were introduced, they were into commodi-
ty money.
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5) The abandonment of convertibility of money into a commodity made money the main financial
instrument around the world.

6) National monetary authorities have the power to issue paper money without constraints.
7) An increase in the supply of money puts more money in the hands of consumers, making them feel wealthi-
er, thus increased spending.

8) The spread of business activity increases the demand for labour and raises the demand for goods.
9) If the money supply continues to , prices begin to rise.

10) Economic activity declines and either or deflation results.
3. Match the parts of the sentences to each other.

1) Money supply in most countries comprises a) either  disinflation or deflation results.
2) The money  supply, measured as b) firms issue equity and debt.
3) The definition of money has c) the sum of currency and checking ac-
4) When paper money was introduced, it was converti- count deposits, totalled $809 billion.
ble into d) currency.
5) Business firms respond to increased sales by ordering e) varied.
more f) an expected decline in purchasing
6) In a booming economy, stock market prices rise and power.
7) If the money supply continues to expand, g) the money supply is the Central Bank.
8) Lenders insist on higher interest rates to offset h) commodity money.
7) 9) Economic activity declines and 1) raw materials.

10) The most important determinant of J) prices begin to rise.
4. Find the English equivalents of the following Russian words in the text:

1) KasnaueiictBo 11) pactipenensitsb

2) NIeno3uT, BKJIAJ 12) noxr, nonroBoe 00A3aTENBCTBO

3) muumapa (amep.) 13) moutHOCTh, 00BEM

4) cepebpo 14) nadusmms

5) 3070TO 15) xomneHcUpoBaTh, BO3MELIATh

6) KOHBEPTHPYEMBIil 16) magenue, ynaaok

7) NeHeXHBbII 17) 3aém

8) BiacTu, aMUHHUCTPALS 18) cHmkeHue ypoBHs UH(IALUN

9) 3aKOHHBIH, FOPUINUECKUIA 19) Texymuii cuér

10 cnenka, onepanus 20) duznueckue ToBapsl

5. Translate the following sentences into English.

1) Hacenenue aepKUT BKJIAAbl B pa3IMYHbBIX JETIO3UTAPHBIX OPTaHU3ALMSIX, TAKUX KaK KOMMepUYeCKue OaHKw,
coeperareibHble U KPEAUTHBIE COIO3bI.

2) JlenexHas Macca, u3MepsieMasi Kak CyMMa BaJlOThl M BKJIAJ0B M0 TEKYIIUM cyeTaM, cocTasiisiia Bcero 900
MUJLIHAPAOB J0JIAPOB.

3) Ota cymMa BKIIIOYAET HEKOTOPbIE BU/IbI COEperaTesbHbIX JEMO3UTOB.

4) B TeueHue cTosieTuil pU3nYECKUe TOBAPHI, YaLIE BCETO 30JI0TO U cepedpo, CIYKUIIU B KAYECTBE JICHET.

5) Ilo3nuee, koraa ObUTH BBEACHBI OyMa)kKHBIC IEHBIU, OHU MOTJIH OBITh OOpAIlleHbl B TOBAPHBIC ICHBTH.

6) B wmemsx peryiaupoBaHus HAalMOHAJIBHON IKOHOMHUKU HallMOHAJIbHbIE (DMHAHCOBBIE OpPraHbl HAJENIAIOTCS
MTOJIHOMOYHSIMU IO BBITYCKY OyMa)KHBIX JICHET.

7) Tak kak AE€HBIU MCIOJIB3YIOTCS BO BCEX SKOHOMHUYECKHX OMNEPALUSX, OHM OKa3bIBAIOT MOIIHOE BO3-
NeCTBHE Ha SKOHOMHUYECKYIO JI€ATEIbHOCTbD.

8) Kommanuu oTBeudaroT Ha pocT 00bEMA MPOJIAK, 3aKa3biBasi 00JIbIIEE KOJIUYECTBO ChIPBS.

9) Poct nenoBoii akTUBHOCTH YBEIUYMBAET CIPOC HA padOuyl0 CHUIIY U MOJHUMAET CIIPOC HA OCHOBHBIE (DOH-
TIBL.

10) B sxoHOMUKE, NIEepeKuBaroLel MoabEM, 1IEHbI (DOHIOBOTO PhIHKA PACTyT, U KOMIIAHUU BBITYCKAIOT aKIUU
1 o0nuranuu.

I Translate the following dialogues from Russian into English:

I. Hcnanus — oHO M3 caMbIX NOMYJIPHBIX TYPUCTHMUECKUX HampaBiieHUW. Bbl korjga-HuOydb

ObUTH TaM?

Tonpko oMH pa3.

Bam nonpasuiiocs?

Ha, oueHb. X0Tsl ObLIO OYEHb KAPKO.

@ > >
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Tebe HpaBUTCS MEKCUKAHCKasl KyXHs?

Hert, He oycHs.

[Touemy? OHa O4€Hb MOMYIISIPHA.

OHa cuuIKoM ocTpas Uit MeHs. S mpenounTao UTAIbIHCKYIO KYXHIO.

3npaBcTByiite, cap! S mory Bam nomoup?

Ha, noxamnyiicra. S uiy MyKCKOil KOCTIOM.

Cnenyiite 3a MHOM. [locMOTpUTE Ha ATH KOCTIOMBI, C3p. Y HAc 3/1eCh MPEACTABIEHBI JTydlIne
OpeHIbI.

Yro BbI mopekoMeHyeTe?

[Touemy Obl BaM He IPUMEPUTH OJIMH U3 KOCTIOMOB ApMaHu?

(98]
ZEZ>I>I>T >

Variant 10.
I Read the following text and translate it in writing:
MONEY

Basically, money or funds go into purchasing assets, paying operating expenses and producing income.
The operating expenses include the cost of materials and supplies. The manufacturer also must pay employee
wages, rent or mortgage, insurance premiums and utility bills.

Small firms sometimes operate on a cash basis. They neither obtain credit, nor borrow money. Other
firms extend their resources through the use of credit. The owner of the firm invests some of his own money
and has a lot more of other people's.

The businesses use money to buy assets like land, buildings and furnishings, and tools, machines, and
equipment. The manufacturer sometimes buys them with mortgage loans which he secures by the building or
the equipment itself. In other words, the bank or insurance company really owns the property until the manufac-
turer has paid the mortgage in full. The use of debt, or credit, increases both the assets and the income of the
purchaser. The use of borrowed money to make more money is called leverage. Big companies issue securities
to attract funds from other companies and the public. Securities are traded on the open market.

New businesses can start with the businessman's own assets. Start-up financing may also come from rel-
atives and friends. The larger firms can obtain funds from venture capital investors. These financial intermedi-
aries specialize in funding ventures with good promise and invest in businesses which generate high profits
within five years.

Initially venture capital firms invested in high-tech industries, but now other branches enjoy this kind of
financial aid, especially those working in the health-care field.

Funds can also be borrowed from the bank. In order to provide a loan, a bank must have funds to lend.
This comes from paid-in capital, earnings of the previous years and the bank's customers' deposits. The banker
always remembers that the money he lends is not his bank's own money. It is money deposited by the bank's
customers, whether in a demand or time account. This idea limits the risk that a commercial banker will take.

To evaluate the risk, a banker must first obtain certain basic information about the potential borrower:
how much money the borrower needs, the purpose and the term of the loan, and how the borrower will repay
the loan. The banker evaluates the three C's of credit: character, capacity and capital — the integrity of the bor-
rower, his ability to repay, and the soundness of his financial position.

The integrity of the borrower is determined by previous loans and by his standing with other banks.
Everywhere in the world banks exchange credit information with each other.

The borrower's ability to repay depends on the purpose of the loan.

The financial position of the borrower is determined on the basis of his financial statement. This consists
of a detailed balance sheet and a profit and loss statement. The bank demands an audited financial statement
covering the previous three years.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) Where does money go basically?

2) What basis do small firms operate on sometimes?

3) How do businessmen secure mortgage loans?

4) What term do they use to define the use of borrowed money?

5) How do big companies attract money from other companies and the public?
6) Who do venture capital investors lend funds to?

7) What idea limits the risk that a commercial banker will take?

8) Where do banks get money from to offer as loans to the borrowers?
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9) How does a banker evaluate the risk he or she has to take?
10) What basis is the borrower's financial position determined on?
2. Fill the blanks with the words from the text.

1) Money or funds go into purchasing ,paying operating expenses and producing in-
come.

2) The manufacturer also must pay employee wages, rent or. , Insurance premiums and utility
bills.

3) Small firms sometimes operate on a basis.

4) Other firms their through the use of credit.

5) The manufacturer sometimes buys land, buildings and with mortgage loans which he by

the building or the equipment itself.

6) The use of , or credit, increases both the assets and the income of the purchaser.

7) The use of borrowed money to make more money is called .

8) Venture capital investors in funding ventures with good promise.

9) In order to a loan, a bank must have funds to lend.

10) The banker lends the money deposited by the bank's customers, whether ina or time
account.

3. Match the parts of the sentences to each other.

1) The operating expenses include a) the risk that a commercial banker will take.

2) Other firms extend their resources through  b) the property until the manufacturer has paid the mortgage
3) The bank or insurance company really in full.

owns c) the cost of materials and supplies.
4) Big companies issue securities to attract d) the purpose of the loan.
5) New businesses can start with e) the use of credit.
6) Initially venture capital firms invested in f) previous loans and by his standing with other banks.
7) The banker always remembers that g) the businessman's own assets.

8) This idea limits h) funds from other companies and the public.
9) The integrity of the borrower is determined 1) the money he lends is not his bank's own money.
by ) high-tech industries.

10) The borrower's ability to repay depends
on
4. Find the English equivalents of the following Russian words in the text:

1) akTuBBI 11) pacmaunBatbes, BO3BpaIlaTh JeHbIU

2) WINOTeKa, UIIOTEYHbIN KPEeIUT 12) 3asBnenue, nexnapanus

3) cTpaxoBaHue 13) noreps, yrpata

4) KOMMYHaJIbHbIE YCIIYTH 14) npoBepsTh PUHAHCOBOE COCTOSIHUE

5) 3aHMMATh B JOJT 15) crpaxoBas nmpemust

6) HEmpoU3BOJICTBEHHOE 16) crapToBoe (hpuHaHCUPOBaHUE

7) ueHHas Oymara 17) xopo1iue nepcrneKTUBbI

8) poaCTBEHHUK 18) BEICOKOTEXHOJIOTUUHBII

9) nmocpenHuk 19) cpouHsbIit 1eno3uT

10 BeTBB, OTPACIB 20) npexyiapalusi 10X0J0B U YOBITKOB

5. Translate the following sentences into English.

1) B ocHOBHOM jaeHexHbIEe cpelacTBa (Miau (OH/bI) UAYT HA NPUOOpPETEHHE aKTHBOB, OIUIATY ONEPALIMOHHBIX
U3JIEP’KEK U MPOU3BOJICTBO MPUOBLIN.

2) Ilpoumne KOMIIaHUU YBEITUYUBAIOT CBOM PECYPCHI 32 CUET UCIIOJIb30BAHUS KPEIUTA.

3) Huorma mpou3BOAMTENb MPUOOPETAET UX 33 CUET UMIOTECYHOTO KPEauTa, KOTOPHIA OH 00eCreYynBaeT CaMuM
3/laHUuEM WM 000PYIOBAHUEM.

4) WupiMu cioBaMy, OaHK WM CTPaxoBas KOMIIAHUS B JIEUCTBUTEIBHOCTHU BJIAJICIOT COOCTBEHHOCTHIO J0 Te€X
0P, IOKa MPOU3BOIUTENb MOJTHOCTHIO HE PACIUIATUTCS 10 UIOTEYHOMY KPEIUTY.

5) KpynHble KOMIaHUM BBITYCKAIOT LIEHHbIE OyMaru Jjsl MPHUBJIEUEHUS CPEICTB OT APYTUX KOMIIAHUH U OT
HacCeJICHUS.

6) OTu (¢uUHAHCOBBIE NOCPEAHUKH CIELUATU3UPYIOTCS B (PUHAHCUPOBAHUM PUCKOBAHHBIX MPEANPUATHH,
MMEIOILIUX XOPOUINE NEPCIIEKTUBBI, U BKJIAJAbIBAIOT CPEACTBA B OM3HEC, KOTOPBIA 00ecreunBaeT BHICOKUN ypo-
BEHb MPUOBLIN B TEUEHUE MSATH JIET.
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7) YtoOBI IpeAoCTaBUTh KPEIUT, OAHK JOJIKEH UMETh (DOH/IBI.

8) bankup Bcerga NOMHHT, 4TO JIEHBI'M, KOTOpPBIE OH JAa€T B KaU€CTBE KPEAUTA, HE ABJIAIOTCS COOCTBEHHBIMU
IeHpbraMu OaHKa.

9) HanéxHocTb 3aéMIIMKa ONpPEAEseTCsl €ro KpeAUTHOM UCTOpHUEH, a TaKkKe ero pemyraiueil y apyrux OaH-

KOB.

10) ®uHaHCOBOE TOJIOKEHUE 3aEMIIIUKA OTIPECISIETCS] HA OCHOBE €r0 (PMHAHCOBOTO OTUYETA.
I Translate the following dialogues from Russian into English:

I.
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JlaBaiiTe cxouM Kyaa-HUOY/b MOYKUHAEM.

Kyna Bb1 X0THTE TIOWTH?

S 3Ha10 OJIHO OYEHBb XOPOIIIEe MECTO HENAJIEKO OTCI0/IAa. TaM TOTOBST OY€Hb BKYCHYIO CPEIU-
36MHOMOPCKYIO €11y.

Kewm BbI paboTaere?

A koHCcynbTaHT 10 OM3Hecy. S pabortaro B 00bIIOi KoMnanuu. S paboTaro MOJHBIN JeHb. A
BBI?

A nu3aiinep uHTEphEepoB. B naHHbBI MOMEHT 51 HEe paboTato. S uiry padory.

B nponiom roay BecHa Oblia O9€Hb XOJIOTHAS.

A B 3TOM rOIy?

B 3TOM roiy HaM MOBE3JI0 — MHOTO COJIHIA U JIOKIb UAET HE YaCTO.

BOl'[pOCbI AJISl MOJATOTOBKH K 3a4€Ty

2 cemecTp
Management.
Wms cymiecTBUTENbHOE, 00IINE CBEACHMUS.
Hcuaucnsemblie 1 HEHUCUHUCIISIEMbIE CYIIECTBUTEIbHEIE.
O06pa3zoBaHNEe MHOKECTBEHHOT'O UMCa UMEH CYIIECTBUTENbHBIX.
[TpuTsoxaTenbHBIN MaJeK UMEH CYIIeCTBUTEIbHBIX.
[TopsnoK CIIOB B aHIIIMHCKOM MPEUIOKEHUU.
Human Resources (HR).
Mecronmenus (JIMUHBIC, TPUTSDKATENBHBIC, YKa3aTeIbHBIC).
MectoumMenus (BOPOCUTENIbHbIE, BO3BPATHbIE).
. KonmnyecrBennble MecToMMEHUSI.
. Heompenenénusie MecTonMeHus some, any, OTPHIATEIbHOE MECTOMMEHHE NO.
. Marketing.
. KonngectBeHHbIe YnCIUTENBHBIC.
. IlopsiaKOBBIE YUCTUTETBHBIE.
Cropspkenue U ynotpebienue riaroja to be.
Cropsoxenue u ynotpebienue riaroa to have.
Public Relations.
OCHOBHBIE THITBI BOMIPOCHTEIHHBIX TPEIIOKEHHIA.
. Mass Media.
. Aptukib. YotpeOieHue OnpeeICHHOTO W HEOIPEICICHHOTO ap THKIIAL.
. YnotpebieHue apTukis ¢ reorpapuuecKuMH Ha3BaHUSIMH.
. Evolution of Public Administration.
. Hacrosmue Bpemena. VYmorpebienue u cmocoOsl oOpazoBanusi (Present Simple, Present
Continuous).
. Hacrosmue Bpemena. Ynorpebnenue u criocodsr oopazoBanus (Present Perfect, Present Perfect Con-
tinuous).
. State Structure: the USA.

KpuTepml OIICHUBAHHUA 0TBETA HA 3a4Y€TE

3auer - (hopMa MPOMEXKYTOUYHOW aTTECTallMH, B pPe3yjbTaTe KOTOPOro OO0y4aromMil MOJIy4yaeT OLIEHKY B
NBYXO0a/UTbHOM MIKaNe («3a4TEHOY, «HE 3aUTCHOY).
OrneHka «3auTeHO0» CTaBUTCS CTYJEHTY, KOTOPBIA MPOYHO YCBOMJI MPEyCMOTPEHHBIM MPOrpaMMHBIH Ma-

Tepua;

CBOOOJTHO OPUEHTHPYETCS B M3JIaraeMOM MaTepualie, MCMOJb3yeT JIEKCUUECKU MaTepuan, COOTBET-
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CTBYIOIIUH TpeOOBaHUAM y4EOHOUM MpOrpaMMoOi MO JUCHHUILIIMHE; MPAaBWIBHO, apryMEHTHPOBAHO OTBETHJI Ha
BCE€ BOIIPOCHI, C IPUBEIACHUEM MPUMEPOB; MPU BHICKA3BIBAHUH HA 33JJaHHYIO TEMY HMCIOJIb3yeT CIOKHBIE TPaM-
MAaTUYECKHE KOHCTPYKIIUHU (CIIOXKHBIE MPEIIOKEHN, WHOUHUTHBHBIE 000OPOTHI  T.I1.); HE JOIYCKAaeT rpaMmma-
TUYECKHE ONIMOKU, MCKaKAIOIMMX CMBICK; 0€3 OmMuOOK BBITIOJHWI TpakTudeckoe 3amanue. O0si3aTenbHbIM
YCJIIOBHEM BBICTABJIICHHOW OIIEHKH SIBIISICTCS MPABWIbHASI peUb B OBICTPOM WJIM yMEPEHHOM Temrie. JomoHu-
TEIBHBIM YCIIOBUEM TIOJIYUCHHUSI OIICHKH «3a4TEHO» MOTYT CTaTh XOPOIIKE YCIIEXH MPU BBIMOJIHEHUN CaMOCTOSI-
TEITLHON M KOHTPOJBHOM pabOThI, CHCTEMAaTHYECKasi aKTUBHAS padoTa Ha TaOOPATOPHBIX 3aHATHSX.

OreHKa «HE 3a4T€HO» CTABUTCS CTYACHTY, UMEIOIIEMY CYIIECTBEHHBIE MPOOENbl B 3HAHUH OCHOBHOTO
Marepuasa 1o mporpaMmme, a TakKe JOMYCTUBIIEMY MPUHIIMITHATBHBIC OITMOKU TP M3JI0’)KCHUH MaTepuara.

OneHouHbIE CpeACTBA JUIsl MHBAJIUAOB U JIUL C OTPAaHUYEHHBIMU BO3MOXKHOCTSIMU 3/10pPOBbsI BBIOMPAIOTCS
C YYETOM UX UHJIUBUIYAIbHBIX ICUX0(PU3NIECKHX 0COOEHHOCTEH.

— IIpU HEOOXOAMMOCTH MHBAJIMJIAM U JIMIIAM C OIPaHUYEHHBIMU BO3MOKHOCTSIMU 3/J0POBbS IIPEIOCTABIIS-
€TCsl IONOJHUTENILHOE BpeMs IS [TOATOTOBKU OTBETA Ha 3a4ETeE;

— IpY MIPOBEJIEHUU IPOLIEAYPhI OLIEHUBAHUS PE3YJIbTATOB 00YyUEHHS] HHBAIMUJIOB U JIUL C OTPaHUYEHHBIMU
BO3MOXHOCTSIMU 3JI0pPOBBSl IIPEyCMAaTPUBAETCSI UCIOJIb30BAHUE TEXHUYECKUX CPEACTB, HEOOXOIMMBIX UM B
CBSI3M C UX UHJUBUIYAIbHBIMU OCOOEHHOCTSAMU;

— IpU HEOOXOAUMOCTH I 00YYarOIIUXCsl ¢ OTPAaHUYEHHBIMU BO3MOKHOCTSIMHU 3/I0POBBSI U MHBAJIHJIOB
MpoLEypa OLEHUBAHUS PE3YIbTATOB 00YUEHUS MO TUCHUIUIMHE MOKET IPOBOJAUTHCSA B HECKOJIBKO JTAIOB.

[Ipouenypa oueHuBaHUs pe3yJbTaTOB OOy4eHUS! WHBAJIUIOB U JIUI C OTPAHUYEHHBIMU BO3MOXKHOCTSIMU
3I0pOBbsSI 10 JUCLMILIMHE (MOIYII0) MpeaycMaTpUBaeT IpeaocTaBiieHne nHpopMauuu B Gpopmax, ajantupo-
BAHHBIX K OTPAaHUYEHUSAM UX 3710POBbsI U BOCHPUATUS HH(OPMALIUU:

Jjig U1 ¢ HapyIIEHUSIMU 3PEHUS:

— B IIeYaTHOM opMe yBEIUYEHHBIM LIPUPTOM,

— B (hopMe JIEKTPOHHOTO JOKYMEHTA.

JList AL ¢ HapyHIEHUsIMHU CITyXa:

— B IIe4aTHOM dopme,

— B (hopMe JIEKTPOHHOT'O JOKYMEHTA.

Jljig U1 ¢ HapyIIEHUSIMH ONIOPHO-JIBUTaTEILHOTO anmnapara:

— B IIe4aTHOM dopme,

— B (hopMe 3JIEKTPOHHOTO JOKYMEHTA.

JlaHHbBIN TIepeYeHb MOXKET ObITh KOHKPETU3UPOBAH B 3aBUCUMOCTH OT KOHTUHI€HTA 00yJaroInXCsl.

KonrpoJsbHas padora

3 cemecTtp

BapuanTt BbiOupaetcs no nocineanen nudpe 3auetHod kHwkku: 1-Bapuant 1, 2-Bapuanr 2, 3-Bapuant
3, 4-Bapuanr 4, 5-Bapuant 5, 6-Bapuanr 6, 7-Bapuanrt 7, 8-Bapuant 8, 9-Bapuant 9, 0-Bapuant 10.

Kaxxnas pabota BbINnosHseTCA B Ie4aTHOM Buje Ha Jinctax popmarta A4. TUTyapHBIN JUCT 0dopMIIsieT-
csi o oOmuM TpeGoBaHWsM. [Ipy BBIIOJHEHWH KOHTPOJBHOW PabOTHI CIEAYeT TMOJHOCTBHIO IMEPEnUCHIBATH
(bopMyITHPOBKY 3aJaHUN. BBITIOIHSS TIEpeBOT TEKCTA, CIIEAYET CHadala mucaTh Ha3BaHUE TEKCTa MO-aHTIIMHCKU
C TIEPEBOJIOM, a 3aTeM UepeZioBaTh a03allbl TEKCTA U UX TIEPEBO/I.

Ecin BBITIOJIHEH HECOOTBETCTBYIOIIUI BapuaHT, paboTa HEMpPaBWIBHO O(OpMIICHA WM BBIIIOJHEHA HE
MOJTHOCTBIO0, OHA BO3BpaIiaercs st nopabotku. Ecim pabora He 3auTeHa, ee cieIyeT BBIIOJIHATh 3aHOBO, YUH-
THIBasi 3AMEYAHHUS PELICH3EHTA

Variant 1.
I Read the following text and translate it in writing;
THE FINANCIAL MANAGEMENT

The seasonal financial needs of a company may be covered by short-term sources of funds. The compa-
ny must pay them off within a year. Businesses spend these funds on salaries and for emergencies. The most
popular outside sources of short-term financing are trade credits, loans, factors, finance companies and gov-
ernment sources.

About 85 percent of all US business transactions involve some sort of trade credit. When a business or-
ders goods or services, it doesn't normally pay for them. The supplier provides them with an invoice requesting
payment within a settled period, say, thirty days. During this period the buyer uses goods and services without
paying for them.
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Commercial banks lend money to their customers by direct loans or by setting up lines of credit. A line
of credit is the amount a customer can borrow without making a new request, simply by notifying the bank.

Sometimes a company might sell its accounts receivable to a special financial broker — a factor. The
factor immediately pays the cash, usually 50 to 80 percent of the accounts receivable.

If a company needs funds to construct a new assembly line or to do research and development which
may not bring in revenues for several years, it will need long-term sources of funds.

It can do it by getting loans or issuing bonds.

A long term loan may have maturity of from one to ten years. Within this period the firm pays interest
on debt. The maturity of bonds may be up to ten or even thirty years. The bond is a secured one if the company
pledges collateral to secure the debt. Huge corporations with excellent credit history issue unsecured bonds
which are called debentures.

The company can pay a predetermined interest rest (the coupon rate) according to the agreement which
specifies the terms of the bond issue.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) How can seasonal financial needs of a company be covered?

2) What are the most popular outside sources of short-term financing?
3) What is trade credit?

4) In what way can a commercial bank lend its money to customers?
5) How does a credit line work?

6) How much does a factor pay on accounts receivable?

7) How can a company raise long-term money?

8) What is maturity?

9) How can a company secure its debt?

10) Why do huge corporations issue unsecured debt?

2. Fill the blanks with the words from the text.

1) The seasonal financial needs of a company may be by short-term sources of funds.
2) Businesses spend these funds on salaries and for .

3) The most popular outside source of short-term financing is credit.

4) When a business goods or services, it doesn't normally pay for them.

5) The supplier provides them with an requesting payment within a settled period.
6) Commercial banks lend money to their customers by loans.

7) Sometimes a company might sell its accounts to a factor.

8) A company can get long-term financing by bonds.

9) The of bonds may be up to ten or even thirty years.

10) The bond is a secured one if the company pledges to secure the debt.

3. Match the parts of the sentences to each other.
1) The seasonal financial needs may be covered by a)some sort of trade credit.

2) Businesses spend these funds on b) goods and services without  paying
3) About 85 percent of all US business transactions in- for them.
volve c) the cash.
4) During this period the buyer uses d) interest on debt.

5) A line of credit is the amount a  customer can borrow e)a predetermined interest rest (the cou-
without pon rate).

6) The factor immediately pays f) unsecured bonds which are called deben-

tures.

7) A long term loan may have g) short-term sources of funds.

8) Within this period the firm pays h) salaries and for emergencies.
9) Huge corporations with excellent credit history issue 1) making a new request.

10) The company can pay J) maturity of from one to ten years.
4. Find the English equivalents of the following Russian words in the text:

1) kpuTHyeckas cUTyalus 11) onpenenéuuslii 3apaHee

2) 3aka3; 3aKa3bIBaTh 12) xpaTKOCpPOUHBIi

3) cuér-¢akrypa 13) onnauuBath

4) 3anpoc; 3anpaiuBaTh 14) npsmoii 3aém
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5) mmatéx 15) cbopounas uHMS, KOHBEHEP

6) HEMEUIEHHO 16) nonarocpouHslii

7) cOopka; cOOpOUHBIIA 17) mnaTUTh TPOIIEHTHI TI0 JOJITOBOMY 00513aTeIb-
8) cpox moraiieHust 10JIr0BOTO 18) u3BemnaTh

9) oGecneuenue (3aéma) 19) maxiep

10 orpomMHbIi 20) UCTOYHUK

5. Translate the following sentences into English.

1) Kommnanus noyKHA BBITUIATHTH KX B TOJUYHBIN CPOK.

2) Camble MONyasipHblE UCTOYHUKU KPATKOCPOUHOTO (PMHAHCUPOBAHHUS — TOPIOBBIM KpeauT, 3aéM, (Qax-
TOPUHT, (PMHAHCOBbIE KOMIIAHUU U TOCYAAPCTBEHHBIE HCTOUHUKH.

3) Korna komnaHus 3aka3bIBaeT TOBAPHI U YCIYTH, OHA OOBIYHO HE IUIATUT 32 HUX.

4) B teuenue 3TOro cpoka NOKyHaTellb UCIOJIb3YET TOBAPhl U YCIYTH, HE IJIaTs 32 HUX.

5) KpeautHas nuHUS €CTh HEKast CyMMa, KOTOPYIO KJIMEHT MOKET 3aHUMaTh, HE BBICTABJISsl HOBOroO TpeOoBa-
HUS, a MPOCTO U3BewIas OaHK.

6) @akTop HEMEJIEHHO BBIIJIAYMBAECT HAMYHOCTh, 00bI4HO OT 50 10 80 mpoueHToB 00bEMa AEOUTOPCKOM
3aJJ0JDKEHHOCTH.

7) Ecnu xommanuu He0O0XoauMbI (GOH/BI JI COOPYKEHUSI HOBOM COOPOYHOMN JTMHUM, JUIsl IPOBEICHUS HCClle-
JOBAaTENbCKUX U KOHCTPYKTOPCKHUX paboT, KOTOpPbIE HE MPUHECYT NPUObUIN B T€UEHHE HECKOJIBKUX JIET, €i Mo-
TpeOyIOTCS ICTOYHUKHU AOJATOCPOYHOTO (PMHAHCHUPOBAHUSI.

8) Omna MOXeT ceNaTh 3TO, OCYIIECTBUB 3aéM WM BBIITYCTHB OOJIUTAITHH.

9) B teyenue 3TOro nepuoja KOMIaHus MJIATUT MPOLEHTHI [0 JIOJTY.

10) KoMnanuss MOeT BBIIJIAUMBATh 3apaHEE YCTAHOBJICHHYIO MPOLEHTHYIO CTaBKYy B COOTBETCTBHM C CO-
rJIalIeHUueM, ONPEEIIONUM YCIOBUS IMUCCUN OOIUTaUi.

I Translate the following dialogues from Russian into English:

1. A: Kakue y Bac kpacuBble 4achl!
B: Bawm onu mnpaBpaa HpaBsiTCs?
A: O, na! Onu npexpacHsi!
B: Cmnacub6o!
A: T'zme oI ux xynuna?
B: A xynuna ux B Pume.
2. A: @wune cBuHMHBI ¢ KapTodeneMm (ppu I MEHS U CTEUK U3 JIOCOCS C PUCOM TSI MOETO MapTHE-
pa, nmoxanyicra.
B: Kak Hacuér Buna?
A: MbpbI MOXEM IOCMOTPETH BUHHYIO KapTy?
B: [la, xoneuno. Bot oHa.
A: S nymato, Mbl Bo3bMEM OyThUIKY «Kabepne CoBunbon» 2004 rona.
B: Xopomuo.
A: Cnacubo.
3. A: borock, y MEHS HEIOCTaTOYHO HAIIMYHBIX. BBl IpHHUMaeTe KpeAUTHbIE KapThl?
B: bBotocsk, uTo HeT, cap. 31ech Hemaneko ectb baHkoMar. Bel MOXKeTe TaMm B3SITh HAJTMYHBIE.
A:  Kak tyzna npoitu?

Wpure no nepekpécTka, IOTOM HAJIEBO.

Variant 2.
I Read the following text and translate it in writing:

THE FINANCIAL MANAGEMENT

The financial plan of a company includes the timing and the amounts of funds, as well as the inflow and
outflow of money. Financial managers also forecast the economic conditions, the company's revenues, expens-
es and profits.

The plan starts and ends with the company's objectives. Managers review them and determine the fund-
ing they require. Managers also compare the expenses involved and the revenues expected. It helps them
predict cash flow. Management plans a strategy to make the ending cash positive, and accordingly works out
the way the resources should be allocated.
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Resources are invested according to the strategic plan of a company into materials and inventory, per-
sonnel and advertising, etc. Managers are responsible for carrying out this strategy, the whole process being su-
pervised by the General Executive and the Board of Directors of the company.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What does the financial plan of a company include?
2) What do financial managers also forecast?

3) What does the starts and ends with?

4) What do managers also compare?

5) What is the objective of the financial strategy?

6) What are the resources invested into?

7) Who is responsible for carrying out the financial strategy?
8) Who supervises the whole process?

2. Fill the blanks with the words from the text.

1) The financial plan of a company includes the and the amounts of funds.
2) Financial managers also the economic conditions, the company's revenues, expences and
profits.

3) The plan starts and ends with the company's .
4) Managers review them and determine the they require.

5) Managers also compare the expences involved and the expected.

6) It helps them predict flow.

7) Management plans a to make the ending cash positive.

8) They accordingly works out the way the resources should be

9) Resources are invested according to the strategic plan of a company into materials and , person-
nel and advertising, etc.

10) The whole process is by the General Executive and the Board of Directors of the com-
pany.

3. Match the parts of the sentences to each other.

1) The financial plan of a company includes a) carrying out this strategy.
2) Financial managers also forecast b) cash flow.

3) The plan starts and ends with c)the inflow and out- flow of money.
4) Managers review them and determine d) the ending cash positive.
5) Managers also compare the expences involved and  e) the Board of Directors of the company.
6) It helps them predict f) the strategic plan ofa company.
7) Management  plans a strategy to make g) the funding they require.

8) Resources are in- vested according to h) the revenues expected.
9) Managers are responsible for 1) the company's revenues, expences and profits.
10) The whole process is supervised by j) the company's objectives.
4. Find the English equivalents of the following Russian words in the text:

1) mputok 11) nepconai, mrat

2) OTTOK 12) peknama

3) mporHo3; NpOrHO3UpOBAThH 13) ocyiecTBAATh HAI30p, HAOIIOAATH

4) uenp 14) ucnoaHUTENbHBIN

5) oueHHUBaTh, aHATU3UPOBATH 15) nBwxeHue KanuTana

6) cpaBHUBaTh 16) canpao

7) mpenckas3blBaTh 17) rnaBHBIN yrpaBsSIOLIU

8) crparerus 18) coBeT AMpPEKTOPOB

9) MONOXKUTENbHBIN 19) nenbru

10 3amacel, 060pOTHBIE (HOHIBI 20) cOOTBETCTBEHHO

5. Translate the following sentences into English.

1) ®uHaHCOBBIN IJIAaH KOMIIAHWUU BKJIFOYAET OINpEACIEHHE CPOKOB (PMHAHCHPOBAHUS U €70 0OBEMBI.

2) MeHeKMEHT IIaHUPYET MPUTOK U OTTOK (PUHAHCOBBIX CPE/CTB.

3) dunHaHCOBBIE MEHEKEPbl TaKXKE IPOTHOZUPYIOT SKOHOMHUYECKHUE YCIOBUS U BBIPYUKY KOMITaHUU.
4) Ilnan HauMHAETCs U 3aKAHYMBACTCS LIEJISIMU KOMITAaHUU.

5) MeHemxepbl OLICHUBAIOT X U ONPENEISIIOT TpedyeMoe JIIsl HUX (PMHAHCHPOBAHUE.

38



6) MeHemxkepbl CpPaBHUBAIOT TaKXKE OKUIAEMbIE W3IEPKKH U BHIPYUKY.

7) OTo moMoraer UM IpeacKazarh JBMKEHHE (PUHAHCOBBIX CPEACTB.

8) MeHeKMEHT IIaHUPYET CTPATETUI0, YTOOBI MOJYYUTh MOJIO0KHUTEIBHOE CajbIo.

9) Onu paspabarbIBalOT C€rnoco0, KOTOPHIM JOJDKHBI ObITh pa3MELIeHbl PECYPCHI.

10) Pecypcel HHBECTUPYIOTCS B COOTBETCTBUM CO CTPATETUYECKUM IJIAHOM.

III Translate the following dialogues from Russian into English:

1. Msue HyxHO n00patbes 1o LlenTpanbHO TI0ma M.

O keil.

OT0 nanexo orcroaa?

Her. Munyr necars.

CKOJIBKO C MEHSI.

[TaTHaguats eBpo.

Cnauu He HaJO.

Cnacubo.

S TosbKO uTO BepHyIcs u3 [lapuxka.

310 OBLT TypHakeT?

Ja. B Hero Bxomun mepenéT, yeThpéxaHeBHOE NpedbiBanue B otelne «Jle Mepunben» Ha 1mo-
JyIaHCUOHE C 3aBTpakaMM U o0eaMH IIBEJICKUM CTOJI, IUTFOC SKCKYPCHUU.

«Jle Mepuaben» - 3To xoporuit otenb. Tedbe monpaBuics Homep?

D10 ObLI CTaHAAPTHBIA HOMEpP C 0O0JbIION BaHHOW KOMHATOM, (heHOM, CIyTHHUKOBbIM TB,
MPSIMBIM Te1e(pOHOM, MUHU-0apoM U yaoOcTBaMu Yait-kode.

Kax nacuér orensa? Kakue tTam Obutn ymoOcTBa?

Tam Ob11 PUTHEC-TIEHTP, CaJIOH KPACOTHI U OYEHBb XOPOIIUH JIAyHK-0ap ¢ )KUBOM ¢opTenua-
HHOM My3bIKO#1 110 BedyepaM. (live piano music at nights)

3npascTByiiTe! S Ob1 XOTEN B34Th HAIIPOKAT aBTOMOOMIIb.

Koneuno. Kakoii kiacc aBTomo0Ousist Bel Obl Xx0TENN?

Kommnaxr.

Oto 6ynet ®opn Pokyc cenan. U Ha ckomapko?

Ha tpu ans.

Xopomio. Sl MOry MOCMOTPETH Ballly IIpaBa?

a, moxamnyiicra.

Cnacubo.

A ecnu y MEHs ¢ MalIMHON OyayT npooiemMbl?

[Ipocto mo3BoOHUTE 10 ITOMY OecIsIaTHOMY HOMEpPY, U Hallla aBapuiiHas CiIy’k0a OKaKeT cam
MIOMOIIb B TEUEHHUE NOJTydaca.

Bbonbioe cnacuoo.

ZIZI>I>T>T >

> W

TrITErETErETEI> >T

>

Variant 3.
I Read the following text and translate it in writing:
PROPERTY RIGHTS AND TYPES OF PRIVATE ENTERPRISES

Private property rights to a resource need not be held by a single person. They can be shared, with each
person sharing in a specified fraction of the market value while decisions about uses are made in whatever pro-
cess the sharing group deems desirable. A major example of such shared property rights is the corporation. In a
limited-liability corporation, shares are specified and the rights to decide how to use the corporation's resources
are delegated to its management. Each shareholder has the unrestrained right to sell his or her share. Limited
liability insulates each shareholder's wealth from the liabilities of other shareholders, and thereby facilitates
anonymous sale and purchase of shares.

In other types of enterprises, especially where each member's wealth will become uniquely dependent
on each other member's behaviour, property rights are usually salable only if existing members approve of the
buyer. This is typical for what are often called joint ventures, "mutuals," and partnerships.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) Are property rights held by individuals as single persons?

2) How are decisions on how to use the shared property made?

3) Who has the rights to decide how to use the corporation's property?
4) Are the shareholders rights to sell their shares restrained?
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5) What are the advantages of limited liability to the shareholders?
2. Inthe text find the English equivalents to the following expressions.
1) ...menerupyrorcsi €€ MEHEHKMEHTY. ..

2) ...oTpaHUYEHHAas OTBETCTBEHHOCTh 000COOJISET...

3) ...cocOOCTBYET aHOHMMHOM MPOIAXKE U TOKYTIKE. ..

4) ...3aBUCHUM OT NMOBEJICHUS JAPYIUX YICHOB...

5) ...OHH MOTYT OBITh MOJEIEHHBIMH. ..

6) ...pelIeHus o MOBOy HCIIOJIb30BAHUS. .

7) ..AMEeT HEOTPaHWUYECHHOE IIPaBO IIPOJATE...

8) ...00OpAIOT MOKYIATES. .

9) ...pazzmensieMble IpaBa COOCTBEHHOCTH...

10) ...3TO TUNUYHO AJIS TOTO, YTO YACTO HA3bIBAIOT...

3. Substitute the underlined words and expressions with those given below.
1) Each shareholder has the unrestrained right to sell his or her share.

give away, authority, is entitled, unlimited, stock, every, equity holder \

2) Limited liability insulates each shareholder's wealth from the liabilities of other shareholders.

equity holder's, separates, responsibilities, equity holders, it, every, stock \

3) In other types of enterprises property rights are usually salable only if existing members approve
of the buyer.

shareholders, as a rule, kinds, shares, for sale, in case, all other, appreciate, businesses, purchaser \

IIT Translate the following dialogues from Russian into English:

1. A: Bpsl ceroans npekpacHo BeIrsianTe!
B: Cnacu0o, BbI TOXE!
A: Y Bac 04eHb KpacHBOE IJIATHE.
B: Bawm oHo npaBnia HpaBuTCS?
A: Omno npekpacHoe. MHE O4E€Hb HPaBUTCHL.
B: Cmnacub6o!
2. A: Crelik U3 TOBSIIMHBI HAa KOCTOYKE C EUYEHBIM KapTodenem i MeHs U (uiie TOBSAUHBI C Yec-
HOYHBIM MacJjioM U KapTodeneM (pH 11 MOEro napTHépa.
B: Xopoiuo, a 4to Bl OyaeTe NUThH?
A: CBexull aneabCUHOBBIN COK M OJIHO MHUBO, MOXKATYHCTA.
B: Kaxk nacuér Boan1?
A: [a, moxaiyiicta, MaJICHbKYIO OYTBUIKY BOJIBI O€3 Ta3a.
B: Xopoiuo, g npuHecy Bani 3akas.
A: Cnacubo.
3. A: Maprtunu c cokoM ais aambl U JxoHu Yokep payiiist MeHs, Moxaiyicra.
B: Jl>xoHu Yokep 4MCThIA WIH CO JIbIOM?
A: C 60apUIMM KOJMYECTBOM JIbJIA.
B: Koneuno, cap.
4. A: CKOJBKO BBl XOTUTE 32 ATOT KEHCKHUI mappuk?
B: 45 nommapos, mam.
A: [aaiirte 3a 40.
B: O, mer, MoM. D10 MIENK U MOJTHOCTHIO pydHas paboTa. 45 moJmapoB — XOpolas 1eHa.
A: A ecnu s BO3bMY JBa, BBl qaanTte ckuaky? JIpa mapduxa 3a 80, O keit?
B: O’keil.
5. A: 3papasctByiiTe! MeHs 30BYT ... . Sl B351 y BacC aBTOMOOUJIb HAPOKAT, U y MEHS ITPOOJIEMBI.
B: 3apasctByiite! CooOmuTe Ball perucTparioHHBIA HOMEp, moxamyicta. OH HaXOIUTCA B
[IpaBOM BEPXHEM YIJIy Balllero A0roBopa 06 apeHse.
A: Howmep....
B: [Iloka s oTkpbiBaro Ba (aiij, He MOTJIH ObI BBI ONKCATh XapaKTep MpooIeMbl?
A: Bcé npocto. I[Ipokoi B kosece.
B: Bel B nopsiake, MaM / cap? Bel cMoruin goexarb 10 000YHHBI JOPOTHU?
A: la, 5 B nmopsanke. S mpocTo Xxouy NpoJ0KUTh CBOKO MOE3/KY.
B: OcraBaiiTecy Tam, T/1€ BBl ceiiyac Hax0AUTECh. MBI OMpPEEINM Ballleé MECTOPACIIOJIOKECHUE, H
Hallla aBapuiiHasi KOMaH/1a yepes rojiyaca OKaKeT BaM MOMOILIb.
A: Cnacubo.
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Variant 4.
I Read the following text and translate it in writing:
PROPERTY RIGHTS AND TYPES OF PRIVATE ENTERPRISES

Corporation is the most popular type of a private enterprise. Corporations as a form of enterprises arose
as an alternative to partnerships, limited partnerships, or such rarely used forms as business trust or an unincor-
porated joint stock company.

Within the partnership the investors directly manage their own money rather than entrust that task to
others. Partners are "mutual agents," and each is able to sign contracts that are binding on all the others. Such
an arrangement is unsuited for strangers or those who are suspicions about each other's integrity or business ca-
pacities. Hence the transfer of partnership interests is subject to restrictions.

In a corporation, by contrast, the shareholders do not personally manage their money. Instead, a corpora-
tion is managed by directors and officers who need not be investors. Because managerial authority is concen-
trated in the hands of directors and officers, shares are freely transferable unless otherwise agreed. They can be
sold or given to anyone without placing other investors at the mercy of a new owner's poor judgement. The
splitting of management and ownership into two distinct functions is the main corporate feature.

Shareholders receive voting rights to elect the board of directors, and the directors, in turn, elect the of-
ficers.

When a corporation is created, its officers, directors, and shareholders usually are the same people. They
elect themselves or their nominees to the board of directors and then elect themselves as corporate officers.
When the corporation later goes public, the founders usually prefer to retain control because they value the ad-
ditional capital and because they expect to continue to control a majority of votes on the board and thus to di-
rect the company's future policy and growth.

That the board of directors is dominated by "insiders" makes sense. The founders are the first directors;
later, their places on the board are filled by the executives that will succeed them. This arrangement does not
injure new shareholders. As outside investors they buy shares of common stock because they discover corpora-
tions whose record of performance indicates a competent managerial system. They do not want to interfere with
it or dismantle it; on the contrary, they willingly entrust their savings to it. They know that the best safeguard
for their investments, if they become dissatisfied with the company's performance, is their ability to sell instant-
ly their shares of a publicly traded corporation.

To differentiate it from a partnership, a corporation should be defined as a legal and contractual mecha-
nism for creating and operating a business for profit, using capital from investors that will be managed on their
behalf by directors and officers.

The crucial corporate feature is the limited liability. It means that the corporation, as an entity, contracts
debts in "its" own name, not "theirs" (the shareholders), so they are not responsible for its debts. By incorporat-
ing and then by using the symbols "Inc." (incorporated) or "Corp.," shareholders are warning potential creditors
that they do not accept unlimited personal liability, that creditors must look only to the corporation's assets for
satisfaction of their claims.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What were corporations an alternative to?

2) Why is the transfer of partnership interests restricted?

3) What is the main corporate feature.

4) What do shareholders receive voting rights for?

5) Why do the founders of a corporation usually prefer to retain control when the corporation goes public?
6) Why does it makes sense, to have the majority of "insiders" in the board of directors?
7) In what cases do outside investors willingly entrust their savings to a corporation?

8) What is the definition of a corporation?

9) What is limited liability?

10) What assets of a corporation can creditors satisfy their claims with?

2. In the text find the English equivalents to the following expressions.

1) ..BaxHelmas yepra KOpPHOpalMM — OIPaHUYEHHAs OTBETCTBEHHOCTb...

2) ..nTa OpraHu3alusl HE YSA3BISET HOBBIX BIIAJCIBICB AKIIHIA...

3) ..ynpaBJeHUYECKHE IIOJHOMOYHUS CKOHIICHTPUPOBAHBI B PyKaX AUPEKTOPOB...

4) ...pa3nerneHue YIpaBJiICHUsS U BIAJICHUS Ha JIBE OTIIMYHBIE IPYT OT JApyra (pyHKIHH. ..
5) ...KopmopaIys CTAHOBUTCS OTKPBITOM. ..

6) ...BO3HMKJIA KaK aJlbT€pPHATHBA TOBAPHUIIICCTBAM. ..
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7) ...0oH OyzeT ympamisieM OT UX UMEHU AUPEKTOPAMHU U CIYKALIUMU...

8) ...nomoOHas opraHU3anus HE MOIXOIUT JJIS MOCTOPOHHUX. ..

9) ..OHHM C pagOCTHIO JOBEPSIOT €l CBOM COEpEeKEHUS...

10) ...cmyxamue, JIUpPEKTOpa W BIAAEIbIbl  aKIHUl 0OBIYHO — OJIHU U T€ XK€ JIIOJM. .
3. Translate the following into English.

BHyTpH TOBapuIecTBa HHBECTOPHI HETIOCPEACTBEHHO YIIPABIISIOT CBOMM KaIllUTAJIOM, a HE MOPY4YaroT
aTy 3amaqy ApyruMm. [lapTHEPEI — B3anMo3aMeHsIEMbIC areHThl YIIPABJICHUS, U KaXIbIii UMEET MPaBO O ITH-
CBHIBaTh KOHTPAKTHI, KOTOPBIC SIBISIFOTCSA 00s3aTeNbHBIME Uit Apyroro. [1ogo0HbIH THIT OpraHu3alui HE IO/
XOIMT JIJIsl TIOCTOPOHHUX WIIHM JUISl T€X, KTO COMHEBAETCS B YECTHOCTH HIIM JICJIOBBIX CIIOCOOHOCTSIX IPYTHUX
naptHEPOB. [loaToMy mepenada napTHEPCKUX MPAB MO ICIKUT OTPAHHUCHUSIM.

B xopnopanmu, HanpoTHB, aKIIMOHEPHI HE YIPABIISIFOT CBOMMH JICHbraMH JIMYHO. BMecTo 3Toro xoprmo-
panyel ynmpaBisIOT JUPEKTOpa M CIIyXKallhue, KOTOPhIM He 00s3aTeibHO ObITh MHBECTOpamH. [lOCKOIBKY
yIIpaBJIEHYECKHUE TIOJTHOMOYHS CKOHIIEHTPUPOBAHBI B PyKaX JUPEKTOPOB M CIyXKAIUX, aKIIMH CBOOOHO TIepe-
JAl0TCsl U3 PYK B PYKH, €CIIM MHOE HE MPEAYCMOTPEHO JA0rOBOPEHHOCTHIO0. OHU MOTYT OBITh IPOJAHbI WIIK I1€-
penaHsbl J1I000MY JIMIY, U 3TO HE 03HAYAET, YTO IPOYHE MHBECTOPHI MOMAAIOT B 3aBUCUMOCTb OT CIIOCOOHOCTHU
HOBOTO BIIaJIeNIbIIa IPHHUMATh BEpHBIC pelieHus. Pa3ienenue ynpaBieHnus U BIaJICHUS Ha JBE OTIIMYHBIC APYT
oT Apyra (pyHKIMH eCTh BaKHEHIIAsl YepTa OpraHUu3aIiH KOPIIOPAITIH.

IIT Translate the following dialogues from Russian into English:
1. A: Bs1o0ObaHO GepéTe aBTOMOOMIIL B apeH Ty, KOT/1a IyTemecTByere?
B: [a, Bcerma. B mocnennuii pa3 s Opas B apeHay aBTOMOOWIIb, KOTJIa IyTeniecTBoBai Bo OpaH-

1107078
A: Hy u kak?
B:  Dro0 ObLIO BEIUKOJEMHO.
A: B kakoii koMIaHuu BeIOpajii aBTOMOOMIIb HAalIPOKaT?
B: B Xepue.
2. A: 3npasctByiiTe! S ObI XOTEN 3aPETUCTPUPOBATHCS B OTEIb.
B: Bam nmacnopr u Bayuep, noxanyiicra. Homep 321, Ha TpeTbeM dTaxe, BOT Balll KJIFOY.
A: B KOMHare MOXHO KypUTb?
B: Her, BbI MOXeTE KypUTh TOJBKO Ha yJIHUIIE.
3. A: VY MeHd JBa IpUTJIACUTEIbHBIX OMJIeTa HA KOKTEHIbHYIO BeYepUHKY. bl MONAENIL CO MHO?
B: A korpga sto Oynet?
A: 3aBTpa BeyepoM B CEMb YacoB.
B: Urne?
A: B xmy0e otens.
B: Xopomwo. /[aBaii noWIéM.
4. A: VY Bac ecTb paznuBHOE TUBO?
B: [a, I'unnec.
A: JlBa Ookana, mokanmyincra.
B: Koneuno, cap.
5. A: MHe HpaBUTCS, KaK Bbl OJICBAETECH.
B: Cmnacu6o 3a KOMIIJTUMEHT.
A: DTO HE KOMIUIUMEHT. DTO MpaB/a.

Variant 5.
I Read the following text and translate it in writing:
FREE MARKET

Free market is a summary term for a set of exchanges that take place in society. Each exchange is under-
taken as a voluntary agreement between two people or between groups of people represented by agents. These
two individuals (or agents) exchange two economic goods, either tangible commodities or nontangible services.
Thus, when I buy a newspaper from a newsdealer for fifty cents, the newsdealer and I exchange two commodi-
ties: I give up fifty cents, and the newsdealer gives up the newspaper. Or if I work for a corporation, I exchange
my labor services, in a mutually agreed way, for a monetary salary; here the corporation is represented by a
manager (an agent) with the authority to hire.

Both parties undertake the exchange because each expects to gain from it. Also, each will repeat the ex-
change next time (or refuse to) because his expectation has proved correct (or incorrect) in the recent past.
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Trade, or exchange, is engaged in precisely because both parties benefit; if they did not expect to gain, they
would not agree to the exchange.

How can both parties benefit from an exchange? Each one values the two goods or services differently,
and these differences set the scene for an exchange. I, for example, am walking along with money in my pocket
but no newspaper; the newsdealer, on the other hand, has plenty of newspapers but is anxious to acquire
money. And so, finding each other, we strike a deal.

Two factors determine the terms of any agreement: how much each participant values each good in
question, and each participant's bargaining skills. How many cents will exchange for one newspaper, depends
on the participants in the newspaper market — on how much each one values the newspaper as compared to the
other goods he could buy. These terms of exchange, called "prices" (of newspapers in terms of money), are ul-
timately determined by how many newspapers are available on the market in relation to how favourably buyers
evaluate these goods. In shorthand, by the interaction of their supply with the demand for them.

The modern market is a highly complex, interacting latticework of exchanges. In primitive societies, ex-
changes are all barter or direct exchange. But as a society develops, the process of mutual benefit creates a situ-
ation in which one or two broadly useful and valuable commodities are chosen on the market as a medium of
indirect exchange. This money-commodity, generally but not always gold or silver, is then demanded not only
for its own sake, but even more to facilitate a reexchange for another desired commodity.

The modern market is made possible by the use of money. Each person engages in specialization, or a
division of labour, producing what he or she is best at. Production begins with natural resources, and then vari-
ous forms of machines and capital goods, until finally goods are sold to the consumer. At each stage of pro-
duction from natural resource to consumer good, money is voluntarily exchanged for capital goods, labor ser-
vices, and land resources. At each step of the way, terms of exchanges, or prices, are determined by the volun-
tary interactions of suppliers and demanders. This market is "free" because choices, at each step, are made
freely and voluntarily.

The free market and the free price system make goods from around the world available to consumers.
The free market also gives the largest possible scope to entrepreneurs, who risk capital to allocate resources so
as to satisfy the future desires of the mass of consumers as efficiently as possible. Saving and investment can
then develop capital goods and increase the productivity and wages of workers, thereby increasing their stand-
ard of living. The free competitive market also rewards and stimulates technological innovation that allows the
innovator to get a head start in satisfying consumer wants in new and creative ways.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What is free market?

2) What do participants expect to gain from the deal they strike?

3) What factors determine each agreement in the market?

4) What is pricing determined by?

5) What sort of exchanges were prevalent in primitive societies?

6) What happens to the means of exchange as a society develops?

7) What commodities are demanded to facilitate the reexchange of all other commodities in a developed socie-
ty?

8) What makes a market free?

9) How does the free market enhance the international exchange of commodities?
10) In what way are the innovations encouraged in the free market world?

2. Inthe text find the English equivalents to the following expressions.

1) ...1ubo MarepuanbHbIE TOBAPHI, MO0 HEMATEpUAIbHBIE YCIYTH. ..

2) ...Ha OCHOBE COBMECTHOTO COTJIAIICHHUS. ..

3) ...NpeACTaBIEHHOTO MEHEHKEPOM, YIIOJHOMOYEHHBIM IPUHUMATh Ha padoTy...
4) ...00€ CTOPOHBI MOJTYYAIOT BBITOY...

5) ...oHH OBI HE COTJIACHJINCH HAa OOMEH...

6) ...HaWIsA OpYT Apyra, MbI 3aKJII0YaEM CIIENKY...

7) ...yMeHHEe KaXIO0T0 yJaCTHUKA BECTH TOPTH...

8) ...BBIOpaH B Ka4eCTBE MOCPEIHUKA HEMPSIMOTO OOMEHa. ..

9) ...HaCKOJIbKO OJIaroNpHUATHO MOKYIATEIH OLICHUBAIOT 3TH TOBAPBL...

10) ...menaroT TOBaphl CO BCErO MUPA JOCTYIMHBIMH JJIs MOKYTIATEIS. .

3. Substitute the underlined words and expressions with those given below.
1) Both parties undertake the exchange because each expects to gain from it.
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\ as, participant, transaction, he, each, commits, profit, by \
2) Also, each will repeat the exchange because his expectation has proved correct in the recent past.
\ do again, recently, everyone, deal, as, anticipations, similarly, been justified \
4) At each stage of production from natural resource to consumer good, money is voluntarily exchanged for
capital goods, labour services, and land resources.
end product, step, raw material, cash, given for, equipment, manufacturing, human capital, within,
every, production site, at will
4. Translate the following into English.

O0e CTOpPOHBI MPENTPUHUMAIOT 3TOT 0OMEH, TIOCKOJIBKY KaXKAast 0KHIACT, YTO MOIYIHUT OT 3TOTO BBITO-
ny. Taxoke kaxaas cTOpoHa HOBTOPUT OOMEH B CIIEAYIOIIMH pa3 (MM OTKaXETCsl OT HEro), MOCKOJIbKY B HEJIaB-
HEM MPOILIOM OblIa OATBEPIKICHA TPABUILHOCTh €€ OKUAaHUH (MU HE MOoATBepkaeHa). Toprosis win 00-
MEH CYIIECTBYIOT UMEHHO MOTOMY, YTO 00€ CTOPOHBI MOJY4aroT OT He€ BbIroay. Eciu Obl OHM HE OXHIaIH,
YTO MOJIy4aT YTO-TM00, OHU OBl HE COTJIACHIIMCH HA OOMEH.

Kak 00e cropoHsl MOryT BeIUIpaTh OT oOMeHa? Kaxkas oneHuBaeT JBa TOBapa WIM JIBE YCIYTU IO-
pasHOMY, M 3TH Pa3JIU4Us ONPENENIIOT YCIOBUS JIsi oOMeHa. Sl, HarpuMep, X0XKy ¢ IeHbraMu B KapMaHe, HO
0e3 razetsl. ['azeTynk, ¢ Ipyroil CTOPOHBI, UMEET MACCY Ta3eT, HO 03a004YEeH TeM, YTOOBI MOJTYIUTh AeHbIU. U
TaKUM 00pa3oM, HaxoJIs APYT IPYTa, MBI 3aKITIOYAEM CJICNIKY.

Il Translate the following dialogues from Russian into English:

1. A: Bsl X0po1110 TOBOpUTE NO-aHTJIUHCKH !
B: Cmnacu6o 3a KOMIIJTUMEHT.
A: Dr0 He KOMIUIMMEHT. JTo npasja. ['1e BbI ero yunnau?
B: 4 yuun ero B Poccun.
2. A: Jlns Hauana s Obl XOTEJI 3aKa3aTh 3€JEHBIN canar, a MOTOM OapaHbu OTOMBHBIE CpeIHEH cTe-

TIEHU TIPOXKAPKH.
Kax nacuér Buna?

Ja, moxamyiicta, 60Kaj KpacHOTO JOMAIITHETO BUHA M MAJICHHKYIO OYTBUIKY BOJIBI O€3 rasa.
Xopouio, s IPUHECY Balll 3aKa3.

Cnacubo.

He mornm ObI BB MOCKA3aTh, Kak J00paThCs 10 METPO?

WuTte npsMoO ¥ MOBEPHUTE HAJIEBO.

OT0 nanexo orcrona?

Her, nare munyT.

Korna s e3gun B Ermrier, s ocTaHaBIMBaiICs B OYE€Hb MIJIOM OTelle. Y MEHs Obljla KOMHATA C
BHJIOM Ha MOpE.

(98]
ZE>I> O

B: Kak Ha3zwiBascs orens?
A:  «Ilapagus».
Variant 6.
I Read the following text and translate it in writing:
FREE MARKET

In efficient capital markets the prices of securities react very quickly to new information about their val-
ue. In fact, the market often anticipates and reacts to news before it is officially made public. For example,
General Motors announced a major restructuring in December 1991, closing twenty-one factories and cutting
seventy-four thousand jobs. On the day of the announcement GM's stock price fell by only 0.4 percent because
the market had already incorporated expectations about the restructuring into its price. The market reacted only
to the difference between the anticipated news and what was actually announced.

Efficient capital markets are commonly thought of as markets in which security prices fully reflect all
relevant information that is available about the fundamental value of the securities. Because a security is a
claim on future cash flows, this fundamental value is the present value of the future cash flows that the owner
of the security expects to receive. The cash flows anticipated for stocks consist of the stream of expected divi-
dends paid to stockholders plus the expected price of the stock when sold. In the present value calculation, fu-
ture cash flows are discounted by an interest rate that is a function of the riskiness of those cash flows. The risk-
ier the cash flows, the higher is the rate used in discounting.

Theoretically, the profit opportunities represented by the existence of "undervalued" and "overvalued"

stocks motivate competitive trading by investors that moves the prices of stocks toward the present value of the
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future cash flows. For example, new information about the fundamental values of securities will be reflected in
prices through competitive trading. Thus, the search for mispriced stocks by investment analysts and their sub-
sequent trading make the market efficient and make prices reflect fundamental values. Due to technological in-
novation and organized markets such as the New York Stock Exchange, information is now relatively cheap to
obtain and process. Thus, we can see why securities markets today are more efficient than in the late 1700s. It is
in this environment of relatively low-cost information and active security analysis that the theory of efficient
capital markets has developed.

The study of capital market efficiency examines how much, how fast, and how accurately available in-
formation is incorporated into security prices. Financial economists often classify efficiency into three catego-
ries based on what is meant as "available information" — the weak, semistrong, and strong forms. Weak-form
efficiency exists if security prices fully reflect all the information contained in the history of past prices and re-
turns. If capital markets are weak-form efficient, then investors cannot earn excess profits from trading.

Under semistrong-form efficiency, security prices fully reflect all public information. Thus, only traders
with access to nonpublic information, such as some corporate insiders, can earn excess profits. Finally, under
strong-form efficiency, all information — even apparent company secrets — is incorporated in security prices;
thus, no investor can earn excess profit trading on public or nonpublic information.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) In what manner does the efficient market react to news?

2) Why did the General Motors's stock prices fall by only 0.4 percent on the day of the announcement of GM's
major restructuring?

3) What information do prices fully reflect in efficient capital markets?

4) What is the fundamental value of a security?

5) What does the anticipated cash flows for stocks consist of?

6) What are future cash flows discounted by in the present value calculation?

7) How does the riskiness of the cash flows affect the interest rate?

8) What motivates the competitive trading by investors?

9) Why makes the information on stock prices now so relatively cheap to obtain and process?
10) How do financial economists classify efficiency?

2. Inthe text find the English equivalents to the following expressions.

1) ...O0yner oTpakeHa B LIeHaX...

2) ...Onmaromapsi TEXHOJIOTMYECKUM HOBOBBEICHUSM. ..

3) ...IOWCK HEBEPHO OLICHEHHBIX (POHIOB...

4) ...nenarT peIHOK 3()()EKTUBHBIM...

5) ...CpaBHUTENBHO HeAOporas nH(pOpMaIUsL...

6) ...MHKOPIOPUPOBAHBI B CTOUMOCTb LIEHHBIX Oymar...

7) ...dacto Kiaccu@uupyot 3pPEeKTUBHOCT...

8) ...Tpeimepsl C TOCTYIIOM K 3aKpBITOM HH(POPMAIIHH. ..

9) ..uHpopmarus, coaepxKamascs B UCTOPUH MPOIUILIX 1IEH U MIPUOBLIEH. ..

10) ...HM OAMH U3 UHBECTOPOB HE MOXKET 3apaboTaTh N30BITOYHBIX TPUOBLIEH. ..

3. Substitute the underlined words and expressions with those given below.

1) The cash flows anticipated for stocks consist of the stream of expected dividends paid to stockholders plus
the expected price of the stock when sold.

forecasted, payments, expected, amount, anticipated, made, for, shareholders, together with, amount
of money, equity, value, equity, after sale, is made up of

2) It is in this environment of relatively low-cost information and active analysis that the theory of efficient cap-
ital markets has developed.

security, intensive, inexpensive, comparatively, data, investigations, concept, effective, been worked out,
situation

3) The market reacted only to the difference between the anticipated news and what was actually announced.

numbers, responded, expected, really, just, margin, made known, brokers \

4. Translate the following into English.

D¢ dexTrBHBIE POHIOBBIE PHIHKH, KaK MPUHATO CUYUTATh, 3TO PHIHKH, HA KOTOPHIX LIEHBI OTPAXKAIOT BCIO
HMMEIOILIYIOCSI B HAJIMYUU COOTBETCTBYIOLIYIO HMH(pOpMaIio 00 MCTUHHOM CTOMMOCTH LEeHHbIX Oymar. [lo-
CKOJIbKY IIeHHasi Oymara ecTh (popMa MpPeTeH3UU Ha 0’KUJAEMbI MPUTOK JIEHEKHBIX CPEJICTB, HICTUHHAS CTOU-

MOCTB €CTh TCKYyIlass CTOUMOCTDL CPCIACTB, KOTOPLIC BJIAACIICI] HeHHOfI 6yMaFI/I HAaACCTCs IMOJYYUTH B 6yz[y1ueM.
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OxumaeMblii 00bEM MPUTOKA JICHEKHBIX CPEICTB COCTOMT M3 00BEMA MPEAIOIaraeMbIX JTUBHJICHIOB, BHITIIA-
YUBAEMBIX aKIIMOHEPaM, TUTFOC OXKHaeMasi CTOUMOCTh (JOHJIOB, MPEAHA3HAYCHHBIX K Mpoaaxe. B pacuére nmpu-
BEJIEHHOW CTOMMOCTH (POHIOB 00BEM OXKHUITAEMBIX B OYAyIIEM JNEHEKHBIX CPEJICTB JUCKOHTUPYETCS ¢ YIETOM
MPOLIEHTHOM CTAaBKH, KOTOPAst €CTh (DYHKIIHS CTEIICHH PUCKOBAHHOCTH JAHHBIX JICHE)KHBIX MOTOKOB. Uem Oostee
PUCKOBAaHHBIMH SIBJISTIOTCSI JICHE)KHBIE TTOTOKH, TEM BBINIE MPOICHTHAS CTaBKa, YIWTHIBaeMas MPH TUCKOHTH-
pPOBaHHH.

IIT Translate the following dialogues from Russian into English:

I. Tebe HpaBUTCS AAUBUHT?

A Hukorga He mpoooBal.

Tebe crout monpo60oBath. Thl MOKENIH MOTPYKATHCSA C HHCTPYKTOPOM.

O’keit, s mogymaro. BooOiie s 1100110 peIdanky.

JaBaii noenem Ha cadapu 3aBTpa.

3Byuurt 310poBo! [laBaii moeaem.

MBI OTHpaBHMCS paHO YTPOM M BEpHEMCS B IECATh Bedepa.

CKOJIBKO 3TOT CTOUT?

Cro narbaecsat aosuiapoB. O6e ¥ y)KUH BKIIOUYEHBI.

S nymato, 51 3akaxy canar Lle3app ¢ kpeBeTkaMu B KaueCTBE 3aKyCKH, a B KAU€CTBE OCHOBHOTO
Oro/1a xKapeHyro (hopesb ¢ OBOIIaMHU.

Urto BBI Oynere nuTh?

CBexuit MOPKOBHBIN COK CO CIMBKAMH M MHHEPAJIKY C Ta30M.

Kax nacuér Buna?

Her, cacu0o.

[Tpoctute, HO 51 OBI XOTEN IOMEHSITH HOMED.

Yro ciyuunocs?

S oxuaa moJIyduTh B HA MOPE, M (PAKTHUYECKH S 32 HErO 3aIljIaTHI, HO MOJIyYryI BU HA TO-

pox (city view).

[Tonoxxute, mokanyiicra, 371ech. S ymaxy 3To yepes msaTh MUHYT. [IpocTuTe 3a HEynoOCTBO.

ZEIZI>T T

ZI>>T >

w

Variant 7.
I Read the following text and translate it in writing:
HOW FUTURES AND OPTIONS MARKET WORKS

Futures are standardized contracts that commit parties to buy or sell goods of a specific quality at a spe-
cific price, for delivery at a specific point in the future. They are not contracts directly between buyers and
sellers of goods. The farmer who sells a futures contract and commits to deliver corn in six months does not
make his commitment to a specific corn buyer, but rather to the clearinghouse of the futures exchange.

The clearinghouse stands between buyers and sellers and, in effect, guarantees that both buyers and
sellers will receive what they have contracted for. Thanks to the clearinghouse, the farmer does not have to be
concerned about the financial stability of the buyer of the futures contract, nor does the buyer need to be con-
cerned about the progress of any particular farmer's crop. The clearinghouse monitors the credit of buyers and
sellers. New information about changes in supply and demand causes the prices of futures contracts to fluctuate,
sometimes moving them up and down many times in a trading day. For example, news of drought or blight that
may reduce the corn harvest, cutting future supplies, causes corn futures contracts to rise in price.

Similarly, news of a rise in interest rates or a presidential illness can cause stock-index futures
prices to fall as investors react to the prospect of difficult or uncertain times ahead. Every day, the clear-
inghouse tallies up and matches all contracts bought or sold during the trading session. Parties holding contracts
that have fallen in price during the trading session must pay the clearinghouse, a sort of security deposit called
"margin." When the contracts are closed out, it is the clearinghouse that pays the parties whose contracts have
gained in value. Futures trading is what economists call a zero-sum game, meaning that for every winner there
1s someone who loses an equal amount.

Because futures contracts offer assurance of future prices and availability of goods, they provide stabil-
ity in an unstable business environment. Futures have long been associated with agricultural commodities, es-
pecially grain and pork bellies, but they are now more likely to be used by bankers, airlines, and computer mak-
ers than by farmers. By the end of the eighties, financial futures accounted for three-quarters of all futures vol-
ume, almost totally substituting the agricultural commodities contracts that had been the futures industry's main
object for over a hundred years.
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Options are one of the most important outgrowths of the futures market. Whereas a futures contract
commits one party to deliver, and another to pay for, a particular good at a particular future date, an option con-
tract gives the holder the right, but not the obligation, to buy or sell. Options are attractive to hedgers because
they protect against loss in value but do not require the hedger to sacrifice potential gains. Most exchanges that
trade futures also trade options on futures. There are other types of options as well.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What are futures?

2) What is the function of the clearinghouse of the futures exchange?

3) How are prices to agricultural products affected by the weather forecasts?

4) How are the futures' prices affected by information about changes in supply and demand?
5) Why can a presidential illness cause stock-index futures prices to fall?

6) What is "margin"?

7) Why do futures contracts provide stability in an unstable business environment?
8) What is a zero-sum game?

9) What are options?

10) Why are options attractive to hedgers?

2. Fill the blanks with the words from the text.

1) The clearinghouse tallies up and matches all contracts bought or sold during the session.

2) The clearinghouse the credit of buyers and sellers.

3) News of drought or blight that may reduce the corn , cutting future supplies, causes corn fu-
tures contracts to rise in price.

4) When the contracts are closed out, it is the that pays the parties whose contracts

have gained in value.

5) Futures trading is what economists call a zero-sum game, meaning that for every winner there
1s someone who loses an amount.

6) Futures have long been with agricultural commodities.

7) Bythe end of the eighties, financial futures accounted for three-quarters of all

futures

8) The agricultural commodities had been the futures industry's main object for over
a hundred years.
9) Options are one of the most important of the futures market.
10) Most exchanges that trade futures also trade on futures.
3. Find the English equivalents of the following Russian words in the text:

1) dorouepc, PpbrouepcHbI KOHTPAKT 11) yBepeHHOCTD

2) 00s13aTeNnbCTBO 12) oTBeTBNIECHUE

3) pacuérHas nanara 13) ob6s13aTenbCTBO

4) rapaHTUpOBAaThH 14) sxepTBOBATH

5) ocoOeHHbI 15) bupxa QpbproYepCHBIX KOHTPAKTOB
6) KOHTPOJUPOBATH, OTCICKUBATH 16) cormacoBbIBaThH

7) 3acyxa 17) npo1ieHTHbIE CTaBKU

8) ypoxai 18) 3epHO

9) HeomnpenenEHHbIHI 19) Buepenu, Bnepén

10 mapxa 20) mepcreKTUBBI

IIT Translate the following dialogues from Russian into English:

I. A: Sl Buepa cropena Ha COJHIE.

B: Te6e nago ObITh ocTOpoXKHEH. CeroaHs Tebe clieyeT 0CTaBaThCs B TEHHU.

A: Kcrary, B cia-1IieHTpe €CTh crenuaibHas Ipoleaypa rnocie 3arapa.

B: Oro xopoas Mbicib. Jlymaro, s cienaro e€. 3a0IHO Ce1al0 MaHUKIOp U MEAUKIOP.
2. A: Korpga s nyremectsoBai o Uranuu, s 6pan MaliHy HanpoKaT Ha YeThIpe JHSL.

B: DTto0 6b1TO HOpOTO?

A: Her, g 3amumarun Bcero 400 eBpo.
3. A: CeroaHs B HOUHOM KiIyOe BBICTYHAeT Jka30BbIil opkecTp. Thl Xouenb NoWTu?

B: 3Byuut 3amanuuBo! Bo ckoibpko Hadano?

A: B neBsiTh Beuepa.
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UYro BbI Oynere nuTh?
JlBa Gokajia KpacHOTO JOMAIIIHEr0 BUHA, IOXKAITyHCTa.
Xopo1ro, s MpUHECY Ball 3aKas.

B: Xopomo! Ml ycrieem noyxuHaTh B OTEJIE.
4. A: Uzsunure! He monckaxere, kak 1oOpaThes 10 Bok3ama?
B: Bawm ny4me noiiMars Takcu.
A: 3ro nanexo orcrona?
B: Her, exath npuMepHO OECATH MUHYT.
A: Cnacubo.
5. A: Cparertu ¢ TOMaTHBIM COYCOM JJISl AaMbl U (puJie TEISTUHBI C OBOLIAMH ISl MEHSL.
B:
A:
B:

Variant 8.
I Read the following text and translate it in writing:
SECURITIES MARKETS

Bonds and shares are the main types of securities. Bond markets is an important component of capital
markets. Bonds are fixed-income securities — securities that promise the holder a specified set of payments.
The value of a bond (like the value of any other asset) is the present value of the income stream one expects to
receive from holding the bond. This has several implications:

1. Bond prices vary inversely with market interest rates. Since the stream of payments usually is fixed
no matter what subsequently happens to interest rates, higher rates reduce the present value of the expected
payments, and thus the price.

2. Bonds are generally adversely affected by inflation. The reason is that higher expected inflation raises
market interest rates and therefore reduces the present value of the stream of fixed payments. Some bonds,
though, are indexed for inflation.

3. The greater the uncertainty about whether the payment will be made, the lower the "expected" pay-
ment to bondholders and the lower the value of the bond.

4. Bonds whose payments are subjected to lower taxation provide investors with higher expected after-
tax payments. Since investors are interested in after-tax income, such bonds sell for higher prices.

The major classes of bond issuers are the government, corporations, and municipal governments. The
default risk and tax status differ from one kind of bond to another.

The USA issues three types of marketable securities: Treasury bills, Treasury notes, and Treasury
bonds. Treasury bills have maturities up to one year and are generally issued in denominations of $ 10,000.
They do not pay interest. Instead, the U.S. Treasury sells notes at a discount to their redemption value. The size
of the discount determines the interest rate on the bill.

Treasury notes and Treasury bonds differ from Treasury bills in several ways. First, their maturities gen-
erally are greater than one year. Notes have maturities of one to seven years. Bonds can be sold with any ma-
turity, but their maturities at issue typically exceed five years. Second, bonds and notes specify periodic interest
(coupon) payments as well as a principal repayment. Third, they are frequently registered, meaning that the
government records the name and address of the current owner.

Corporate bonds promise specified payments at specified dates. While issuing bonds, corporations make
a promise of payment of principal and interest at stated dates. There are also other provisions such as limita-
tions of the firm's right to sell pledged property, limitations on future financing activities, and limitations on
dividend payments.

Here are some standard types of corporate bonds:

v Mortgage bonds that are secured by the pledge of specific property.

v Debentures that are unsecured general obligations of the issuing corporation.

v Collateral trust bonds that are backed by other securities (typically held by a trustee). Such bonds are
frequently issued by a parent corporation pledging securities owned by a subsidiary.

v Equipment obligations (or equipment trust certificates) that are backed by specific pieces of equipment
(for example, railroad rolling stock or aircraft).
v Convertible bonds that give the owner the option either to be repaid in cash or to exchange the bonds for

a specified number of shares in the corporation.

Corporate bonds have differing degrees of risk. Bond rating agencies (for example, Moody's) provide an
indication of the relative default risk of bonds with ratings that range from Aaa (the best quality) to C (the low-
est). Bonds rated Baa and above are typically referred to as "investment grade." Below-investment-grade bonds
are sometimes referred to as "junk bonds".
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II Do the following tasks to the text given up:
1. Answer the following questions on the text.
1) How is the value of bonds calculated?
2) How do the prices of bonds react to the interest rates?
3) How are the prices of bonds affected by inflation?
4) How are the prices of bonds affected by the uncertainty as to whether they are going to be redeemed or not?
5) What types of marketable securities are issued by the US Treasury?
6) What are the maturities of the USA Treasury bills?
7) What are the provisions of the corporate bond issues?
8) How are the mortgage bonds secured?
9) Why are the debentures not secured?
10) What are the "below-investment" bonds called?
2. Inthe text find the English equivalents to the following expressions.
1) ...neHHble Oymaru ¢ (UKCHUPOBAHHBIM JOXOJOM...
2) ...M3MEHAIOTCS B 0OpaTHOM 3aBUCHMOCTH 110 OTHOIICHHIO K YPOBHIO NMPOLIEHTHBIX CTABOK...
3) ...MHIEKCHUPYIOTCS B OTHOLIEHUU K YPOBHIO UHQIIALIUH. ..
4) ...puck nedonTa ¥ HAJIOTOBBINA CTATYC...
5) ...MX CpOK morameHust 0ObIYHO BBIIIE OJHOTO TOAA. ..
6) ...o0muranuu U GAaHKHOTHI ONIPEACIISIOT MEPUOIUIYCCKYIO BBITUIATY IPOIICHTOB. ..
7) ...o0emaHue BBHITUIATUTH OCHOBHYIO CYMMY U TPOILIEHTHI B YCTAHOBJICHHBIE CPOKH. ..
8) ...o0ecrieunBaeTCs MPEIOKEHUEM ONIPEACIEHHON COOCTBEHHOCTH. ..
9) ...MOJUIEPKUBAIOTCS OMPENCIEHHBIMH JIEMEHTaMH 000PYOBAHUS. ..
10) ...c peiiTunrom B mpenenax ot Aaa (Jrydmiee kadectBo) 10 C (Hu3ImIee)...
3. Choose the correct variant (a, b or c).
1) Bond prices vary inversely with
a) a specified set of payments.
b) market interest rates.
c¢) the present value of the income stream.
2) Some bonds are indexed for
a) an important component of capital markets.
b) the name and address of the current owner.
¢) inflation.
3) Corporate bonds promise
a) specified payments at specified dates.
b) after-tax income.
c¢) a discount to their redemption value.
4. Match the parts of the sentences to each other.

1) Bonds and shares are a) market interest rates.

2) The value of a bond is b) one year and are generally issued in denominations of $
3) Bond prices vary inversely with 10,000.

4) Bonds are generally adversely af- | ¢) the main types of securities.

fected by d) the present value of the income stream one expects to receive
5) Bonds whose payments are sub- | from holding the bond.

jected to e) specified payments at specified dates.

6) The major classes of bond issuers are | f) maturity, but their maturities at issue typically exceed five
7) Treasury bills have maturities up to | years.

8) Bonds can be sold with any g) interest (coupon) payments as well as a principal repayment.

9) Bonds and notes specify periodic | h) the government, corporations, and municipal governments.

10) Corporate bonds promise 1) lower taxation provide investors with higher expected after-tax
payments.

J) inflation.

I Translate the following dialogues from Russian into English:
1. A: Bam HpaBUTCS MOSl HOBasi MalIuHa?
B: O, na! Ona npexpacHasi. MHe OHa OYeHb HPABUTCSI.
A: Cmnacub6o!
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MsI MOKEM MOCMOTPETH AECEPTHOE MEHIO?

Ha, xoHedHo.

KanyunHo 1 4u3KeuK a1 MEHs, 4ail ¢ MIATOM U BAHUJIBHOE MOPOKEHOE JUIsl MOEro MapTHEPA,
noxanyicra. Crnacu0o.

CKOJIBKO 3TO CTOUT?

52 nonnapa.

Bborock, y MeHs HemocTaTo4HO A0J1apoB. Bel mpuHIMaeTe eBpo?

Borock, uto HeT. 31eck 3a yriioM ecTb 00MEH BaIOT. BBl MOKETE MOMEHSTH ICHBIU TaM.
Cnacu6o.

W3BuHUTE, 5 X0TEN OBl MOCMOTPETH pacnucaHue OecIIaTHOro aBTodyca.

[Toxanyiicra.

TErEEETE 2>

Variant 9.

I Read the following text and translate it in writing:
SECURITIES MARKETS

The price of a share of stock, like that of any other financial asset, equals the present value of the ex-
pected stream of future cash payments to the owner. The cash payments available to a shareholder are uncertain
and subject to the earnings of the firm. Stock prices are more variable than prices of most other assets, which
means that the returns can change dramatically from year to year. This uncertainty contrasts sharply with cash
payments to bondholders, the value of which is fixed by contract.

Most of the cash payments to stockholders arise from dividends, which are paid out of earnings, and dis-
tributions resulting from the sale or liquidation of assets. Over time most firms pay rising dividends. Rising div-
idends occur for two reasons. First, firms rarely pay out all their earnings as dividends, so that the difference,
called retained earnings, is available to the firm to invest. This, in turn, often produces greater future earnings
and hence higher prospective dividends. Second, the earnings of a firm will rise as the price of its output rises
with inflation. Firms may also increase their dividends due to growth in the demand for their products and in-
creased efficiencies of operation. These are the firms, of course, that investment advisers seek out when rec-
ommending stocks.

Cash payments to shareholders also result from the sale of some of the assets of the firm, outright lig-
uidation, or a buyout. A firm may sell some of its operations, using the revenues from the sale to provide a
lump sum distribution to stockholders. When a firm sells all its operations and assets, this total liquidation re-
sults in a cash distribution after obligations to creditors are satisfied. Finally, if another firm or individual pur-
chases the firm, existing shareholders may be eligible to receive cash payments or securities that can be sold in
the open market for cash.

Some firms do not pay dividends but use their earnings to purchase their stock on the open market.
Since this reduces the number of shares outstanding, the remaining shareholders each own a greater percentage
interest in the assets of the firm. Therefore, the price of a stock can rise even if the firm does not pay a dividend
and never intends to do so. If and when the assets of these firms are sold or liquidated, a cash distribution will
be made and shareholders will realize a capital gain. Some firms pursue this policy to enable their shareholders
to realize lower taxes, since taxes on capital gains are deferred and often paid at a lower rate.

The total return from owning stock arises from two sources: dividends and other cash distribu-
tions, and capital gains. A total return index for stocks can be computed by assuming that all cash distribu-
tions, and capital gains are continually reinvested in the stock.

Over time, the total return on stocks has exceeded that of any other class of asset. In the US one dollar
invested in 1802 would have grown, in inflation-adjusted dollars, to $109,000 in stocks, $605 in bonds, $248 in
Treasury bills, and $1.24 in gold.

II Do the following tasks to the text given up:

1. Answer the following questions on the text.

1) What is the price of a share of stock equal to?

2) Why are stock prices more variable than prices of most other assets?

3) What do most of the cash payments to stockholders arise from?

4) What two reasons does the rising of dividends occur for?

5) What else, apart from dividends, do cash payments to shareholders result from?
6) What does the total liquidation of a firm results in for the shareholders?
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7) How do firms, that do not pay dividends, use their earnings?

8) How do taxes on capital gains differ from other taxes on income?

9) How can the total return index for stocks can be computed?

10) How does the total return on stocks relate to earnings on other classes of asset?
2. Inthe text find the English equivalents to the following expressions.

1) ...paBHO MPUBEAEHHOW CTOMMOCTH 0’KHJAEMBIX TIOTOKOB OYIyIIUX BHIIUIAT HATHYHOCTH. ..
2) ...1eHbI OOJBIIMHCTBA IPOYUX AKTUBOB...

3) ...CTOMMOCTH KOTOPBIX OTIpe/ieJIeHa KOHTPAKTOM...

4) ..pOCT IMBHUJIEHAOB IPOUCXOAUT IO ABYM IPHUYHUHAM...

5) ...Ha3bIBaeTCs HEpACTPEACIEHHON MPUOBLIBIO. ..

6) ...pactymas 3¢p(HEKTUBHOCTD IEATETLHOCTH. .

7) ...MPOUCTEKAET U3 MPOJIAXKH HEKOTOPHIX AKTHBOB...

8) ..mpuoOpeTaTh CBOM AaKTUBBI HAa OTKPHITOM pPBIHKE

9) ...cIemyroT 3TOM MOJHUTHKE...

10) ...9T0 CoKpalaeT KOJUIECTBO HAXOISAIINXCA B CBOOOJHOM OOpAIleHNH aKIUH. ..
3. Substitute the underlined words and expressions with those given below.
1) Firms may also increase their dividends due to growth in the demand for their products and increased effi-

ciencies of operation.

goods, can, raise, because of, rise, claim, improved, companies, just as well, productivity, work, the

money they pay to shareholders

2) A firm may sell some of its operations, using the revenues from the sale to provide a lump sum di

to stockholders.

stribution

owners of shares, money, capital gain, can, give out, business, assets, transaction, offer, a certain

amount

3) Since this reduces the number of shares outstanding, the remaining shareholders each own a greater percent-

age interest in the assets of the firm.

possess, larger, as, amount, rest of the, owners of assets, share, stock on the open market, capital, de-

creases, company

4. Match the parts of the sentences to each other.

1) The cash payments available to a share-
holder are uncertain and subject to

2) Most of the cash payments to

3) Over time most firms pay

4) The earnings of a firm will rise as

5) Firms may also increase their dividends due
to

6) Cash payments to shareholders also result
from

1) 7) Some firms do not pay dividends but
use

8) The price of a stock can rise even if

9) The total return from owning stock arises
from

10) A total return index for stocks can be com-

puted by

a) two sources: dividends and other cash distri-
butions, and capital gains.

b) growth in the demand for their products and
increased efficiencies of operation.

¢) stockholders arise from dividends.

d) the earnings of the firm.

e) rising dividends.

f) the firm does not pay a dividend and never in-
tends to do so.

g) assuming that all cash distributions.

h) the price of its output rises with inflation.

1) their earnings to purchase their stock on the
open market.

J) the sale of some of the assets of the firm, out-
right liquidation, or a buyout.

IIT Translate the following dialogues from Russian into English:

1. A: 3napasctByiite! CoeqHUTE MEHs, IOXKAIYICTa, C HOMEpOM 345.
B: HWwmsa rocrs, noxainyiicra.
A: Amnaronuii iBaHoB.
B: Osxupnaiite. U3BuHuTE, HO MHUA 3aHsATa. [lepe3BoHUTE TIO3KE.
2. A: YV nHac 3akaHumBaetcs OeH3uH. Ham Ha/10 0OCTaHOBUTBHCA U 3aIIPaBUTHCS.
(Ha 3anpasounoii cmanyuu)
B: Crangaptusiii. [lonnelii 6ak, noxanyiicra.
A: Dto Oyner 30 eBpo.
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Bl 3akonumim?

Ha, cnacu6o, BbI MokeTe youpats (Tapenku). Ena Op1ma mpexpacHoii!
He xenaete mocMoTpeTh 1ecepTHOE MEHIO?

Her, criacu6o. /IBa sxcrpecco u c4ET, moxanyicra.

51 3ape3epBupoBai JBa 6unera Ha Jpka3-KoHuepT. [loiaémb co MHO?
Korpma sto 6yner?

B cnenyromnyro cy0060Ty B BOoceMb BeUepa.

Mens yctpausaer. JlaBail mouaém.

T>T>W>w>

Variant 10.

I Read the following text and translate it in writing:
UNDERSTANDING THE FINANCIAL NEWS

The financial news is broadcast over television, radio, and is printed in the press. It shows how the
stocks have moved up or down, and what new developments are taking place in the stock market. Serious in-
vestors review forecasts about certain companies in such financial papers as The Wall Street Journal and Finan-
cial Times.

Price quotations are of major importance. Prices of securities are published in most newspapers every
business day. The information is important for both investors and companies because it shows how investments
are performing, and gives the basis for detailed analysis.

Stock prices appear in the basic presentation of each financial paper.

Interest is the price people pay to have resources now rather than later. Resources, of course, can be any-
thing from college tuition to a big-screen TV. Interest is conventionally expressed as a percentage rate for a pe-
riod of one year. If borrowers (those who want resources now) can obtain the resources from lenders (those
who are willing to surrender current control) on the condition that they return 103 percent of the resources one
year later, then the interest rate is 3 percent.

The standard procedure for calculating compound interest, under which the interest at the end of each
year is added to the principal (the amount borrowed), requires borrowers who want to retain command for two
years to repay 106.09 percent of the principal, assuming a 3 percent annual rate of interest. The formula for de-
termining the amount to which the sum to be repaid will grow under compound interest is P/ (I+r)n, where P is
the principal, r is the annual interest rate, and » is the number of years for which the principal is borrowed.
Compound interest is an incredibly powerful force. Just how powerful can be seen in the following example.

If Thomas Jefferson had invested $ 10 at 3 percent compound interest to celebrate the signing of the
Declaration of Independence, his heirs would have been entitled to almost $3,700 on the day in 1976 when the
United States celebrated its two hundredth anniversary. At 6 percent compound interest, Mr. Jefferson's $ 10 in-
vestment would have grown to $1,150,000, or 311 times as much.

An immediate implication is that a quantity of resources available only at a future date has less value to-
day (the present value) than the same quantity of resources available now. The difference in value is determined
by the prevailing interest rate. If the annual rate of interest is 3 percent, 100 units of a resource to be received
one year from now is equivalent in value to approximately 97.09 units at this time. The formula for determining
the present value of future amounts (a process that is called discounting) is derived from the same formula for
determining the amount to which present sums will grow in the future: Present value = F/(l + r)n, where F is
the future amount and r and » are again the interest rate and the number of years, respectively.

The interest rate enters at least implicitly into all economic decisions, because economic decisions are
made by comparing expected future benefits to costs. The only way to make the value of future benefits or costs
comparable to one another is to discount them by their "temporal distance" from the present, using the relevant
interest rate. The greater this temporal distance (that is, the further into the future the benefit or cost is), the
smaller is the discounted, or present, value. Interest rates quoted by lenders usually include much more than
"pure" interest.

To persuade a lender to surrender current control of resources, the borrower will have to pay, in addition
to interest, an amount that compensates the lender for any costs incurred in arranging the transaction, usually
including some kind of insurance premium against the risk of default by the borrower. Someone without an es-
tablished credit rating who applies for an unsecured loan will typically be required to pay "interest" at an annual
rate that is several times the prevailing rate of pure interest.

52



The interest rate is determined by demand and supply: the demand for present control of resources by
those who do not have it, and the supply from those who do have control and are willing to surrender it for a
price.
II Do the following tasks to the text given up:
1. Answer the following questions on the text.
1) What is interest?
2) How is interest conventionally expressed?
3) What is the standard procedure for calculating compound interest?
4) Why is compound interest thought to be an incredibly powertful force?
5) How do economists use the interest rate in making decisions?
6) What is the "temporal distance"?
7) What do those without established credit rating do in order to obtain credit?
8) What is the interest rate determined by?
9) How much could have heirs to Thomas Jefferson got in 1976 if he had invested $10 at 3 percent compound
interest to celebrate the signing of the Declaration of Independence?
10) What would they have got at 6 percent compound interest?
2. Fill the blanks with the words from the text.

1) Interest is conventionally expressed as a percentage for a period of one year.

2) An immediate implication is that a quantity of resources only at a future date has less
value today (the present value) than the same quantity of resources available now.

3) The difference in value is by the prevailing interest rate.

4) The interest rate enters at least implicitly into all decisions.

5) Interest rates by lenders usually include much more than "pure" interest.

6) The greater this temporal (that is, the further into the future the benefit or cost is),
the smaller is the discounted, or present, value.

7) To persuade a lender to current control of resources, the borrower will have to pay, in
addition to interest, an amount that compensates the lender for any costs incurred in arranging the transaction.
8) He is required to pay "interest" at an rate that is several times the prevailing rate of
pure interest.

9) The interest rate is determined by and supply.

10) Thomas Jefferson had not invested $ 10 at 3 per cent interest to celebrate the signing of the

Declaration of Independence.
IIT Translate the following dialogues from Russian into English:

1. A: Msae HpaBuTcs Bauie mwiarbe! OHO HOBOE?
B: [a, HoBoe! Bam oHO neiiCTBUTETLHO HPABUTCS?
A: OueHb HpaBUTCH.
B: Cnacubo.
2. A: S Tonpko 4TO mMpoOBENA TPHU Yaca B cna-ueHTpe. S nenana npouenypy Uis Jidia, MacCcaxk BCEro
TeJa U apOMAaTUYECKYI0 BAHHY C MOPCKOH COJIbIO.
B: Hy u kak? TeI uyBcTBYeuIb ceds ayuie?
A: 4 cioBHO neraro.
3. A: CKoJbKO 3TO CTOUT?
B: 35 nommapos.
A: O, sto cnumkoMm Joporo. /laBaiite 3a TpuALATh.
B: Her. 35 nonnapoB — 310 X0poras 1eHa.
4. A: DOro obcnyxuBaHnue HomepoB? S Obl XOTeIN 3aKa3aTh KallyyuHO U OYTHUIKY MUTHEBOU BOJIBI.
B: Bam HOomep?
A: 134,
B: JlecsaTe munyT, C3p.
A: S mory 3anucarb Ha CBOl HOMep?
B: Koneuno, cap.
5. A: JlaBail BO3bMEM MaIlIMHY HaIIPOKarT.
B: S nmotepsin mpaBa, M IOATOMY HE MOTY BOJIUTh, IOKA HE MIOJy4y HOBBIE.
6. A: Jlaaii noenem Ha cadapu 3aBTpa.
B: 3Byuwmt 370poB0! JlaBait moenem.
A: MbpI oTpaBUMCS paHO YTPOM U BEpHEMCH B JIECATH Bedepa.
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B: Cxkonbko 310 cTOnT?
A:  Cro narbaecsat gouiapoB. O6eq ¥ y)KUH BKIIOYEHBI.

Bonpocs! 11 NOATOTOBKH K IK3aMeHY

3 cemecTtp

1. Management.
2. OO0pa3zoBaHHE MHOKECTBEHHOT'O UMCJIa UMEH CYIIECTBUTENbHBIX.
3. IlpuTsxaTenbHBIN MaJeK UMEH CYIIECTBUTEIbHBIX. [[OpSAIOK CJIOB B aHTJIMICKOM MPEIJI0OKCHHH.
4. Human Resources (HR).
5. MecroumeHnus (TUYHBIC, TPUTSDKATEIIbHBIC, yKa3aTeIbHbBIE, BOIIPOCUTEIbHBIC, BO3BPATHBIE).
6. KomnuecTtBennble MecronMenus. Heompenen€Huapie MECTOMMEHHUSI SOmMe, any, OTPHUIATEIIBHOE Me-

CTOMMEHHE NO.
7. Marketing.
8. KonmyecTBeHHBIE YNCITUTENBHBIC, TIOPSIIKOBBIC YNCIUTEILHBIC.
9. Cuopspxenne u ynotpeOneHue riaroia to be, to have.
10. Public Relations.
11. OcHOBHBIE THIIBI BOMPOCUTEIBHBIX MPEIOKEHUH.
12. Mass Media.
13. Aptukis. YnoTrpebiaeHue onpeeieHHOTO U HEONPEACICHHOTO apTHUKIIA.
14. VYnorpebneHue apTUKIS ¢ reorpauuecKuMy Ha3BaHUSAMU.
15. Evolution of Public Administration.
16. Hacrosmue BpeMena. YnoTpeOiaeHHe U ClIOCOObI 00pa3oBaHUS.
17. State Structure: the USA.
18. State Structure: the European Union.
19. The European Economic Community and the European Union.
20. ITpomenmme BpeMeHa. YnoTpeOieHue u crocoobl 00pa3oBaHuUsl.
21. State Structure: the UK.
22. bynymue BpeMeHa. YnoTpeOieHue u criocoobl 00pa3oBaHuUs.
23. State Structure: the Russian Federation.
24. CornacoBaHuE€ BPEMEH B aHTJIMIICKOM SI3BIKE.
25. Basics of Economics.
26. Gross domestic product.
27. Inflation and deflation.
28. CreneHu CpaBHCHHS UMEH NpHiiarareabHbIX. CpaBHUTEIbHBIC KOHCTPYKITHH.
29. Hapeune. Ctenenu cpaBHEHUS Hapeuuil. MecTo Hapeuus B MPeaIoKEHHUH.
30. Money and Banks.
31. English and American money.
32. Counterfeiting money.
33. Banking Services.
34. Bank credits.
35. IlpsiMas ¥ KOCBEHHas peyb.
36. Cnoco0bl nepeBojia NpsIMOI pedr B KOCBEHHYIO.
37. Public and Municipal Finances.
38. Financial Organizations.
39. MoganbHbIC I1aroJibl, OOIINE CBEICHUS.
40. MopanpHbI€ TJIaroJIbI can, may.
41. MonanbHbI€ T1aroisl. [ arosisl, Beipaxaromme J0hKeHCTBOBaHue must, should, ought to.
42. Public Finance: Revenue and Expenditures.
43. The World Trade Organization.
44. CtpanaTenbHBbIi 3aJI0T.
45. Infrastructure.
46. Henuunslie popmsl rnarona. Undunutus. I'epynauii.
47. Ilpuuactue 1. Ilpuyactue II.
48. Social Protection.
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49. Ynorpebnenue Gppa3oBbIX TJ1aroJioB.
50. Haksionenwue.

Kpurtepuu onennBaHusi 0TBeTa Ha IK3aMeHe

CryneHTsl 0053aHbI CIaTh YK3aMEH B COOTBETCTBUM C PACIMCAHWEM U YY€OHBIM IJIAHOM. DK3aMEH 10
JTUCLMIUIMHE TIPECIeNyeT Ledb OLIEHUTh paboTy CTYEHTa 3a Kypc, OJIy4eHUE TEOPETUUECKUX U MPAKTUYECKUX
3HAHWUM, UX MPOYHOCTb, PA3BUTHE TBOPUYECKOTO MBIILIEHUS, TPUOOPETEHUE HABBIKOB CaMOCTOSITENIbHON pado-
Thbl, YMEHHUE IPUMEHSTH OJIYUEHHbIE 3HAHUA JJIs1 PELIEHUS] TPAKTUUECKUX 3a/1a4.

DK3aMeH - (opMa IPOMEKYTOUHON aTTECTAIMH, B PE3yJIbTaTe KOTOPOTO OOYUAIOIIMIICS MOTydaeT OICH-
KY B 4EThIpeX0anbHOH MIKaNe («OTIUYHO», «XOPOILIO», «YIOBIETBOPUTEIBHOY, KHEYAOBIETBOPUTEILHOY). Oc-
HOBOM ISl OIIPEICNIEHNs OLICHKU Ha dK3aMeHaX CIIY’KUT 00bEM M YpOBEHb YCBOEHHUS CTYJEHTaMHM MaTepHala,
MPEAYCMOTPEHHOTO paboveit mporpaMMon TUCIUATIIUHBI.

WToroBast olieHKa y4YUTHIBAET COBOKYITHBIE PE3yJAbTaThl KOHTPOJISI 3HAHUNM. DK3aMeH MPOBOJIUTCS 10 Ou-
neTaMm B ycTHOH (opme B Bujae onpoca. Coaepxanue ounera: 1-e 3agaHue (IpakTUYECKUE HABBIKH); 2-€ 3a/a-
Hue (JIeKCUYecKui Bompoc); 3-e 3aiaHue (rpaMMaTH4YECKH BOIIPOC).

OneHka «OTIMYHO» CTABUTCS, €CJIU CTYJEHT IIyOOKO M IMPOYHO YCBOMJI BECHh MPOTPAMMHBINA MaTepHall,
HCYEpIBIBAIOIIE, TOCIEI0BATENbHO, FPAMOTHO U JJOTHYECKU CTPOMHO €ro U3JaraeT, TECHO YBS3bIBAET TEOPHIO C
MPAKTUKOM; MCIIOIB3YET JICKCUYECKUN MaTepHall, COOTBETCTBYIOIIUNA TPeOOBAHMIM y4e€OHOUM MPOrpaMMoiu 1o
JUCLMIUIMHE; clIocoO0eH 0e3 omMOOK OTBETUTh Ha JOTOJHUTEIbHBIE BOIPOCHL; IPU BhICKa3bIBAHUH HA 3a/1aH-
HYIO TEMY HCIIOJIb3YET CIOKHbIE I'PAaMMAaTUYECKHE KOHCTPYKIUH (CIIOKHbBIE MPEIOKEHUs, UHPUHUTUBHbBIE
00OpOTHI U T.I1.); HE IOMYCKAET rpaMMaTHYECKUEe OIINOKHU, UCKAXKAIOIINX CMbICI, 0OHApyKMBAaeT YMEHHUE CaMO-
CTOSITEIFHO 0000IIaTh ¥ U3JIaraTh MaTepuall, He AOMYCKas OIIHOOK.

OrneHka «XOpoIlo» CTaBUTCS, €CIIM CTYJAEHT TBEPAO 3HAET MPOTrpaMMHBIA MaTepuas, 'PaMOTHO U IO CY-
LIECTBY M3JaraeT €ro, He JONYCKaeT CYLIECTBEHHBIX HETOYHOCTEW B OTBETE HAa BOIPOC, MOXKET MPaBUIIBHO
MIPUMEHSTHh TEOPETUICCKUE TTOJI0KEHHUS U BJIaJIe€T HEOOXOAMMBIMU HABBIKAMH TPH BBITIOJTHEHUH MPAKTHIECKUX
3a/IaHAMN.

OneHka «yJI0BJIETBOPUTENBLHO» CTAaBUTCSA, €CIIM CTYAEHT YCBOWJ TOJBKO OCHOBHOI MaTrepuall, HO HE 3Ha-
€T OTAEIbHBIX JeTalied, JOIMyCKaeT HETOYHOCTH, HEJJOCTATOUHO NpaBUJIbHbIE (OPMYIMPOBKH, HapyLIaeT Io-
CJIEJOBATENIbHOCTh B U3JIOKEHUU MTPOrPaMMHOTO MaTepuaia U UCHbIThIBAET 3aTPYIHEHUS B BBINIOJHEHUH MIPaK-
THUYECKUX 3aIaHUH.

OneHka «HEeyA0BIETBOPUTEIBHO» CTABUTCS, €CIIM CTYACHT HE 3HACT 3HAUUTEIbHOW YacTH MPOTPaMMHOIO
MaTrepuaia, J0MyCKaeT CYIECTBEHHbIE OIIMOKHU, C OOJIBIINMU 3aTPYJTHEHUSMHU BBINOJIHIET MPAKTUYECKUE pa-
OOTHI.

OneHouHbIe CpeACTBA JUIsl MHBAJIUAOB U JIUL C OTPAaHUYEHHBIMU BO3MOXKHOCTSIMU 3/10POBbsI BBIOUPAIOTCS
C YYETOM UX UHJIUBUIYAIbHbBIX ICUXO(PU3NIECKHX 0COOEHHOCTEH.

— IpU HEOOXOAMMOCTH MHBAJIMJIAM U JIMIIAM C OTPaHUYEHHBIMU BO3MOKHOCTSIMH 3/J0POBbBS [IPEIOCTABIIS-
€TCsl IONOJHUTENIbHOE BpeMs I [TOJATOTOBKU OTBETA HA IK3aMEHE;

— IpY MPOBEJIEHUH IPOLEAYPhI OLIEHUBAHUS PE3YJIbTATOB 00YyUEHHS] HHBAIMJIOB U JIUL C OTPAHUYEHHBIMU
BO3MOXHOCTSIMU 3JI0pPOBBSl IIPElyCMAaTPUBAETCSl UCIOJb30BAHUE TEXHUYECKHX CPEICTB, HEOOXOJIMMBIX UM B
CBSI3M C UX UHJUBUIYAIbHBIMU OCOOEHHOCTSAMU;

— IpU HEOOXOAUMOCTH I 00Y4aroIUXCsl ¢ OTPAaHUYEHHBIMU BO3MOKHOCTSIMHU 3/I0POBBSI U MHBAJIHJIOB
MpoLEypa OLEHUBAHUS PE3YIbTATOB 00YUEHUS MO TUCHUIUIMHE MOKET IIPOBOIUTHCS B HECKOJIBKO ITAIOB.

[Ipouenypa oueHuBaHUs pe3yabTaTOB OOyUeHUS! WHBAJIUIOB U JIUI C OTPAHUYEHHBIMU BO3MOKHOCTSIMU
3I0pOBbsSI 10 JUCLMILIMHE (MOIYII0) MpeaycMaTpUBaeT IpeaocTaBiieHne nHdopManuu B Gpopmax, aaantupo-
BAHHBIX K OTPaHUYEHHUSAM UX 3710POBbsI U BOCHPUATUS UH(POPMaLIUU:

Jljig U1 ¢ HapyIIEHUSIMU 3PEHUS:

— B IIeYaTHOU GopMe yBeIUYEHHBIM LIPUPTOM,

— B (hopMe 3JIEKTPOHHOT'O JOKYMEHTA.

JList AL ¢ HapyHIEHUsIMHU CIIyXa:

— B IIe4aTHOM dopme,

— B (hopMe JIEKTPOHHOTO JOKYMEHTA.

Jljig U1 ¢ HapyLIEHUS MU ONIOPHO-JIBUTaTEIbHOTO anmnapara:

— B IIe4aTHOM dopme,

— B (hopMe 3JIEKTPOHHOT'O JOKYMEHTA.
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HaHHBII\/’I IEPCUYCHb MOXKET OBLITH KOHKPETU3UPOBAH B 3aBUCUMOCTH OT KOHTUHI'CHTA 06yqa}0umxc;{.

5. IEPEYEHb OCHOBHOM 1 IONIOTHUTEIbHOM YYEBHOM JIMTEPATY PhI,
HEOBXOJUMOIi JJIS1 OCBOEHUSI JMCUMILIMHBI (MOIY.JIS)

5.1 OcHoBHas auTeparypa:

1 JleBuyenko, B. B. AHIIIMNCKUH SA3BIK Ul U3YYAIOIIMX TOCYAAPCTBEHHOE U MYHULMIIAJIBHOE YIIpaBJie-
HUe : y4eOHUK U MPaKTUKYM JUIsl akajgemudeckoro OakanaBpuara / B. B. JleBuenko, O. B. Memepsikosa, E. E.
HosranéBa. — M. : WMzmarensctBo [Opaiir, 2017. — 424 c¢. — Pexum pgoctyma : www.biblio-
online.ru/book/CFCB014D-DA35-43BA-8706-119A4COFE118

2 Heszoposa, I'. JI. Aurnuiickuii s3bIk. ['pamMaruka : yueGHOe mocoOue i akaJeMHYecKoro Oaka-
naBpuara / I'. JI. Her3opoga, I'. . Hukutymkuna. — 2-e usn., ucnp. u gomn. — M. : U3natensctBo FOpaiiT,
2017. — 306 c¢. — Pexum pocryma : www.biblio-online.ru/book/00F5FC4A-34B4-455A-9D05-
5C6CAE0734C5

I[J'If[ OCBOCHU NVCHUILIMHBI MHBAJIXAAMHU U JIMDAMH C OTPAHUYCHHBIMHU BO3MOKHOCTAMM 3J0POBbA UMC-
FOTCSI M3JITAaHUS B DJIEKTPOHHOM BHUJIE B AJIEKTPOHHO-OMOMHoTeuHOM cucteme «tOpaitTy.

5.2 lomosiHUTe/IbHAS JIUTEpATypa:

1 EscrookoBa, T.B. AHMIMICKHMNA S3BIK: I8 DKOHOMHUYECKHUX CHEIUAIBHOCTEH : y4eOHUK /
T.B. EBctokoBa, C.U. JlokteBa. - 4-¢ m3a. ,crep. - M. : @munarta, 2017. - 357 c. - Pexum
noctyna: http://biblioclub.ru/index.php?page=book&i1d=93663

2 KpacaBuna, B.B. AHrnuiickuii Si3bIK : BpeMeHa U MOJAJIbHbIE TJIaroisl : y4e0. mocobue [DneKTpoH-
HBIN pecypc] : yueb. mocodbue — DnekrpoH. naH. — Mocksa : ®JIMHTA, 2017. — 140 c. — Pexxum jgocrymna:
https://e.lanbook.com/book/90656

3 Kypsesa, P. U. Aurnuiickuii si3pik. Buno-spemennsie ¢popmel riaroiia B 2 4. Yacts 1 : yuebHOE noco-
oue s akagemudeckoro Oakamaspuara / P. U. Kypsiea. — 5-e m3z., ucnp. u mgon. — M. : U3marenscTBO
Opaiit, 2017. — 361 c¢. — Pexum noctyma : www.biblio-online.ru/book/B06822E5-2563-4E32-A64B-
1C6148655CCE

4 Kypsesa, P. . Aurnuiickuii s3pik. Buno-spemennsie ¢popMel riarosia B 2 4. Yacts 2 : yueOHOE 1OCO-
oue s akagemudeckoro Oakamaspuata / P. U. Kypsiesa. — 3-e m3z., ucnp. u mon. — M. : U3marenscTBO
Opaiit, 2017. — 339 c. — Pexum nocrtyma : www.biblio-online.ru/book/5673E4B7-1A4C-4BE1-A6B5-
FO1FFB415DD3

5 JlaBpoBa, H.A. Anrno-pycckuii cioBapb. CoBpeMeHHbBIE TCHICHIIMH B CII0BOOOpa3oBannu. Konramu-
HaHTHI [ DJIEKTPOHHBIN pecypc] : cinoB. — DnekTpoH. AadH. — Mocksa : ®JIMHTA, 2016. — 208 c. — Pexum
noctyna: https://e.lanbook.com/book/84363

6 Jlanenkos, [I.C. TeopeTuueckuii Kypc aHTITUHCKOTO SI3bIKA: y4€0.-MeTO/1. mocooue [ IIeKTPOHHBIN pe-
cypc] : yueo-meron. nmocodue / JI.C. Jlanenkos, O.A. MBanoBa, M. A. EnuceeBa. — DnekTpoH. n1aH. — MockBa
: ®JIMHTA, 2017. — 151 c. — Pexxum moctyma: https://e.lanbook.com/book/97158

7 Hyxnosa, E. E. Aurnwmiickuii si3bik. Professional reading: law, economics, management : yueOHoe€ 110-
coobue s By30B / E. E. HyxnoBa. — 2-e uzn., ucnp. u non. — M. : U3garensctBo FOpaiit, 2017. — 149 ¢. —
Pexum noctyna : www.biblio-online.ru/book/58011023-AE25-4B27-9DA4-EC19B66B6E63

8 [Ilepmuna, E. FO. Aurnuiickuii sa3bik. [Ipaktuueckas rpaMmmaruka B 2 4. Yacts 2. ['naronsabie Gopmbl
M CHHTaKCHC : yueOHoe mocobue i akagemuyeckoro 6akamaspuata / E. 0. Ilepmuna. — 2-e usn., ucnp. u
non. — M. : U3ngatensctBo IOpaiit, 2017. — Pexxum moctyna : www.biblio-online.ru/book/194D638B-1FE4-
4417-A663-CF071B367A68

9 [Ilepmmna, E. FO. Anrnuiickuii s3bik. [Ipaktuueckas rpammatuka B 2 4. Yacte 1. Mopdomorus :
yueOHoe nocodue i akagemudeckoro 6akanaspuara / E. FO. [lepmnna. — 2-e u3z., ucnp. u gon. — M. : Usz-
natenbcTBO HOpaiit, 2017. — 200 c. — Pexxum goctyma : www.biblio-online.ru/book/83A6DB10-50AC-4F91-
9421-FE831373F812

10 Cumnonc, O.B. HoBblii aHrI0-pyCCKHl CIIOBapb-CIIPABOYHUK. DKOHOMHUKA [DIIEKTPOHHBIN pecypc] :
CJIOB.-CTIpaB. — OJneKTpoH. naH. — MockBa : @DJIMHTA, 2016. — 712 c¢. — Pexum npocrymna:
https://e.lanbook.com/book/84608
Sxymesa, U. B. Jlenosoit anrnuiickuit s3eik. Introduction into professional english : yueOHuK 1 mpakTuKym
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TSt akagemudeckoro OakanaBpuara / M. B. fkymesa, O. A. JlemuenkoBa. — 3-e u3., ucnp. u gom. — M. :
WznarensctBo KOpaiit, 2017. — 221 c. — Pexxum nocryna : www.biblio-online.ru/book/7889CA96-A ACF-
4398-98BA-921FDF10BE90

5.3 Ilepuoanueckue U3IaHUSA:
Anrnuiickuii s3sik. [lepBoe ceHTAOps
Yenosek. CooO1iecTBo. YnpaBieHue

6. IEPEYEHb PECYPCOB HH®OPMAIIMOHHO-TEJEKOMMYHUKAIIMOHHOM CETH
«MHTEPHET», HEOBXOAUMBbIX J1JIA OCBOEHUSA JUCHUIIJIMHBI MO4YJIS)

Kaxxnpiit oOygaroniuiicss B TeueHHUe BCEro nepuoaa oOydeHus oOecrnieueH WHIUBUIYalbHbIM HEOTpaHU-
YEHHBIM JIOCTYIIOM K 3JIEKTPOHHON HMH(OPMaIMOHHO-00pa30BaTEeNIbHOM cpelle OpraHu3aluu U K npodeccuo-
HaJIbHBIM 0a3aM JIaHHBIX, 3JEKTPOHHBIM 00pa3oBaTelIbHbIM pecypcam, MHTepHeT-caiiTaM crienuaiu3upoBaH-
HBIX BEJJOMCTB.

HaumenoBanue caiita Anpec caiita
DnekTpoHHas 6ubnuoreka grebennikon.ru www.grebennikon.ru
basel nannbix komnanuu «Mcr Boio Mndopmeiinn Cepucus, MHK» http://dlib.eastview.com
«JlexkTopuym» (MunoOpuayku Poccun, JlenapramMeHT cTpaTpa3BUTHSI) http://www.lektorium.tv/
HanmonansHas snexkTporHas 6nbauoTexa http://u36.pd/
DNeKTpOHHBIN apxuB TokyMmeHTOB KyOI'Y http://docspace.kubsu.ru

7. METOJAUYECKHUE YKA3ZAHMS JUISI OBYYAIOLUXCSI IO OCBOEHUIO
JUCLUIIIMHBI (MOJIYJIS)

[Ipu n3ydeHNM TUCIUIUTHHBI UCTIOIB3YIOTCS CeAYOmue GOopMbI pabOTHI.

1. JIaGopaTopHbIe 3aHSATHS, HAa KOTOPHIX BBIMOJHSIOTCS JIEKCHUECKUE W TPAMMATHYECKHE YIPaXKHEHHUS,
Kelic-3ajaHusl, MPOBOIUTCS TecTupoBaHue. [Ipu noAroToBke K 1abopaTOPHOMY 3aHITHIO CIIEYET:

- MCIIOJIb30BaTh PEKOMEHIOBAHHBIC TIPETOIABATEIIIMI YICOHUKH M YIeOHbBIE TIOCOOUS - IS 3aKpETUICHUS
TEOPETUYECKOT0 MaTepuala;

- TIOJITOTOBUTH JTOKJIAJBI U COOOIIEHNS, pa300paTh MPoOJIEMHBIE CUTYaIUH;

- pa3o0paTh COBMECTHO C IPYIHMMH CTYJCHTaMHU B OOCYAUTH BOTIPOCHI 10 TEME JIA00OPATOPHOTO 3aHITUS U
T.1.

2. CamocrosiTenbHast paboTa, KOTOpast SIBJISIETCS] OJHUM 3 TIIAaBHBIX METOJOB U3YUCHHUS AUCIUTUIAHBL.

ens camocToATeNnsHON PabOTHI — pacIIUPEHUE KPYro3opa W YriiyOJIeHHE 3HAaHHW B 00JacTH TECOPUU U
MPAKTUKHA BOTIPOCOB U3y4aeMOl TUCIIUILTHHEIL.

KoHTposb 32 BEIIIOJIHEHUEM CaMOCTOSITEIbHON paOOThI TPOBOAUTCS TIPU U3YYCHUU KAXKIOW TEMBI TUCIIH-
TUTMHBI Ha JIA0OPATOPHBIX 3aHATHIX. JTO JIGKCHYECKHE W TPaMMAaTHUECKUE YIPAKHEHHS, TECTOBbIC 3a/IaHUs,
MOJTrOTOBKA pedepaTos.

CamocTtosTrenbHas paboTa CTY[EHTa B NPOLIECCE OCBOCHUS TUCIUILIMHBI BKIIIOYAET B ceOs:

— U3Y4E€HHE OCHOBHOW M JIOTIOJHUTEIBHOM JIMTEPATYpPHI 110 KYpCy;

— paboTy ¢ IIMEKTPOHHBIMH OUOIMOTEUHBIMU CUCTEMAMU;

— M3yYeHUE MAaTEePHUAIOB NEPUOINIECCKON eyaTu, IHTEpHET - pecypcoB;

— BBITIOJTHEHHUE YIPAXKHEHUN;

— WHIUBUIYaJIbHBIE U TPYIIIOBbIC KOHCYIbTAIINM;

— MOATOTOBKY K 3a4eTy, SK3aMeHY.

3. 3ader no aUCHUILIMHE. 3a4eT craeTcs B ycTHOU (opme. Ilpencrasnser coboit cTpyKTypupOBaHHOE 3a-
JaHKE MO0 BCEM paszesiaM JUCUUIUIMHBL. [[J1sl MOAr0TOBKM K 3a4eTy clie[lyeT BOCIOJIb30BaThCS PEKOMEHI0BaH-
HBIM IIPETo/IaBaTelieM Y4eOHHKaMH, METOAMYECKHMMH YKa3aHHSIMH K JaOOpaTOPHBIM 3aHATHSM H CaMOCTOS-
TEJIbHOW KOHTPOJIMPYEMOM paboTe CTyJEeHTa MO JAUCLUUIUIMHE, TJI0CCApueM, CBOUMHU KOHCHEKTaMu Jlaboparop-
HBIX 3aHITHH, BHITIOJHEHHBIMUA CaMOCTOSATEIIEHBIMU paOOTaMH.

DK3aMeH 10 TUCHHIUIMHE. DK3aMeH, MPOBOISIIUICS B YCTHOU (hopMe, BKITFOUAET CIIETYIONINe KOMITOHEH-
THI:

1. YUrenue u nepeBoi 5KOHOMUYECKOTO TEKCTA.
57



2. Ilepecka3 5JKOHOMHYECKOTO TEKCTa HA 3aJaHHYIO JIEKCUYECKYIO TEMY.

3. YCTHBIM OTBET Ha 3aJJaHHYIO TPAMMaTHYECKYIO TEMY.
DK3aMeH NpeJCTaBIIsIeT co00i CTPYKTYpUpPOBAaHHOE 3aJaHHE 110 BCEM pa3jeaM JAUCHUIUIMHBL. [{1s moAroToBKM
K 9K3aMEHY CJIEIyeT BOCII0JIb30BAThCA PEKOMEHI0BAaHHBIM IpernojjaBaTesieM y4eOHUKaMU, METOAUYECKUMU
YKa3aHUSAMH K JJaOOPaTOPHBIM 3aHATUSAM U CAMOCTOSITENIbHOM KOHTPOJIUPYEMON paboTe CTyeHTa 10 AUCLHU-
IUTMHE, TJI0CCapyueM, CBOMMU KOHCIIEKTaMU JIaOOpaTOPHBIX 3aHATHH, BHIIIOJIHEHHBIMU CAMOCTOSITEJIbHBIMU pa-
0oTamH.

B ocBoeHMU AUCIUTIIIMHBI HHBATUAAMH U JUIIAMH C OTPAaHUYEHHBIMH BO3MOXKHOCTSIMU 370POBBS 00JIb-
I0€ 3HAYCHHE WMEET MHAMBHUIyalbHas ydeOHas paboTa (KOHCYJIbTAllMU) — JOMOJHUTEIHHOE DPa3bsCHEHHE
yueOHOTO MaTepuana.

NunuBuayanbHbIe KOHCYJIBTAIMH 110 TIPEIMETY SBIISIOTCS BaXXHBIM (PaKTOPOM, CIIOCOOCTBYIOIITUM HHIM-
BUJlyaJu3aluuu oOy4eHHUs] U YCTaHOBJICHHIO BOCIMTATEIHOIO KOHTAKTa MEXAY IpernojiaBaTeneM U olydaro-
IIUMCS UHBAJIMJIOM WJIH JIUIIOM C OTPAaHUYECHHBIMH BO3MOKHOCTSIMH 37J0POBBS.

8. IEPEYEHb NH®OPMALIMOHHBIX TEXHOJIOTI' UM, HCTTIOJIb3YEMBIX ITPH
OCYHUECTBJIEHUH OBPA30OBATEJIBHOI'O ITPOLECCA 110 JUCHUIIJIMHE (MOAYJIIO)

8.1 Ilepeyenb HH(POPMALMOHHBIX TEXHOJIOIHH
[IpoBepka nOMAamIHUX 3aJaHUA M WHIMBHUAYAJIBHOE KOHCYJIBTHPOBAHHUE MOCPEACTBOM JJIEKTPOHHOW IIO-
YTBI.

8.2 IlepeyeHb HE0OXOAMMOI0 NPOrPaAMMHOI0 OOecTieYeHu sl

[Tpu n3ydeHnH QUCIUTUTMHBI MOKET OBITh UCTIOIB30BaHO CIIEAYIOIIEe TPOrpaMMHOE 0OecIieueHue:

— KOMIUIEKC B3aUMOCBSI3aHHBIX MPOTpaMM, MpeIHa3HAYCHHBIX IS yrpaBieHus: pecypcamu 1K u opra-
HU3AIMU B3aMOJICUCTBUS C TIoJIb3oBaTesneM (omnepamnuonnas cuctema Windows XP PRO);

— TaKeT MPWIOKEHUH JUIS BHITIOIHEHHUS OCHOBHBIX 33]]a4 KOMITBIOTEPHOH 00pa0OTKM pa3iIMyHBIX THIIOB
nokymeHToB (Microsoft Office 2010) B cocTaB KOTOPOTO BXOIAT:

MS Word — TeKcTOBBII1 nporieccop — JUIsl CO3/IaHus U peJaKTUPOBAaHUS TEKCTOBBIX IOKYMEHTOB;

MS Excel — Tabimunblii mporieccop — it 00paOOTKU TaOIMYHBINA JAHHBIX U BBITIOJIHEHHS! CJIOKHBIX BbI-
YHUCICHUH;

MS Access — cucrema ynpapieHus 0a3aMH JaHHBIX — JUIsl OpraHu3auuu paboTsl ¢ 0OJIBIIMMHU 00beMaMu
JaHHBIX;

MS Power Point — cuctema mOJArOTOBKU 3J1EKTPOHHBIX MPE3EHTALMM — Ui MOATOTOBKU U IPOBEICHUS
MIPE3ECHTALNM;

MS Outlook — meHexep nepcoHanbHOM MHPOpMALMK — Il o0ecrieueHnss YHU(UIUPOBAHHOTO JOCTYIa
K KOPIIOpaTUBHON HH(POpPMAIIH;

MS FrontPage — cucrema penaktupoBanust Web-y3moB — 115t co3qanusi 1 ooHoBienus Web-y3i108;

MS Publisher — HacTonbHas u3gaTenbckas cucreMa — Ui CO3/1aHUsl MPOPECCUOHANTBHO O(OPMIICHHBIX
nyOIMKaIuii:

— mporpamma s KomiuiekcHoi 3ammTel [1K, oO0benunstomas B cebe aHTUBUPYC, aHTHIITTHOH U (yHK-
nuo ynanensoro aamuHucTparopa (Kaspersky endpoint Security 10);

— MakKeT MporpaMM Jjsl CO3JaHUS U MPOCMOTpPa 3IEKTPOHHbIX myOnukauuid B ¢opmare PDF (Adobe
Reader);

— TPUKIAJHOE MPOrpaMMHOE OOecTiedeHne Il TPOCMOTpPa BEO-CTpaHUII, COJIEpKaHHsI BEO-TI0KYMEHTOB,
KOMIBIOTEPHBIX (hailJIOB M MX KAaTAJIOTOB, YIIPABICHUS BEO-TPHIIOKEHISIMA, a TAKXKE JUIS PEIICHUS IPYTrUX 3a-
na4d (Google Chrome);

— TpOTpaMMBbl, TpeIHA3HAYCHHBIC U apXUBAIMH, YIIaKOBKHA (PAalJIOB IyTeM C)KATHUS XPaHHUMOH B HHUX
nHpopmaruu (7zip).

8.3 Ilepeuenb MHGOPMAIMOHHBIX CIIPABOYHBIX CHCTEM

OObyuaromumMcs o0ecredeH I0CTYI K COBPEMEHHBIM MPO(ecCHOHANbHBIM 0a3aM JIaHHBIX, CIIPABOYHBIM U
MTOMCKOBBIM CHCTEMaM.

OnexrponHas 6ubnnoreynas cucrema eLIBRARY.RU (http://www.elibrary.ru)/
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9. MATEPUAJILHO-TEXHUYECKASI BA3A, HEOBXOJUMAS JJISI OCYIECTBJIEHUS
OBPA30OBATEJLHOI'O MPOLIECCA MO JUCHUTIIMHE (MOJYJIIO)

MatepualibHO-TEXHUUECKOE 00ecriedeHre AUCUUILINHBI (MOYJIIsA) U

No Bug pa6or
OCHAIIICHHOCTb
1 ['pynmioBsle 1 MHAMBHUY- VYueOHast ayquTopusi ¢ HMOJKIOYEHHBIM 000pylOBaHUEM (MYJIbTHME-
aJIbHbIE KOHCYJbTALUU OUMHBIA MPOEKTOP, 3KpaH, KOMIBIOTEpHI, ydeOHas Mmelenb, J0cKa

yueOHas, Beixos B MHTEepHeT, nokanbHas cetb, MOY (MHOrOyHKIH-
OHAJIbHOE YCTPOMCTBO)), yueOHO-HarsgHble MocooOus, oOecreynBaro-
1[1€ TEMATUYECKUE WIUTIOCTPalun

Jlaboparopusi, ocHaieHHas 00opy1oBaHUEM (MYJIbTUMEIUIHBIA TPO-
€KTOp, 9KpaH, KOMIIBIOTEPHI, yaeOHast MeOelb, T0CKa yaeOHasl, BRIXO B
3 | JlaGopaTopHble 3aHITHS WuTepHer, nokanbHas cetb, MOV (MHOropyHKIMOHAIBHOE YCTPOMi-
CTBO)), Y4€OHO-HATrJISAHBIC TIOCOOMS, 0OECTICUNBAIOIINE TEMATHIECKIE
WJUTIOCTPAIII

Kabuner ocHaiieH KOMIbIOTEPHOU TEXHUKOM C BOZMOYKHOCTBIO MO/I-
KIIFOUeHHs K ceTH « HTepHeT», mporpaMMoil S5KpaHHOTO YBEIUYEHUS U
00ecreYeHHbIN T0CTYIIOM B 3JIEKTPOHHYIO HH()OPMAIIHOHHO-
00pa30BaTeNIbHYIO Cpely YHUBEPCUTETA

Tekymuii KOHTPOJIb U MPO-
MEKYTOYHAs arTecTanus

4 | CamocrosTenbHas paboTa
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